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33121180/506 wnjwl Susdw swhdwl uwpp (nnundtiup) QL hwn 4200 80 336.0
33141110/509 Jhpwilpwwytip q< hwiwn 48.7 30000 1461.0
33141110/510 Uhpwlwwbin < hwwn 97 1000 97.0
33141111/501 Luysnit uwbnwuhubp QL hwn 103 6000 618.0
33141115/501 pdoluljwl pudpuly < hwn 172 5000 860.0
33141129/506 nhuwl 9L hwtn 5.976 50000 298.8
33141129/507 nhdwl qc hwn 85 1000 85.0
33141131/503 Uppniu Ybipgubint dwwwyby wdpwlubpny (dgnun) L hwwn 270 100 27.0
33141136/523 Lwphbinbpubp L hwn 39.2 1000 39.2
33141136/524 Lwphnbpubp q< hwiwn 38.8 6000 232.8
33141136/525 Ywpbwnbpubp 9< hwin 37.8 15000 567.0
33141136/526 Ywphbwnbpubp Q<L hwtn 40.9 15000 613.5
33141136/530 Ywpbwnbpubp QL huwtn 8000 70 560.0
33141138/501 Yuilynyw 9L hwn 105 1000 105.0
33141138/502 Yuunyw G hwn 293 200 58.6
33141142/509 ubpwplhsubp 9L huwtn 12.5 30000 375.0
33141142/511 ubpuiplhstbp qc hwin 8.75 20000 175.0
33141142/512 ubipwplhsubp Gl huwn 9.3 100000 930.0
33141142/513 ubpwiplhsubp QL huwitn 14 60000 840.0
33141142/514 Ubpwnlhstbin q< hwwn 15.5 100000 1550,0
33141142/515 ubpuiplhstbip q< huin 20.75 60000 1245.0
33141142/516 ubpwplhsubp 4< hwn 22.7 30000 681.0
33141142/517 ubpuwplihstbp qc huwn 58.9 30000 1767.0
33141142/518 ubipwplhsubp G< hwin 68.9 500 345
33141144/510 pdolwljwl wubnubp Q< huwin 13.85 30000 415.5
33141144/511 pdoljuiljwl wubnubp QL hwin 20 300 6.0
33141144/512 pdoljwlywl wubnubp <L hwwn 6.5 10000 65.0
33141144/513 pdolulwl wubinubip L hwwn 4.7 40000 188.0
33141156/502 pdowlwt dknungubip q< huwun 8.7498 400000 3499.9
33141158/502 Uppwpnidwlwl dhnungubp 9< qnyg 75 20000 1500.0
33141160/502 untingky 250,0 < hwin 189.84 500 94.9
33141178/508 nbintiph Ubpwpldut hudwlwpgbp q< huitn 38.9 50000 1945.0
33141178/509 ntinbiph ubpwplydwu hwdwlwpgbn < hwiun 130 40000 5200.0
33141211/687 pdolwlwl wy gnpdhpubp — wwpwgubp QL hwin 95 15000 1425.0
33141410/501 nwpw whwihgh hwdwp uinbphy, 1004 G< hwn 39.984 500 20.0
33141410/502 wnwpw wiwihgh hwdwp uinbiphy, 1004} qL huwin 42 8000 336.0
33161220/504 gwwinb) thuyink aL hwwn 3.2 4000 12.8
33191260/501 wipjwu thnjutbpwpldw sunwwnhyubp < hwwn 13900 30 417.0
33191310/527 thnpdwunpubp 9L hwitn 16.8 120000 2016.0
33191310/528 thnpdwunpubp q< hwwn 16.8 50000 840.0
33191310/529 thnpdwunpubp 9L hwiun 25 10000 250.0
33191310/530 thnp&wunpubp 9L hwiwn 39 25000 975.0
33191310/531 thnpdwunpubp < hwin 38 2000 76.0
33191650/504 pdolwlwl hwgnwuwn < hwn 135 15000 2025.0
33191650/505 pdoyuljwl hwgniuwn < hwwn 6 7000 42.0
33691423/501 [Wpnpwinnp wanuwtynipbp (hbwgbunubn) puquwyndwrubln Q< Inwlwqu 2600 100 260.0
38411200/509 obipdwiswithtp SL hwtn 600 50 30.0
38431720/513 Yuwienghlubinh dujpuwlwiutp a< hwwn 1.59 80000 127.2
38431720/514 Luienghlubinh duwpwljwutn < hwitn 0.63 350000 220.5
24311530/503 opwdtih whpopuhn 9L pinp 599 300 179.7
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31651200/506

EYS dwwwybl pninp 9L hwitn 639 600 383.4
33141110/51 Jhpwlwwbip qL huwin 850 3000 2550.0
33141111/502 Lusnil uwbnwpubp q< huwin 140 15000 2100.0
33141111/503 Ljuysnit uwbnuwuhubn L hwn 83 1000 83.0
33141118/506 whisbnnghyubp QL hwn 9.3 60000 558.0
33141118/507 wuatinnghlubip L hwin 4.1 70000 287.0
33141143/501 ubwphdhlwinnnp Q<L hwtn 3.33 30000 99.9
33141144/514 pdolwilwt wubtmtbip < hwn 1130 1000 1130.0
33141144/515 pdolulwl wubnubp QL hwwn 6800 300 2040.0
33141144/516 pdolwlywl wubnubp 9< hwwn 10000 200 2000.0
33141144/517 pdolwlwl wubnubp < hwin 7500 25 187.5
33141144/518 pdoywlwt wubinubip 9< hwin 4750 800 3800.0
33141144/520 paolwlwl wubnubp L hwwn 1500 1000 1500.0
33141144/525 pdolwlwl wubinubp L hww 1500 300 450.0
33141144/526 pdoljwlwl wubinubip < hwin 1500 300 450.0
33141144/527 pdalwljwl wubintibp q< hwiwn 250 1000 250.0
33141144/528 pdoljuw wubnubp QL hwn 400 50 20.0
33141211/710 pdolwlwl wy gnpdhpubp — wwpwgwbp GL huwin 1960 15000 29400.0
33141211/711 pdowljwl wy gnpdhpubip — wwpwgubp 9L hwin 1345 1000 1345.0
33141211/712 pdoljuwlw wy gnpdhpubp — wwpwaqwubp L hwwn 6280 96 602.9
33141211/713 pdolwlwt wy) gnpdhplbip — wwpwquhibin QL hwwn 1680 200 336.0
3341211714 pdolwlwl wy gnpdhpubp — wwpwqubp q< hwwn 200000 72 14400.0
33141211/715 pdolwlwl w) gnpdhpubp — wWwpwquubp a< hwwn 100000 300 30000.0
33141211/716 pcolwlbiwt w) gnpdhpubip — Wwpwgqubn Q<L huwn 6800 500 3400.0
33141211/717 pdolwilwi wy gnpdhpubip — wwpwgquubp QL hwwn 8800 500 4400.0
33141211/719 pchlwiliwit w)) gnpdhpubip — wwpwgubp Q< hwn 425 3000 1275.0
33141211721 pdouluwls wy gnpdhptibip — wwpwqwlbp qc huwtn 179.41 5000 897.1
33141211/722 pdolwilyut wy| gnpdhpubip — wwpwgwbp < huin 67 15000 1005.0
33141211/729 ndaolwlwl wy gnpdhptibp — wwpuwgubp QL hwwn 3300 100 330.0
33141211/730 pdolwiljwi wy gnpdhplbip — Wwpwiquubnp < hwn 102000 1 102.0
33141211731 pdoluljwits wy) gnpdhpubin — Wwpwgubp QL hwtn 160000 3 480.0
33141211/732 pdoljwiljw wy gnpdhpubin — wwpwiquwbp Q< hwn 99.48 4000 397.9
33141211/733 pdolwlw wy) gnpdhpubip — wWwpwguwbp <L hwun 696 100 69.6
33141211/734 pdolwiljt wyp gnpdhplbip — Wwpwgwubp 9L huwn 104 1000 104.0
33191310/532 thnpawngubp q< hwtn 11.5 40000 460.0
33191310/533 thnpawunputn 9L hwn 14 18000 252.0

Ubnhwuppht MediScreen 10/Utigh dbip qyniyngh, wpjwu,

uwjhnwynigh, pH, Yownuubph, wiuwlwnwn Yanh,
33211110/502 tnnhinbiaph, (Enghititnh, nisoinphhabbh — phhnntphbh 9 hwin 2472 40 98.9

npnguwt phup unphwubnh hwywpuwént
33631241/504 pinphtipuhnhtb |ndnyp < {pwp 1350 800 1080.0
33631241/505 pinphbpubnhup |ndnyp qL {pnp 1150 400 460.0
33631250/504 Lpwln| d08ax08, v03abl6, v03az01 < (htp 1100 700 770.0
33631250/505 Fpwling d08ax08, v03ab16, v03az01 QL [hunp 970 1000 970.0
33691167/501 |wpnpwnnp odwunwy — ghnwlwl bnehp < huwn 15000 120 1800.0
33691167/502 Jwpnpwinnp odwunwl — ghinwlw Unygabp QL hwn 12000 180 2160.0
33791300/522 |WRhpWWDND Wjuljw wpnwnputp qL huwin 14200 500 7100.0
38431491/501 wwwlb whnphh pwu G< hwin 33.7 10000 337.0
39821100/501 dwppnn Wnypbp widnuhwyh hhdph Jpw Q<L huitn 100 30 3.0
44423600/503 Luysnit dwwywybuubp 9L huwin 3.28 20000 65.6
18311190/503 fuwiwp Q<L huwtn 447 100 44.7
33141114/501 pdolywlwt putigh (dwpyw) Jwjingegniup' 90ud QL dbwnp 68 2000 136.0
33141121/503 Yhpwpndwlwl pbibp QL hwn 315 30 9.5
33141121/504 Yhpwpmdwlwl phjbp 9L hwin 315 30 9.5
33141121/505 Yhpwpnidwlywl phjbp G< huwwn 315 100 31.5
33141121/506 Uhpwpnidwljwl pbibp QL hwin 315 100 31.5
33141121/507 Yhpwpnidwlwl phibp QL hwn 140 30 4,2
33141121/508 yhpuwpniduljwl phibp 9 hwtn 140 30 4.2
33141121/509 Yhpwpnidwlwl phibp 9L hwin 140 300 42.0
33141121/510 Yhpwpnidwljwl phbp a< hwn 140 300 42.0
33141121/51 Yhpwpnidwlw phybp 9L huwin 140 50 7.0
33141121/512 Yhpwpnidwlw phibp < hwwn 20 0.0
33141121/513 Uppwipnidwlywl phibp q< hww 20 0.0
33141121/514 Uhpwpnidwlwl phbp 9L hwwn 30 0.0
33141136/534 Ywpbinbpubp L hwitn 50 0.0
33141157/502 Uginwipbip — uwypbip L hwwn 23 200 4.6
33141157/503 Usinwiplibip — uwipbp q< hwwn 23 200 4.6
33141173/501 Ukgh wnwpwlubp QL hwiwn 102 700 71.4
33141173/502 ubgh tnupwlubp q< huin 32 500 16.0
33141182/503 yppwthnnbip (npbuwdubn) G hwin 20 0.0
33141182/504 yhpwihnntip (ppbuwdubn) G< huwwn 15 0.0
33141182/505 Uppuithnntp (npbuwdubn) q< hwn 15 0.0
33141182/506 Uppwithnntip (npbuwdutin) q< hwtn 18000 20 360.0
33141184/501 Uhpwihnnbiph (ppbuwdubph) wwpwgwubp 9L hwn 4000 50 200.0
33141202/504 Pdolulwl Hblwpnnubp < huwun 2 0.0
33141211/735 peolwiljw w)) gnpdhputin — wWwpwgquubp 9L hwn 550 30 16.5
33141211/736 pdolulywl wy gnpdhplibin — wwipwgquitbp q< hwwn 550 30 16.5
33141211/737 poolwiljwi wy) gnpdhpubtin — Wwpwguubn QL hwin 5000 10 50.0
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33141211/738 pdolwlwl wy gnpdhpubp — wwpwquubp QL huwn 10500 5 52.5
33141211/739 pdoljwlwts w)) gnpdhpubip — wwpwqwhibp SL huwin 11000 2 22.0
33141211/740 pdolwlwt wy) gnpdhplibip — wwpwgqwtbip 9L huwitn 45000 1 45.0
33141211/741 pdolwlwl wy) gnpdhpubp — wwpwquiubp QL hwun 1790 20 35.8
33141211/742 pdolwlwl wy gnpdhpubp — wwpwquwbp L hwwn 1795 30 53.9
33141211/743 pdolwlwl w) gnpdhpubp — wwpwqubn QL huwin 5 0.0
33141211/744 pdolywlwt wy gnpdhpubip — wwpwaquwbnp 9L hww 1300 5 6.5
33141211/745 ndsywlwls wy gnpdhpubip — wwpwgwbp gL hwiwn 800 150 120.0
33141211/746 pdolwlw wy ghpdhputip — wwpwgwbn QL huwn 64920 24 1558.1
33141211/747 pdolwlywl wy gnpdhpubp - wwpwgwibp 9L huwin 54960 24 1319.0
33141211/785 pdolwljwl wy gnpdhplbip — wwpwgwbp Q< hwtn 49920 24 1198.1
33141211/786 pdolwlwl wy gnpdhpubp — wwpwgwlbp q<L hwiwn 45000 24 1080.0
33141211/787 pdolwlwl wy gnpdhpubp — wwpwqwubp QL hwwn 3 0.0
33141211/788 pdolwljwl wy gnpdhpubp — wwpwgwubp QL hwn 200 0.0
33141211/789 pdolwlwl wy gnpdhpubp — wwpwgwlbp Q<L hwin 100 0.0
33141211/790 pdoluiljws i) gnpdhplbip — wwipwquiibp q< hwwn 6960 100 696.0
33141212/512 pdolwlwl wy Uniysbp < hwn 30 0.0
33141221/501 Uhpwihnnbip (nptwdutinh) puqiwyndynubun wwpwguwtip 4< gy 1992.43 40 79.7
33141223/545 pdolwlwt wy) gnpdhpubn — wwpwqwubn pugdwlndwntbun \nuwljwgd 3500 100 350.0
33171400/521 Ubpwlbunwuwgdwu nhdwly QL hwwn 1 0.0
33171400/522 Ubpwlbunuwuwgdwu nhdwly QL hwwn 1 0.0
33171400/523 Jepwlhbunuwbwgdw nhdwly L hwiwn 1 0.0
33171500/503 bwhnnipw) wugqguywgdwy hwjwpwdniubip Yud thwpbpubn q< hwn 2706 10 271
33791300/523 |WRhPWNNR Wjwyjw wpnwnputp YL hwn 6 15000 90.0
33791300/524 |WphpWNND Wiywljw wpnwnpuitip L hwn 1.26 100000 126.0
39299110/501 wwjwlyb updulubip 9 huwtn 142 5000 710.0
33141136/536 Ywpbwnbpubp < hwtn 167 20 3.3
33141136/537 Ywpbwnbpubp q< hwwn 167 20 33
33141136/538 Ywpbwnbpubp QL hwin 167 20 3.3
33141136/539 Ywpbwnbpubp QL hwwn 167 150 25.1
33141136/540 wphwnbpubp < huwiwn 167 200 33.4
33141136/541 Lwphnbpubp QL hwn 167 180 30.1
33141136/542 Ywpbwnbpubp 4L hwwn 167 20 3.34
33141136/561 Ywpbwbpubp 9 huwin 202 20 4.0
33141183/518 qnunbip q< hwwn 65 20 1.3
33141183/519 qnuntip q< hwin 65 30 1.05
33141183/520 gnunbp G< hwn 65 30 1.95
33141183/522 qnlinbp q< hwin 65 30 1.95
33141183/524 qnnbp q< hwiwn 65 30 1.95
33141183/525 qnunbip q< hwwn 65 40 2.6
33141183/526 gnuntin L hwn 65 a 0.3
33141202/505 Pdohwlw Ehnpnnubipn 9L hwuwn 29.5 6000 177.0
33141207/522 huwnnipwighwih wwpwguubp QL hwin 10 0.0
33141207/523 bunnipwghuwih wwpwgwubp 9L hwwn 10 0.0
33141207/524 buwnnpwghwh wwpuwgquwubp 9< hwin 20 0.0
33141207/525 htnnipwghuwih wwpwgwbp QL huwin 1000 10 10.0
33141207/526 buunnpwghwih wwpuwgwlbp G hwin 1000 20 20.0
33141207/527 Punnipwghwih wwpwqwlbp GL huwin 1000 20 20.0
33141207/528 huwnnipwghuyh wwpwgwubp QL huwin 1000 20 20.0
33141207/529 hunnipwghwih wwpwgwbp QL hun 1000 20 20.0
33141207/530 hunnipwghwh wwpwgqulbin QL hwn 1000 50 50.0
33141207/531 hunnipwghwih wwpwgwbp 9L huwin 1000 100 100.0
33141207/532 huwnnipwghwih wwpwgwutp L hwn 1000 10 10.0
33141211/791 pdolwljw wy gnpdhpubp — wwpwgubp QL hwin 15000 30 450.0
33141211/792 pdolwlwt wy) gnpdhpubip — wwpwgwbip QL hwwn 18000 50 900.0
33141211/793 pdolwljwt w) gnpdhplibip — wwpwquubp QL hwun 549 500 274.5
33141211/794 pdolwyw wy gnpdhpubip — wwpwgwubp < hwn 549 1000 549.0
33141211/795 pdslwlwl wy gnpdhpubp — wwpwqulbp G hwn 549 500 274.5
33151220/501 prywabwht nhiwl q< huwin 260 500 130.0
33151220/504 pRYwuwht nhuuwl G< huin 350 100 35.0
33151220/505 pRYwsuwht nhiwy q< huwin 480 100 48.0
33171400/527 Ubpuiljhunwtiuguul nhiwl a< hwwn 7000 2 14.0
33171400/528 Ybpwybunuwiwgdwt nhdwl q< hwin 7000 2 14.0
33171400/529 Yhpwibtinwliwgdw nhdwl 9L hwwn 7000 20 140.0
37411330/502 nhuwlubp, jwunbp Yud guswnwlw unpnjwlubp Q< hwiwn 800 10 8.0
37411330/503 nhuwlubp, jwuwnbp Gud suswnwlwy ungngulubp L hwn 800 10 8.0
37411330/504 nhdwlubp, jwuwnbp Yud guswnwlwy unpnywlubp L hwwn 800 10 8.0
15991700/501 $hpwnph e L Uhingpuid 6000 2 12.0
24311530/504 opwdtih whpopuhn 9L {hunp 600 10 6.0
24311570/502 RERpwd onip Q< [hwp 799.9 500 400.0

31651200/502

33141136/501

h

1490

15

22.4

o
33141136/511 Ywpbwnbpubp QL hwn 70 100 7.0
33141136/512 Ywpbwnbpubp G hwn 158 250 39.5
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138431710/502

Hw;anghlﬂ-lhn

33141136/514 Lwphinbpubip 799.9
33141136/515 webintinub; 1180.0
33141144/501 ndolyuwlwl wubintbp 9L 23.8
33141144/502 dolwlwl wubinuby QL huwun 5200 100 520.0
33141202/502 Pdolywljut kiblwnpnnubp 9L hwn 33 2000 66.0
33141211/502 pdalwlwt wy gnpdhplbip — wwpwquibp GL hwwn 540 400 216.0
33141211/503 pdolwljwt wy gnpdhpubp — wwpwgqulbp G hww 12000 10 120.0
33141211/504 pdalwljwt wy gnpdhpbp — wwpwguitibp G hwin 390 500 195.0
33141211/505 pdoljwlywl wy) gnpdhpubip — wwpwgwubp QL huww 127 5000 635.0
33141211/506 pdolwljwl wy) gnpdhpubin — wwpwgwubp 9L husn 48 5000 240.0
33141211/507 pdolwlywl wy) gnpdhpubip — wwpwgwbp < hwn 45 1000 45.0
33141211/508 pdolwlwl wy gnpdhplbip — wwpwgwlbp 9L hwn 45 3000 135.0
33141211/509 pdoljwlwl wy| gnpdhpubip — wwpwgqulbp Q<L hwwn 858 200 171.6
33141211/510 pdolwljuls wyj gnpdhpubip — wwpwgwbp L hwwn 858 200 171.6
33141211/511 pdoluwljwil wy gnpdhpubip — wwpwqubp 9L hwwn 858 200 171.6
33141211/512 pdolwlwt wy gnpdhplbip — wwpwqwbp QL hwwn 60000 2 120.0
33141211/515 pdolwljwy wy gnpéhpubp — wwpwquwibp G< hwwn 24.51428571 7000 171.6
33141211/516 pdolwlywl wy gnpdhplibp = wwpwgwbp 4L hwn 12.98 7000 90.9
33141211/517 pdolwlwt wy| gnpdhplibin — wwpwgubp G< hwin 150 1000 150.0
33141211/518 dolwljw wy| gnpdhpubin — wwpwgwub QL huwn 2300 2 4.6
33141211/520 pdolwlwl wy gnpdhplbp — wwpwgwubp 9L hwn 370 6000 2220.0
33141211/521 pdolwlwt wy gnpdhpubip — wwpwgqulbp 9L hwn 124 15000 1860.0
33141211/522 pdolwlwit wy gnpdhpubip ~ wwpwgqwbp < hwun 35000 30 1050.0
33141211/523 dolwlwi wy gnpdhpubip — wwpwqub; 9L hwwn 1270 800 1016.0
33191310/504 thnpdwunpubp Q< hwin 350 6000 2100.0
33191310/505 thnpdwlnpubp < hwwn 32 7000 224.0
33191310/506 thnpawlnpubp Gl huwitn 66 2100 138.6
33191310/507 npiwlnpub < hwin 98 500 49.0
33691176/584 w npuw Q< hwiwn 70 100 7.0
33791300/504 |{WRhpWINhD Wywljw wpnwnpuitip QL hww 98 16000 1568.0
33791300/505 [wpnpunnp wwlyw wpnwnpulp < hwwn 4 12000 48.0
33791300/512 |wpnpwinnp wiywlyw wpnwnpup L hwwn 1.8996 5000 9.498
35111320/501 dhgniywihts — nwnhninghwljwu Lqujzmtqtubnt[ajmh hwgntuwn 9< hwin 177000 3 531.0

38431710/503

38431710/505 ;
38431720/501 Ywienghlubph duypwlwitp QL huwin 13.625 42240 575.5
38431720/502 wpnghlubiph dwjpwlwiut QL hwn 12.375 42240 522.7
38431720/504 Ywpanghyubph dwjpwljwjtbin <L hwwn 0.8 30000 24.0
38431720/507 umpnghuuhph Buypuljw(ubp [Yd huin 0.45 25000 11.3
38431720/508 ubiph dwnuwlwub; 9L huwin 84 19200 1612.8

33141143/502 ulwph$hlunnp

33141157/504 Usinwplibip — uwpbp Q< hwwn 990 2 2. 0
33141182/507 Yppwipnnbp (npbuwdutn) QL huwin 8800 15 132.0
33141182/508 wihnnb buwdlb, QL hwiwn 8800 15 132.0
33141202/506 Pdoljwlwl bblwpnnub L hwun 5000 2 10.0
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133141211/527

sztlwuwu wy| qnnbhgllhn mwanwhbn

9<

hwtn

6900

1380.0

33141211/528

33141211/530

pdoluiljwi wy gnpdhpubip — wwpwqulibp

33141211/531

pdzumhtub wy qnnbhn'ubn wwpwquiibin

hwiwn

62

1240

33141211/532

R|IR

hwuwn

12000

12.0

33191310/509 thnpéuinplibip ;
33191310/510 thnpdwlnpubp 9L hwin 27 600 16.2
33191310/511 thnpawunpubp 9L hwin 23.84 100000 2384.0
33191312/501 wiwywlt Ynjpw 9L hwtn 2500 3 7.5
33191312/502 wiwywilyls Ynppuw < hwn 3000 3 9.0
33191312/503 wijwlts Ynipw Q< huwn 5000 3 15.0
33191316/501 wiywlh swihhs deugnipw’ hnydws Yghyny < hwwn 2256 4 9.0
33191318/501 wwywljh sunhhs puidwl pudtbswihny 1000 q< huwtn 500 2 1.0
33191318/502 wwwlb swihhs pwdwl pwdlbswding 1000] SL hwin 648 2 1.3
33191318/503 wwywlb swihhs pudwl pudubswthnyg 1004 9L huwin 900 2 1.8
33191318/504 wujwll swihhs pwdwl pwdubswihing 1004) q< huwin 1400 2 2.8
33191318/505 wiwuill swiphs pwdwl puwdubiswihng 1004} 9L hutn 1600 2 3.2
33191318/506 wiwywlb swihhs pwdwl pudubiswihny 1004d; <L hwn 1800 2 3.6
33191318/507 wiywlb swiphs pwdwl pudubswihng 1004 Q<L hwwn 1500 2 3.0
suswnniEwl gniguuwnpbip (2uswnnysjw Ljwindwdp
33191560/501 huljnnnusinits hpulwbwgtint hudwn) < huwin 2300 30 69.0
33691160/691 phuhwlwl wgnwunipbp (ntwqblnutp) L hwn 1399 20 28.0
33791300/513 |WRNPWWNND Wwllyjw wpnwnputp 9L huwwn 1200 2 1.4
33791300/514 Jwpnpnnp wwwbju wpthwnputp QL hwwn 2000 2 4.0
33791300/515 |jwpnpuinnn wwwljjw wpnuwnpuiup Q<L huwin 1440 4 5.8
38311100/501 Eylwnpntiught Ysbinplubip — wwnwguiub G huwn 29500 2 59.0
44163112/502 npbuwdught hwdwlwpgbp L hwwn 33000 20 660.0
9L 0.0
ququiht ynipkip
24111160/501 pdolwilpwt hbinniy wgnwn 9L fud 470000 9 4230000.0
33691141/502 prYwshu v03an01 G hwwn 2300 3000 6900000.0
nennpuwip
33611130/504 wiwnpnup a03ba01, s01fa01 9L hwin 69.9 1500 104.9
33611170/501 npnunwybphu a03ad02 < hwtin 375 1500 56.3
33611170/502 npnunwybipht a03ad02 < hwin 6 500 3.0
33611310/507 hunihu 9L hwin 4999.8 10 50.0
33611320/501 Ubipwplyuwl huunyp (inidynn) aiOab < hwwn 5199 60 311.9
33611320/502 ubpwplydwl puunyp (indynn) alOab L huwin 5499 30 165.0
33611472/504 Sihgtipny, dndhyubp GL huwin 90 400 36.0
33611472/505 Yhghipn|, Undhyubip 9L hwin a7 200 17.4
33621160/501 wuhtwywwpnuwppnt b02aall a< hwin 800 200 160.0
33621360/506 qihgtippy Bnlipinpuin (upwnpngihglinh) c01da02, c05ae01 Q<L hwin 799.8 200 160.0
33621390/501 wuhnnwpnt c01bd01 GL hwin 196 150 29.4
33621720/501 phunwpnynj c07ab07 L hwn 9 400 3.6
33621740/501 widjnrhughts c08call L hwn 5.6 800 4.5
33621761/501 wghitnhjuwihghjwipepent, twqlbghnuwh hhnpopuhn BOTAC30 ag hwin 10.5 10000 105.0
33631180/501 wpdwpeh uny$wnhwghud06ball QL hwwn 1080 20 21.6
33631370/501 winpwlniphnud phighjwwn m03ac04 aL huin 270 150 40.5
33631410/501 wynwniphun] m04aa01 Q<L huwin 44 20000 880.0
33631430/505 nlipultnnupndbi (nEpulimnnupndbiuh tipndbuwdng) MOTAET? g huwn 187 2400 448.8
33631430/506 nipulnnypndbt (nEpultinuypn$blh tpndbiinwdng MOTAET7 9< hwn 129.9 300 39.0
33651111/501 wifopuhghyhs j01ca04 q< hwwn 168 500 84.0
33651112/503 widopuhghih+pjuyniqwiippnt j01cr02 9L hwtn 1480 5 7.4
33651125/501 wghepndhghu j01fal0, sO1aa26 aL hwiwn 258 500 129.0
33651163/502 wilhywght d06ax12, j01gb06, sO1aa2l 9L hwtn 1520 700 1064.0
33661115/503 pnwyhywluwihu n01bb01 9 hwin 229 70 16.0
33661142/501 wihwnphuwnhiht n06aa09 q< hwtn 9 300 7.7
33661151/501 wghlyndhp d06bb03, j05ab01, s01ad03 oL hwin 14.6 40000 584.0
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33661151/502 wghlynuhp d06bb03, j05ab01, s01ad03 QL hwn 2499 100 249.9
nbpuwdbpwgnt a0lac02, c05aa09, d07ab19, d07xb05, d10aal3,
e 1022602, 01ad03, s01ba01, SOIchO1, 020a06, 03601 b o R = 639.0
nbpuwdbpwgnt a0lac02, c05aa09, d07abl19, d07xb03, d10aal3,
33661153/504 h'g?aboé r01adt?30i=.0 020 0550‘?;)] 532E85d393§gg‘d o qg hwwn 36.8 50000 1840.0
ntipuwibipugnt allac02, c05aa09, d07ab19, d07xb05, d10aa03,
AaopliSatay h02ab02, r01ad03, s01ba01, s01cb01, s02ba06, s03bal1 < hun 349 i i
33671114/501 wihun$hiht r03da05 < hwn 35.72 1500 53.6
33671125/502 wdpnopuni (wdppopunth hhrpnpinppn)  RO5CB06, ROSCB G< hwin 15 300 4.5
33671130/501 nh$tuhpnpuih d04aa32, d04aa32 qc hwin 21.9 20000 438.0
33691121/501 wipbunwqgnip02ca03 QL huin 171 30 5.1
33691136/504 Lwwinppnuwih pinphn al2ca01, b05cb01, b05xa03 q< huwin 213.9 1000 213.9
33691136/505 Lwiwnphnwh pinphn al2ca01, b05cb01, b05xa03 Q< hwn 220.9 4000 883.6
33691136/506 bwwnphnuwh pinppn al2ca0l, b05¢b01, b05xa03 9L hwtn 226.8 90000 20412.0
33691136/507 Lwwnphnuwh pinphn al2ca0t, b05cb01, b05xa03 9 huwin 1300 2000 2600.0
33691136/508 uwwphnuwh pinphn al2ca01, b05¢b01, b05xa03 QL hwwn 237.8 4000 951.2
33691136/509 uwwnphnwih pinphn al2ca01, b05cb01, b05xa03 q< hwin 1400 5000 7000.0
33691136/510 bwwphnuwih pinphn al2ca01, b05¢b01, b0Sxa03 QL hwun 530 200 106.0
33691138/504 qyntyng b0Scx01, v04ca02, v06dc01 9L hwwn 237.9 9000 21411
33691138/505 gyyning b05cx01, v04ca02, v06dcO1 < hwwn 231.9 2000 463.8
33691176/569 wy| nbnnpuyp Q<L hwtn 29980 150 4497.0
33691176/571 wj| nbnnpuwp < hwin 4200 500 2100.0
33691176/572 wj| nbnnpw)p 9L hwun 88.8 1000 88.8
33691176/573 w)) nbnnpwip QL hwiwn 2200 700 1540.0
33691176/574 wy)| nbnnpwjp L huwn 516 2000 1032.0
33691176/575 wy| nbnnpwp QL huin 227.8 1500 341.7
33691198/503 wnbdbinhntht - AIGAAQ2 L hwwn 1899 5000 9495.0
33691727/501 nipuinpng (Ripunpngh dnuinhhnpwwn) YO6DCO1, BOSCXO1 QL hwn 36.22 10000 362.2
33691731/501 nhnudbijnhin AO7BCOS QL hun 149 2100 312.9
33691811/501 phuwlnnhy Q<L hwitn 36 700 25.2
33141166/501 hbiwwphu QL hwn 974 1000 974.0
33611100/501 oubwpuign| a02bc0l 9 hwwn 9.2 70000 644.0
33611120/503 Swdninhnhti AO2BA03 q< hwiwn 368 3000 1104.0
33611140/503 ounwlubitnpnt a04aa01 Q< hwwn 270 30000 8100.0
33611140/504 otnwuubitnpnu a04aa01 9< hwin 649 2000 1298.0
33611160/501 dbnnlynuypuithn a03fa0l q< hwwn 40.98 1500 61.5
33611420/507 Luwghnuwih gyniyntivin al2aa03, dilax03 < hwwn 87 10000 870.0
33611420/508 Yuyghnuwih gjjmintiun al2aa03, di1ax03 L huwin 129 10000 1290.0
33611470/502 wwnnwpwgng 4L hwwn 33.21 2000 66.4
33611470/503 wwlunnwpwgn| Q< hwwn 1290 800 1032.0
33621120/501 Fuopuwuwjwiph b01ab05 L huwin 1069 13000 13897.0
33621230/503 $njwppnt b03bb01 9 huwwn 5 1500 7.5
33621590/501 $nipnubidhn c03call RS hwtn 22.286 20000 445.7
33621610/504 dwuhwnng a06ad16, b05bc01, b0Scx04, r05cb16 < hwn 512.7 1500 769.1
wptinuhgninli a07ea01, c05aa04, d07aa03, d07xa02, h02ab06,
25642210/502 r01ad02, s01ba04, s01ch02, s02ba03, s03ba02 4 b 497 120000 594
33651118/501 gtbinphuipunt j01dd04 a< hwin 103 8000 824.0
33651131/504 EL[&:;JyﬂbraopqunL + inphdbpnuphd j01ee01, j0lee02, j01ee05, ac hutn 139 40000 528.0
jUeel
33651131/507 ;:;Lig;dhpopqunl + iphdbpnunhd j0Tee01, j0lee02, j0Tee05, ac hustn 567 50 28.4
33651134/502 ghujpnloputight j01ma02, s01ae03, s02aal5, s03aa07 q< hww 27 10000 270.0
33651138/501 |=n$jopuwghu j01mal2, s01ae05 9L hwwn 79.8 5000 399.0
33651140/502 gbibbiwyghd j01de01 gL hwwn 399.8 10000 3998.0
33651143/504 dapnutiutid j01dh02 QL hwwn 2132 200 426.4
33651143/506 dbpnubtiubid j01dh02 9L hwwn 1970 1000 1970.0
33651150/503 pynilntiuign| d01acl5, j02ac01, j02ac0i 9< hun 3390 500 1695.0
33651150/504 $yniynuwgny d01acls, j02ac01, j02ac0l QL huwiwn 54 30000 1620.0
33651150/505 $yniynuwgni d01acls, j02ac01, j02ac01 9L huwin 99 8000 792.0
33651318/503 Lhubgnihn QL huin 4500 400 1800.0
33661112/501 wpnuinbn| n01ax10 qc hwin 444.9 1500 667.4
33661114/502 $hunwlih n01ah01, n02ab03 QL hwin 450 400 180.0
33661116/505 {prnywjht c0Tbb01, c05ad01, d04ab01, n01bb02, r02ad02, ac hun 790 200 144.0
s01ha07, s02da0!
33661116/506 Eg:nl{u.l]h'u cﬂ;bg:)h c05ad01, d04ab01, n01bb02, r02ad02, q¢ i 2694.9 20 53.9
33661116/507 {hnnyuwjht c01bb01, c05ad01, d04ab01, n01bb02, r02ad02, ac s 04.8 200 19.0
s01ha07, s02da01
33661116/508 mnnhw;hzocz(};:g‘m, c05ad01, d04ab01, n01bb02, r02ad02, ac G 37.8 3500 132.3
s01ha07, s02dal
33661120/504 unp$ht n02aa01 Q<L hwin 450 400 180.0
33661120/505 uUnpbhu n02aal1 9L hwtn 6000 150 900.0
33661122/506 wwpwgbnwdng n02be01 L hwin 2200 1000 2200.0
33661122/507 wwpwgbiunwdng n02be01 gL hwiwn 6.78 2500 17.0
33661127/501 twnwihgn] (Uenwdhqnih twinphnid) NO2BB02 q< hwiwn 34.7 10000 347.0
33661135/503 Uhnwgniwd n05cd08 < hwn 511 300 153.3
33661185/501 Ybnnpnywly (Yennpnjwlh wpndbnwdng) L hwwn 89 1500 133.5
33691112/505 Unpnthnwgny a0labl17, d06bx01, g01af01, j01xd01, pOlab01 q< huwn 212 2500 530.0
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33691112/506 dtitnpnuhnwan| a0lab17, d06bx01, g01afOl, j01xd01, pO1abO! q¢ huwtn 5.02 800 4.0
33691112/508 dtwnpnupnwgng a0labl7, dO6bx01, g01af01, j01xd01, pOtabO1l q< hwwn 1600 150 240.0
33691135/502 twwnphnwh phwppntiwn b05xa02 Ele huwn 960 20000 19200.0
33691145/501 ;I(L}u“q::tégj'lmdh unipwin a06ad04, ai2cc02, b05xal5, dilax05, a¢ hutn 29.8 3000 89.4
33691154/501 pnhbpun)v08ab02 9L hwn 8700 700 6090.0
33691176/576 wij| ipEnnpuwp QL hwn 6888.8 400 2755.5
33691176/577 wy| nbnnpwp < hwn 333.8 5000 1669.0
33691176/578 wj| nbnnpuyp 9< hwtn 77 1000 77.0
33691176/579 wj| nEnnpw)p 9L hwin 147.85 2000 295.7
33691176/580 wy pnnpuwip 9L hwn 1388.8 1500 2083.2
33691176/581 wy| nbnnpwip <L hww 1857 150 278.6
33691176/582 wy| nhinnpuyp L hwwn 89 2100 186.9
33691202/502 Einwidghjwin - BO2BX01 QL huwin 154 15000 2310.0
33691202/503 Euinwdghywn - BO2BX01 S huwwn 34.8 6000 208.8
33691226/507 inpwdwnng (inpwdwnnih hhnpnpinphn)-NO2AX02 L huin 17 100 1.7
33691226/508 wnpwdwnn] (inpwdwnnih hhnpnpinphn)-NO2AX02 Q<L huwn 56.7 200 11.3
33691226/509 inpwdwnn] (inpwidwnnih hhnpnpinphn)-NO2AX02 9L hun 154 1500 231.0
33621290/503 tughub$pht (wnpbuwih) a01ad01, b02bc09, cOlca24, rOlaald, ac bt 04 1000 94.0
r03aa0i, sO1ea0l
33621330/502 thlbpwdhn RO7ABO2 9< huitn 152 50 7.6
33621360/502 gihgbph| bnupinpwin (upwnpngihgbipht) c01da02, c05ae0t < hwtn 660 100 66.0
33621730/501 Jbpwwwidhy c08dali < hwin 88 50 4.4
33651124/501 gb$inwghnhd j01dd02 q< huwin 2997 100 299.7
33651126/505 ghtnwdhghtt d06ax07, j01gb03, s01aall, s02aal4, s03aa06 < hwwn 67 3000 201.0
33651137/501 Yuiuyndhght a07aa09, j01xa01 4L hwwn 1420 800 1136.0
33651224/501 dbpninpbpuwin 101ba01, 104ax03 QL huwin a0 100 9.0
33651224/502 dbpninpbpuwn 101ba01, 104ax03 QL hwwn 3990 100 399.0
33651224/503 dbtipninpbipuwn 101ba0i, 104ax03 QL huwin 13999.8 600 8399.9
33651224/504 Ubpninpbipuwn 101ba01, 104ax03 < huwin 22500 100 2250.0
33651227/502 nwlwppwght 101ax04 QL hwn 2000 0.0
33651230/503 nopunnniphghtu 101db01 9L huwin 13397 200 2679.4
33651230/504 nopunnniphghu 101db01 9L hwiwn 5724 500 2862.0
1800 0.0
33651231/501 bwnnwnghrn 101cb01 q< huwin 3150 200 530.0
33651232/501 Ywpphwyjwwnht 101xa02 QL hwwn 800 0.0
33651238/502 ghyjn$nubuidhn 101aa0l qL hwwn 1000 0.0
33651238/503 ghlnnubwhn 101aa01 qc hwin 2000 0.0
33651238/505 ghyindnubwithn 101aa01 QL hwn 700 0.0
33651239/502 ghunwpwpht 101bc01 Q<L hwin 1999.8 300 599.9
33651239/503 ghwnwpwpht 101bc01 9< hwin 4190 2000 8380.0
33651242/501 nngtitnwpuby 101cd02 9 hwn 300 0.0
33651243/501 wulyhinwpub) [01cd0t L hwwn 14899.8 500 7449.9
33651245/502 ghdghwnwpht 101bc05 L hwn 6588.8 600 3953.3
33651248/503 opuwihujjwnht 101xa03 Q<L hwwn 17499.9 800 13999.9
33651248/504 opuwhwjwwnht 101xa03 L hwn 3160 100 316.0
33651251/501 Luighnudh $njpwwnl01cbO1 a< huwin 1000 0.0
33651256/502 ghljnuwnphu 104ad01, s01xal8 SL huwwn 60999.9 40 2440.0
33651312/502 $yninwpwpht QL hwwn 28300 20 566.0
33661115/502 pnuwyhywluyhtu n01bb01 QL huin 319.8 70 22.4
33661115/504 pnughywluihu n01bb01 9L huswn 1999.8 50 100.0
33661136/503 nhwqgbywd n05ba01 L huitn 101 200 20.2
nbpuwdbpwgnt a0lac02, c05aa09, d07abl19, d07xb05, d10aa03,
R g h02ab02, r01ad03, s01ba01, sO1cb01, 5026206, s03ba0 % h““" 0% 0.0
33661159/501 Shup Ebphu (bbupitdphub hhnpnpinphn) CO1CA06 < hwwn 77 150 1.6
33691133/502 ubpuiplydwl gnip vO7ab q< hwn 22.9 6000 137.4
33691176/505 w)| nhnnpwip 3< hwn 15297 100 1529.7
33691176/506 w)| nnnpwip Q< hwn 25900 90 2331.0
33691176/507 wy| nbnnpw)p q< huwin 262.5 800 210.0
33691176/508 wy| nbnnpwp < huwtn 200 0.0
33691176/509 wy| nbnnpwp 4L hwn 45000 350 15750.0
33691176/510 wj| nnnpuyp K hwwn 600 1000 600.0
33691176/514 wj| nbnnpuwjp 9L hwun 6840 500 3420.0
33691176/515 wy)| nbhnnpwjp QL hwwn 8460 600 5076.0
33691176/516 wy| nbnnpuwip L hwwn 13299 800 10639.2
33691280/501 ghuwjjwinhts 1 dg/up 50 U| QL hwn 6800 450 3060.0
33691500/504 npwbpuwdwpent Q<L huwn 375 1500 562.5
33691500/505 wnpwubpuwdwpent < hwin 1899 3000 5697.0
33611180/502 jwhnnyng a06ad1l QL hwn 1690 1500 2535.0
33611390/502 uhphnopupt allha02 9< huwtn 29.9 1000 29.9
33611474/502 Uhubwhlynu <L hwwn 28 1000 28.0
33611474/503 Uhudbiinhynu a< hwin 1370 150 205.5
33621100/502 hbwjupht bwwnphnw b01ab01, c05ba03, sO1xal4 9L huwin 3395 30 101.9
33621510/501 Yuwunnwphy c09aa0l L hwin 2.5 2000 5.0
33621620/502 uwhpnunjwyinnt c03da0l L huwin 47.94 1000 47.9
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hhnpnlnpinhgnt a0lac03, a07ea02, c05aall, d07aa02, d07xa01,
40/501

33621640/5 h02ab09. s01ba02, sOlch o1 G< hwwn 216 10 22
33621690/503 Ywpybinhin; c07ag02 L hwwn 13.2 1170 15.4
33621760/503 Fuwwuwphy c09aa02 q< huitn 4.4 100 0.4
33621777/502 Mthijwpopuwpwl Q<L huwwn 157.1 252 39.6
33621783/501 Unpwnpblwht nwpunpwn L hwn 1790 100 179.0
33631200/501 pinpwudbtipyny, daphinipugh] DOBC Q<L hwn 239.7 120 28.8
33631230/501 :L{Dr;t:f;]enlz Jnn, d08ag02, d09aa09, d11ac06, g0lax1l, r02aal5, q¢ b 2900 70 203.0
33631290/501 hpnuypndbt c01ebl16, g02cc01, m01ae01, m02aal3d 9L hwn 4.1 1000 4.1
33631290/502 hpniwpndbu c01ebl16, g02¢c01, m01ae01, m02aal3 <L hwwn 649 50 32.5
33631310/502 nhlynbbwl di1ax18, m01ab05, m02aal5, s01bc03 < hwtn 114 150 17.1
33631310/503 nhlyndbuwl diiaxi8, m01ab05, m02aal5, s01bc03 q< hwn 69 200 13.8
33631360/501 unipuwdtipnupnd m03ab01 9L hwwn 189.9 200 38.0
33631460/501 "Hipuwwhipbung DO3AX03,RO1AXI0 9< hwin 3500 50 175.0

Phwnwdbpwant (phunwdbpwgnuh nhupnuhnuwn),
3 0/502 QL 24.9

3631470/ Yinnphdwgny, gbunwdhght (gtunwdhghth uny$uwn) DO7CCO1 B 2490 L

33642220/505 dbphjuypbintihgninti d07aa01, d10aa02, h02ab04 Q< hwwn 7900 10 79.0
33642250/503 dnuwnbniljwun Q< hwun 247.91 150 37.2
33651117/501 gti$hpuhd jO1dd08 QL hwin 333.9 1000 333.9
33651128/501 upinpndnipwtiinnih j01xe01 QL huin 4 200 0.8
33651134/503 ghujpndbjopuwight j01ma02, s01ae03, s02aal5, s03aa07 Q<L huwwn 374.9 300 12.5
33651134/504 ghwpn$jopuwght j01ma02, s01ae03, s02aal5, s03aa07 Q<L huwwn 414.8 30 12.4
33651148/501 lynuinphuwgni a0labi8, d01ac01, g01af02 9L huwn 576 10 5.8
33651148/502 Lninphdwgn) a01ab18, d01ac01, g01af02 L huwtn 192 10 1.9
33651195/501 dwpnnt Unpdw) pudniung)npnyht j06ba SGL hwin 48000 50 2400.0
33651280/503 Uh$nipopuwghn AO7AX03 L hwin 89.5 1000 89.5
33651280/505 uh$nipopuwghn AO7AX03 < hwiwn 1999 70 139.9
33661110/501 hanpynipw n01ab06 q< hwwn 78000 10 780.0
33661122/501 wjwpwgbinnwdng n02be0i GL hwwn 26.4 400 10.6
33661122/504 wwpighbnwdng n02be01 < hwwn 360 50 18.0
33661128/501 Yuwppwdwgbwhu n03af01 9L huwwn 20 1000 20.0
33661137/501 Inpugbuywyd n05ba06 9L huwin 14 100 1.4
33661147/502 ubinuinhguhti n07aa01, s01eb06 q<L huwwn 49.8 150 7.5
33661149/501 wgbinwgnjwihns01ecOl QL huwin 76.2 300 22.9
33661170/502 Mpnluwyhts (wpnluyhth hpnpnpinphn) NO1BAO2 Q<L hwn 550 100 55.0
33661181/502 Ulingnipuwits 9< hwn 48000 15 720.0
33661183/502 ghuwwnpwyniphnud (ghuwwpwyniphnd plighjwn) < hwn 960 100 96.0
33671113/503 uwpnunwdn) r03ac02 L huwtn 1190 15 17.9
33671116/505 puhnubnwgnip r01aa07, r01ab06, s01ga03 < hwiwn 468 100 46.8
33671124/502 wnppwthght, nbipuwibpugnt_SOICAO q< hwtn 1009 50 50.5

hupwinpnuhnwh ppndhry. (hypwanpawhnwh ppndhnh
33671139/501 h 6 40.3

/ dntinhhnpwun), Shtnunnng (Pbuninbinth hhnpnppnuhn) i R 402 10
33691112/507 dbnpnuprwgny a0lab17, d06bx01, g01af01, jO1xd01, pO1ab01 < huwiin 480 20 9.6
33691176/517 w)| nEnnpwp QL huwiwn 1537 40 61.5
33691176/559 w)| nbnnpwp 9L hwin 864 20 17.3
33691176/583 wy| nEnnpwp Q<L hwun 7050 560 3948.0
33691191/503 $nupnjhwhnubip (fubughwy)-ESL A0SC G< hwin 590 280 165.2
33691198/504 wnbdbinhnupl - AI6AA02 Q<L hwtn 462 1500 693.0
33691199/501 uhihdwphu - AOSBAO3 L hwin 20.63 5000 103.2
33691201/501 Yunywiuninh ngbpnid - NOSCMO9 prwwljwt Swatwl ntin q< hwwn 125 100 12.5
33691212/502 nhnudht, hiuybphnhu-CO5CAS3 9< hwin 74.5 120 8.9
33691223/501 uwnpnuwphup Yuyghnuiwlwy wn- BO1ABO6 L hwn 874.9 100 87.5
33691223/502 Lwnpnywphuh Yuyghnuwwlwy wr- BO1ABOG < huwin 1254.9 100 125.5
33691231/503 Yuighnuwih Yuwppnuwn, unjbyuygh$bipn] A12AX L huwin 45.05 2000 90.1
33691236/502 glgﬁxrgg“‘dh“ Tonpnuppunbit hhnnneinnhn’ ROSAECS, a< huwin 107 500 535
33691600/501 |=bwnppuwgbnwd 9 huwin 109 1000 109.0
33691730/503 tipyweh hhnpopuhnh nbipunpwwht hwdwihp BO3AC <L hwwn 668 200 133.6
< hwn 0.0
(wpnpwwnnp b phdpwlwt wqpwiympbp (nbwqbunukp)

33141211/689 pdolwilwt wy gnpdhpubip — wwpwqubp < hwin 84000 & 336.0
33141223/529 pdalwlwt wy) gnpdhpubip — Wwpwgwbp pugdwlndunubun < [nwljuqu 40000 60 2400.0
33141223/530 pdalulwl wy gnpdhplbin — wwpwqubp puqiwlndyntibiit QL [nwlwqd 39999 2 80.0
33141223/531 pdaluluwl wy) gnpdhpubip - Wwpwqwbp puqiwinduntbtin 9 Inwlqd 39999 2 80.0
33141223/532 pdalywljwts wy gpdhplbin — wwpwgwbn puqduyndwnubln qg Inwlwqu 8408999 2 1700.0
33141223/533 pd2lwlwl wy gnpdhpubin — wwpwquwubp pugiwyndwnubtn G< Inwlugd 240000 2 480.0
33691162/1136 (wpnpwwnnp wanwiynipbp (nbwgblnlibip) L hwtn 72999 2 146.0
33691162/1137 |wpnpuwinnp wqnwuniphbp (nbwgblnlbp) q< hwiwn 51999 2 104.0
33691162/1138 |jwphpwinnp wanwujniphp (nbwgbUnubp) QL huwwn 63999 4 256.0
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33691162/1139 |wpnpwnnp wgruutynebp (nbwgblintitipg 9L huwn 89000 80 7120.0
33691162/1140 |wpnpwinnp wqnuwnebp (nbwgbinubp) Q< huitn 130000 80 10400.0
33691162/1141 jwpnpwnnp wqruutynyabip (nbwgbUwnttip) Q<L huwwn 50000 80 4000.0
33691162/1142 jwpnpwinnp wanwiynyebp (nbwgbunubp) 9L hwin 59000 80 4720.0
33691162/1143 |wpnpwnnp wgnuwiyniebp (nbwgblntbip) QL hwn 138999 2 278.0
33691162/1144 |wpnpuwwnp wanwiynyebp (nbwgbnubp) 9L hwtn 91999 4 368.0
33691162/1145 |wpnpwnnp wanwiynyetip (nbwgbtntbin) q< hwwn 67998 2 136.0
33691162/1146 |wpnpwinnp wqnwtynyskp (nbwgbtintbin) 9< hwin 104000 3 312.0
33691162/1147 |wpnpwwnnp wgnwynyskip (nbwgbunubp) < hwin 64999 5 325.0
33691162/1148 |wpnpwwnnp wanuwiympebp (nbwgbtntibip) 9L hwin 61999 4 248.0
33691162/1149 |wpnpwiwnnp wgnwtynyabip (nkwgbtntbp) QL hwn 798000 4 3192.0
33691162/1150 jwpnpwwnnp wgnwniebp (nbwgblnlbn) QL hwwn 60000 3 180.0
33691162/1151 wpnpwiwnnp wgrwiynyabp (nbwgbntbp) <L hwin 84999 2 170.0
33691162/1152 |wpnpwwnnp wgnuwynuatin (nbwgbunubp) AL hwtn 84999 2 170.0
33691162/1153 |wpnpuinnp wgnwunipbp (nEwgbunlbp) 9L hwin 84999 2 170.0
33691162/1154 |wpnpuwwnnp wanwiyniebp (nbwgblntbp) L hwin 33075 2 66.2
33691162/1155 {wpnpuwwnnp wonuwlyngetp (nbwgblnlbip) < hwin 84000 2 168.0
33691420/639 \wpnpunnp wanwbnyebp (nbwgbtnutn) puquwyndunttiun 9< (nwilwqd 69000 1 69.0
33691420/640 |wpnpwinnp wqrubnipbp (nbwgblnutn) pugdwindyntbn 9< (nwiljuqud 42000 3 126.0
33691420/641 |wpnpwwnnp wqruwtyniepbn (nbwgbuntibing puqiwlndwnutun Q< (nwbjugd 69000 3 207.0
33691420/642 [wpnpwnnp wqnwitynuebp (nbwgbtntibp) pugiwlndyntbun Q< Inwlwqd 69000 3 207.0
33691420/643 |wpnpwwnnp wanwiynetp (nbwgbtntitip) pugdulyndynubun q< Inwilyugqyd 40000 3 120.0
33691420/644 |wpnpwnnp wanwiynetp (nbwgbtntbp) pugduyndwynubun 9< Inwiljugd 108000 2 216.0
33691420/645 (wpnpwwnnp warwymebp (nbwgbtnlbp) puguuyndyntbun 4L Inuljuqu 214998 2 430.0
33691420/646 wpnpwnnp warwbniebp (nbwgbunlbn) pugdwyndwnubun 9L [nwljugy 36999 2 74.0
33691420/647 lwpnpunnn warwbniebn (nhwgbnubp) pugqiwlndwntbiun < nwljwqd 33000 2 66.0
33691420/648 |wpnpwinnp warubnipbn (nhwgbunubp) puqdulndwntbiun QL nwiljuqy 69000 5 345.0
33691420/649 |wpnpwwnnp wanuwingbn (nbwgbnttip) pugdulyndynubin q< Inwluqy 32499 5 162.5
33691420/650 (wpnpwwnnp wanwtynietp (nbwgbtntbp) puguwlyndynubun < (nwljwgd 32499 5 162.5
33691420/651 [wipnpwuinp warwlyniptp (nbwgblnubin) pugquuyndynubun < [nwlwqd 42000 2 84.0
33691420/652 (wpnpwwnnp warpwbynipbp (nbwgblntbn) puguwyndynubun Gg [nwljuqu 42000 2 84.0
33691420/653 |wpnpnnp wanwbymptbp (nbwgbinubn) puquwlndynutn L1 [wljuqu 55998 2 12.0
33691420/654 |wpnpwwnnp wanuinipbp (nbwgbtntbp) pwqdwynduynubin Qg [nwljuqd 76998 2 154.0
33691420/655 |wpnpwinnp wanwtynpbp (nhwgbunubn) puquiwyndwntbiin Q< Inwluqd 42000 5 210.0
33691420/656 (wpnpwinnp wqnuwgnyebip (nbwgbtnbnp) puqduindunubun QL Inwlgqd 47000 3 141.0
33691420/657 |wpnpwnnp warutymebp (nbwgblntibp) puqdwlndynubn q< Inwlwqy 42000 2 84.0
33691420/658 |wpnpwwnnp wanwiynietp (nBwgblnutip) puquwyndynubun < Inwlwuqu 104000 3 312.0
33691420/659 |wpnpwwnnp wanwyniebp (nbwgbtnbbn) puqiwynduntbl, 9L Inwlwqd 202000 3 606.0
33691420/660 (wpnpwwnnp wanwnipbn (hbwgbtnubn) pwquwlndwntbun < (nwlugy 202000 3 606.0
33691420/661 {wpnpwwnnp wanwniepbp (nbwgblnlbn) puguwyndynubtn 9L [Pwluigd 35499 2 71.0
33691420/662 (wpnpwnnp wqrwgnyebp (nbwgblnutn) puqdwyndwnubun Q< Nl 103998 2 208.0
33691420/663 |wpnpwitnnp wqrwnipbip (nbwgblnubn) puqdwlnduntbbn QL [nwlgd 58998 2 118.0
33691420/664 (wpnpwnnp wgnuwyniebn (nbwgbtntbn) puquwlndunubbn q< nwiljugy 354999 4 1420.0
33691420/665 (wpnpwnnp wanuwynipbn (nbwgbtntbp) pugdwlndwntbt; Q< Inwluqu 99999 2 200.0
33691420/666 Lwpnpwnnp wgnwnptn (nbwgbunubn) pwquwyndwnttbun G4 [nwljuiqu 63000 2 126.0
33691420/667 {wpnpwnnp wgnwiynyebp (nbwgbuntbp) puqdwynduynubiz Qg [nuwljwqud 32000 60 1920.0
33691420/668 |wpnpwnnp wqnwyniebp (nbwgbtnutp) puqiuinduntbtn Qg (g 32499 10 325.0
33691162/1156 |wpnpwinnp wgnwtynipbp (nbwgblnutip) 9< hwin 470 200 94.0
33691162M57 |wpnpwnnp wgnwiynyetp (nBwgbuwnutip) < hwun 470 200 94.0
33691162/1158 jwpnpwnnp wanwtynetp (nbwgbtnlbing < hwtn 700 200 140.0
33691162/1159 jwpnpwwnnp wanuwtymetp (nbwgbtnbibin <L hwin 1980 110 217.8
33691162/1160 (wpnpwwinp wanwiynietbp (nbwgblnlbip) < hwun 1650 100 165.0
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33691162/1161 |{wpnpwunnp wgnwyniphp (nbwgblnubip) 9L hwwn 900 230 207.0
33691162/1162 (wpnpwinnp wgnwupnehp (nbwgbunubn) 9L hwun 5280 20 105.6
33691162/1163 (wpnpwnnp wagnwiynehp (nbwgbunlbp) QL hwwn 2040 20 40.8
33691162/1164 (wpnpwnnp wgnwynyabp (nbwgblnubp) 9L hwwn 4600 20 92.0
33691162/1165 |wpnpwinnp wanwiynysbip (nbwgbinubip) Q<L hwwn 1150 100 115.0
33691162/1166 |wpnpwinnp wanuwtynipbp (nbwgbunubp) QL huitn 2800 35 98.0
33691162/1167 (wpnpuwwnnp wgnwnipbip (nowgbtinutp) 9L hwtn 12000 30 360.0
33691162/1168 jwpnpwwnnp wqnwignyabip (nbwgbnubn) gL huwitn 67000 10 670.0
33691162/1169 jwpnpuwnnp wanuwiynipbp (nbwgbuwnubp) 9L hitn 6600 2 13.2
33691162/1170 wpnpwwnp wanuwiynyeatip (nbwgblnttip) QL huwin 21000 2 42.0
33691162/1171 jwpnpwwnp wgnuwiynetp (nbwgblntibipg QL hwin 30000 2 60.0
33691162/1172 |wpnpwinnp wanwtynypbip (nbwgbunubp) 9L hwin 15600 2 31.2
33691162/1173 |wpnpwnnp wgnwtynetp (nbwgblntbin) 9L hwn 35000 2 70.0
33691162/1174 |wpnpwwnnp wonwiynietp (nbwgbntbin) < hwn 22800 2 45.6
33691162/1175 |wphpuinnp wanwniebp (nbwgbUnbp) Q< hwwn 57000 2 114.0
33691162/1176 {wpnpwinnp wgrnwgnigebip (nbwgblnubn) < hwwn 47000 2 94.0
33691162/1177 jwpnpwinnp wgnwuniphp (nbwgbunubp) < hwn 18000 2 36.0
33691162/1178 {wpnpwnnp wgnwnpbp (nbwgblnlbp) QL huwin 48000 2 96.0
33691162/1179 {wpnpuwinnp warwbnebp (nbwgblnlbp) gL huwin 34800 2 69.6
33691162/1180 |wpnpiwtnnp wgnwynyebp (nbwgblintbp) QL huin 33000 2 66.0
33691162/1181 |wpnpwnnn wgrutynyabp (nbwgblnubp) Q<L hitn 97000 2 194.0
33691162/1182 |wpnpwwnnp wgnwiynipbp (nbwgbunubp) Q< hutn 2 0.0
33691162/1183 [wpnpwtnnp wgnwiyniphp (nbwgbunubp) Q<L hun 20000 2 40.0
33691162/1184 |wpnpwinnp wqnwiyngebp (nbwgbwntbp) QL huwin 21600 2 43.2
33691162/1185 |wpnpwnnp wqnwtynipbp (nbwgblnubp) Q<L hwwn 24000 2 48.0
526000 40 21040.0
33691420/669 |wpnpwwnnp warwiynetip (nbwgbunbbp) puquwyndynubln q< Inwljgd 20 0.0
1210000 20 24200.0
33691420/670 [wpnpwnnp wanwlnipbp (nbwgbunlibp) pugquuyniynubun QL Inwljwgd m 0.0
33691420/671 |wenpwwnnn warwbynipbp (nbwgbunubn) puquwyndynutun 9L (nwljuwgud 215000 8 1720.0
33691420/672 |wpnpwinnp warputnyebn (nbwgblnbp) puqdwlndynttiin QL [nwlwqd 151200 4 604.8
33691420/673 (wpnpwwnnp wqrputniebp (nBwgbunttip pugqdulyndynubiun Q< nwluqd 363000 1 363.0
33691420/674 (wpnpwnnp wgnwiynipln (nbwgbtnttn) puqdwindunubn Q< Inwljgy 175998 1 176.0
33691420/675 [Wpnpwnnp wqnwnyebp (nEwgbtntbn) puquwlndwnttn < Inwluqy 157998 1 158.0
33691420/676 [wpnpwwnnp wqnwynipbp (nbwgbtntbn) pugdwlndwnbbtn a< Inwiljwgd 85999 4 344.0
33691421/522 (wpnpuwinnp worwlyniebp (nbwgbtinlbp) hbinndy 9L {hwnp 0.5 0.0
33691422/568 (wpnpwwnnp wanuwynipbn (nbwgblnubp) tingh Ywd gputinybip Q< Yhingpwd 0.5 0.0
33691422/569 |wpnptnnp warubnetp (nbwgbuntbp) tingh Yud gputngubn Q<L Yhingpwd 1200000 0.1 120.0
33691422/570 (wpnpuwinnp wanuwnyebin (nbwgbunubp) thngh Ywd gpuitinyutin Q<L Upingpuwd 1140000 0.1 114.0
33141211/690 pdolwlwl wy) gnpdhpubp — wwpwgwubp 9 hwin 246000 8 1968.0
33141211/691 pdolwlw wy gnpdhpubip — wwpwgwbp < hwwn 110300 4 441.2
33141211/692 pdolwlwt wy) gnpdhplbip — wwpuwiguubip G hwin 6100 60 366.0
33141211/693 pdolwlw wy gnpdhpubip — wwpwqwlbp q< hwn 57100 2 114.2
33141211/694 pdolwlwl wy gnpdhpubp — wwpwqubp L hwwn 2500 4 10.0
33141211/695 pdolwluwts wy gnpdhpubp — wwpwquubip < hwn 1000000 1 1000.0
33141211/697 pdoluwlwt wy) gnpdhpubp — wwpwgubn L hwn 960000 2 1920.0
33141211/698 peolwlwl w) gnpdhpubp — wwpwquubp L hwn 246000 6 1476.0
33141211/699 pdslwlut w) qnpdhpubip — wwpwqubbp q< huwiwn 1195000 2 2390.0
33141223/534 pdaywljwt wy) gnpdhpubip — wWwnwqwubp puqiwyndunubun 9L (nwlwaqu 44600 6 267.6
33141223/535 pdalwlw wy gnpdhplbin — wwpwquibp puqdunduntbun QL (nwljuwqd 33300 12 399.6
33141223/536 pdayuluil wy) gnpdhpubin — Wwpwqwubp puqdwlnduinubun G [nwiljgqy 648300 4 2593.2
33691162/1186 (wpnpwwnnp wqruuiynipbp (nbwgblnutip) < huwtn 19875 28 556.5
33691162/1187 |wpnpwwnnp wgnuwiynyphp (nbwgbntbp) < hwtn 7540 75 565.5
33691162/1188 |wpnpwwnp warwiynipbp (nbwgblnutip) < hwin 13846 65 900.0
33691162/1189 wpnpwwnnp wgrwtyniebp (nbwgblnlibp) < huwwn 17143 70 1200.0
33691162/1190 (wpnpuwwnnp wonwlynyetp (nbwgbuntbip) L hwwn 14200 60 852.0
33691162/1191 jwpnpuinnp warwbniebp (nbwgblntbp) G< hwwn 16800 50 840.0
33691162/1192 {wpnpwnnp wgnwlnyebp (nbwgblnutin) Q< huwin 13875 40 555.0
33691162/1193 (wpnpwnnp wgnunebp (nbwgblnttp) QL huwn 18750 12 225.0
33691162/1194 |wipnpwinnp wgnuwynsbp (nbwgbunubp) Q<L hwn 15800 60 948.0
33691162/1195 (wpnpwwnnp wanuwynyetp (nbwgblnttin) Q< hwn 15800 60 948.0
33691162/1196 |wpnpwwnnp wanwiynyetip (nbwgblnlitin < hwun 20182 55 1110.0
33691162/1197 jwpnpwnnp wanwiynipbp (nbwgblnlibip) < hwwn 32000 3 96.0
33691162/1198 jwpnpwwnnp wgnwiynipbp (nbwgbnltip) 9L hwwn 14357 7 100.5
33691162/1199 jwpnpwwnnp wgnwiynipbp (nbwgblnlbip) < hwwn 31417 18 565.5
33691162/1200 {wpnpunnp wonwiniptp (nbwgblnlbip) QL hwn 139113 75 10433.5
33691162/1201 jwpnpwwnnp wanwbynpbp (nbwgBlntbn) SL huwiwn 11645 55 640.5
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33691162/1202 |wphpwiwnnp wanwtniebp (nbwgbtnubn) QL hwn 46900 55 2579.5
33691162/1203 {wpnpwiwninp wgnwgngetin (nbwgbnubp) qL hwn 15000 10 150.0
33691162/1204 |wpnpwinnp wgnwuniehbp (nbwgblnbp) QL hwwn 93900 6 563.4
33691162/1205 wpnpuwwnnp wanwlyniphp (nbwgblintbip) 9L hwin 14675 60 880.5
33691162/1206 |wpnpuinnp wgnwunipbp (nbwgblnubp) 9L hwin 5308 65 345.0
33691162/1207 |jwpnpwiwnnp wgnwlngebp (nbwgkntbp) 9L hwwn 13333 45 600.0
33691162/1208 jwpnpuwinnp wgnwniptp (nbwgbntbip) G< hwwn 27300 70 1911.0
33691162/1209 jwpnpuwnnp wgnuwniphp (nbwgblnubp) gL huin 8375 12 100.5
33691162/1210 |wpnpwiwnnp wgnwuniphp (nbwgbunubp) Q< hwin 40000 5 200.0
33691162/1211 |jwpnpwinnp wgnwuniphp (nbwgbunubn) QL huwin 27500 8 220.0
33691162/1212 |wipnpwinnp wgnwuniphbp (nbwgbunubn) Q< huin 26700 15 400.5
33691162/1213 |wpnpwinnp wgnwunysbp (nbwgblnubp) Q< huin 15750 2 31.5
33691162/1214 (wpnpwinnp wanwiynyebp (nbwgbwntbip) a< huwin 25875 2 51.8
33691162/1215 |wpnpwwnp wgnwiynyehip (nbwgbunubp) Q<L hwwn 20500 7 1435
33691162/1216 wpnpwwnnp wgnwiynyetin (nbwgbnubp) Q< hwin 18370 15 275.6
33691162/1217 |wpnpwnnp wanuwtyniyabip (nbwgbintbp) Q<L hwwn 10125 4 40.5
33691162/1218 jwpnpwwnnp wanutynipbp (nbwgbtnubp) QL hwwn 43600 3 130.8
33691162/1219 |wpnpwinnp wgnuwtynipbp (nbwgblinttip) QL hwn 77400 1 77.4
33691162/1220 |wpnpwwnnp wgnwitynystip (nbwgbtintibp) q< hwn 50500 4 202.0
33691162/1221 |wpnpwnnp wanwynyabip (nbwgbntbp) Q< hwn 40100 6 240.6
33691162/1222 |wpnpwinnp wgnwtynyalp (nbwgbtnubp) QL hwwn 133100 6 798.6
33691162/1223 |wpnpwwnnp wgrnwiynysbin (nbwgbliintbp) < hwwn 263400 6 1580.4
33691162/1224 (wpnpwwnnp wanwtynipbp (nbwgblnlbn) L hwuwn 329400 6 1976.4
33691162/1225 |wpnpwinnp wanwunipbp (nbwgblnlbn) Q< hwn 159900 16 2558.4
33691162/1226 {wpnpwiwnnp wgnwtynyebip (nbwgblwnbp) L hwwn 138600 8 1108.8
33691162/1227 jwpnpwwnnp wgnwlyniebp (nbwgblntbn) 9L huwin 120800 8 966.4
33691162/1228 |wpnpuwinnp wgnwnyebp (nbwgbunubn) q<L huwitn 124400 8 995.2
33691162/1229 |wpnpwinnp wgnwunehbp (nbwgbnubn) Q< huwwn 172400 72 12412.8
33691162/1230 |{wpnpwinnp wgnwniebp (nbwgbunubn) Q<L huwwn 15100 6 90.6
33691162/1231 {wpnpuitnnp wgrwnyebp (nbwgbuwnubp) QL hwn 24720 2 49.4
33691162/1232 {wpnpwinnp wgnwuniehbp (nbwgblnutn) Q< hwn 22500 2 45.0
33691162/1233 Jwpnpwnnp wgnuwpniehbp (nbwgbinubn) QL hwwn 41550 10 415.5
33691162/1234 |wpnpwwnnp wgnwynysbip (nbwgbunubp) Q<L hwwn 66000 5 330.0
33691162/1235 |wpnpwiwnnp wgnwiynyatp (nbwgbtunubp) 9L hwwn 38000 15 570.0
33691162/1236 |wpnpwwnnp wgnutynehp (nbwgbUntbp) < hwwn 67000 1 67.0
33691162/1237 |{wpnpwinnp wgnwiyngebn (nbwgbnubp) < hwwn 115000 4 460.0
33691162/1238 |wpnpwnnp wgnuniehp (nbwgbnubn) L hwun 73000 8 584.0
33691162/1239 |jwpnpwitnnp wgnwujniphp (nbwgblnubp) 9< hwn 250000 50 12500.0
33691162/1240 {wpnpwwnnp wgrwynietp (nbwgblnubp) QL huwin 100000 1 100.0
33691162/1241 jwpnpwinnp wgnwumphp (nbwgbunubp) QL hwwn 58000 3 174.0
33691162/1242 jwpnpwinnp wqnwuniphp (nbwgbunubn) QL hwwn 58000 10 580.0
33691162/1244 |{wphpwinhp wanwuniphbp (nbwgblnubn) QL hun 27000 8 216.0
33691162/1245 |wpnpwiinnp wgnwnehp (nbwgbntn) L hwn 40000 5 200.0
33691162/1246 \wpnpwinnp wgnwuniehbp (nbwgblnubn) Q< hwn 103000 2 206.0
33691162/1247 Jwpnpwinnp wgnuiynpbp (nbwqbunubp) Q<L hwn 29000 12 348.0
33691162/1248 {wpnpwwnnp wgnuwniphbp (nbwgbnubn) q< hwin 18000 40 720.0
33691162/1249 {wpnpwnnp wgnuwnebp (nbwgbtnbin 9L hwin 18000 40 720.0
33691162/1250 |wpnpwnnp wgrutyniebp (nbwgblntbing QL hwwn 86000 4 344.0
33691162/1251 |wpnpwnnp wgnuwtyniebip (nbwgbwnltbp) L hwwn 53000 7 371.0
33691162/1252 jwpnpwnnp wanuwiynietp (nbwgbtntibp) < hwwn 77000 9 693.0
33691162/1253 |wpnpwinnp wgnutnipbp (nbwgbuntbp) QL hwn 40000 9 360.0
33691162/1254 |wpnpwnnp wanwtynipbp (nbwgblnlbn) L hwn 20000 15 300.0
33691162/1255 |wpnpuwwnnp wgnwyniphp (nbwgbtinbn) < hwwn 21000 6 126.0
33691162/1256 Jwpnpwiwnnp wgrnwitynyebip (nbwgbnubp) AL hwwn 165000 3 495.0
33691162/1257 wpnpwwnp wanwiynipbp (nbwgblnlibip) L hwuwn 89000 3 267.0
33691162/1258 jwpnpwinnp wgnwuniphbp (nbwgblnbp) L hwn 21000 4 84.0
33691162/1259 jwpnpuwunnp wanwniptp (nbwgblnlbn) < hwun 36000 1 36.0
33691162/1260 jwpnpiinnp warpwbniebp (nbwgblnlbp) 9L hwin 67000 1 67.0
33691162/1261 jwpnpwinnp wqnwupniphp (nbwgbUnubp) Q< huwwn 157000 2 314.0
33691162/1262 {wpnpwinnp wgnwunehp (nbwgblnubn) L huwiwn 170000 1 170.0
33691162/1263 jwpnpwinnp wgnuwuniehp (nbwgbunubn) QL hwun 22500 1 22.5
33691162/1264 |wpnpuwinnp wgnwtynypbp (nbwgbuwnubip) QL hwn 40000 1 40.0
33691162/1265 |wpnpwwnnp wgnutynyebp (nbwgbntbip) L huwtn 131000 1 131.0
33691162/1266 |wpnpwinnp wanuwtynipbp (nbwgbtnttbp) 9L hwtn 11000 15 165.0
33691162/1267 |wpnpwwnnp wanwiynyabp (nbwgblwnttip) < hwin 43000 2 86.0
33691162/1268 |wpnpwinnp wanwiynietp (nbwgblntbin) 9L hwun 20000 60 1200.0
33691162/1269 |wpnpuinnp wgnwunipbp (nbwgblinubp) 9L hwwn 4000 60 240.0
33691162/1270 wpnpwwnnp wgnwiympbp (nhwgblnbbp) QL huwwn 6000 5 30.0
33691162/1271 jwpnpnnp wgrwbynipbp (nbwgblnbbn) QL hwn 8000 2 16.0
33691162/1272 jwpnpuwinnp wanwniebp (nbwgblnubip) Q<L huitn 17000 35 595.0
33691162/1273 jwpnpuwnnp wgnunebp (nbhwgbunubp) < hwiwn 277000 1 277.0
33691420/677 (wpnpwwnnn waruinipbn (nhwgbntibp) pwqdwlnduntbtin 9L [nwlwqd 44100 1 44.1
33691420/678 |wpnpwnnp wgruwtyniepbp (nbwgbuntbip) puqiwlyndynubun qg Inwiljwgd 21400 4 85.6
33691420/679 (wpnpwinnp wanwiynietip (nbwgblnttip) pugiwyndynubn < (nwljwgd 47800 6 286.8
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33691420/680 (wpnpwnnp wanwiynyetn (nbwgbtintibp) puqiwlyndynubun q< Inwilyugqd 42500 12 510.0
33691420/681 |wpnpwwnnp wqruwnypbp (nbwgbtntbn) puqiwinduntbbn q< Inwiljuqu 21700 6 130.2
33691420/682 |Wpnpwitinp wqrwnipbip (nGwgbtnutbn) puquiwlnduntbbn 9< Inwlugd 114900 8 919.2
33691420/683 (Wwpnpwinp wanwyniebp (nGwgbtntbn) puquwyndwnubun < nwlwad 46875 4 187.5
33691420/684 [wpnpuwinnp wanwtyniyabin (nbwgbtntbn) puqdwlndwynubun q< nwlwagd 185200 8 1481.6
33691420/685 |wpnpuinnp wanwtnipbn (nbwgbtintbp) puqiwyndwynubln K Inwlwuqy 185200 8 1481.6
33691420/686 |wpnpwinnp wanwlyniebn (nbwgbtnubp) puquwlndwntbtn < [nwlwqd 37500 8 300.0
33691420/687 [wpnpwwnnp wanwniptn (nbwgbunlbp) puquwyndynubun q< (nuiuqd 19568 22 4305
33691420/688 |wpnpwinnp wanwgnipbp (nbwgblnlbn) puquwyndynubun G (g 35250 2 70.5
33691420/689 |wpnpuinnp wgruinyebin (nbwgbunubp) pwquwlndwnutiin Q< [nwiljugd 270000 5 1350.0
33691420/690 |wpnpwwnnp wanwniebp (nbwgbUntbp) pwgdwlyndunubun Q< nwiljugd 22500 5 12.5
33691420/691 [wpnpwnnp wqnwnyebp (nbuwgbtnttbn) puqdwindunubun 9L nwiljgqd 57300 3 171.9
33691420/692 [wpnpuwwnnp wqnwynipbp (nbwgbtnttbn) pugqiwinduynubbn Q< nwlwqd 50600 3 151.8
33691420/693 (wpnpwwnp warwiyngetp (nbwgbtnlbp) pugquuyndynubun q< Inwljuqy 50600 3 151.8
33691420/694 |wpnpwwnnp warwinietp (nbwgblnbbp) puguwyndynubun q< Inwluqd 65600 40 2624.0
33691420/695 wpnpwnnp warwniptn (nbwgbunlbp) puguuyndynubun ag Inwljuqu 72500 3 7.5
33691420/696 |wpnpnnp wanwniptbp (nbwgblnubn) pugiwyndynubtun q< (nwljwgd 72500 3 27.5
33691420/697 |wpnpwitnnp wanwinipbn (nbwgblntibn) pwqdwyndynubin RIS [nwiljwqy 72500 3 217.5
33691420/698 Jwpnpwinnn wanwiynypbn (ntwgbtintbin pwqdwlindwyntbtn Q< Inwlugd 52100 4 208.4
33691420/699 (wpnpwwnnp wanuwinietp (nbwgbtntibip) puqdwlndunubun < [nwlwqy 67500 2 135.0
33141211/700 pdolwlwb wy gnpdhpubip — wwpwquibp q< hwuwn 44000 1 44.0
33141211/701 pdolwlwb wy gnpdhpubp — wwpwgwbip 9L hwitn 261 1000 261.0
33141211/702 pdolwlwts wy gnpdhpubip — wWwpwqwbp < hwiwn 21000 20 420.0
33141223/537 pdolwljwts wy) gnpdhpubip — wwnwqwiibn pugqiwyndynubun < Inwlwuqu 45600 40 1824.0
33141223/538 pdalywlyuwit wy) gnpdhpubip — wwnwqwbn pugiwyndynubn 9L [nwljwuagd 46300 20 926.0
33141223/539 pdolwlwt wy gnpdhplbin — wwpwqubn puqiymniynubiin < (Puiljwad 24400 2 I48.8
33691160/559 phubwlwl wgnwnuehip (nbwgblultin) Q< hwn 111600 40 4464.0
33691160/560 phuhwlwl wgnwnphbp (ntwgbntbn) 9< huin 79200 40 3168.0
33691160/561 phuhwlwu wgnuwnystp (nbwgbunutp) L huuin 252000 40 10080.0
33691160/562 phuhwljwt wanutynyehp (nbwgbtntbn) q< hwwn 131400 40 5256.0
33691160/563 phupwlwl wgnuwniastp (nbwgbunttbp) < hwtn 67500 2 135.0
33691160/564 phuhwluwt wgnwmpbp (nbwgblnubp) L hwitn 67500 2 135.0
33691160/565 phupwlwy wgnwnstp (nbwgblunlbp) QL huwitn 283500 25 7087.5
33691160/566 phihwlwt wgnwunipbp (nbwgbunubn) 9L hwwn 96300 2 192.6
33691160/567 phihwhwt wgnwunpbp (nbwgbUwnubp) < hwin 96300 2 192.6
33691160/568 phdpwlwl wgnwyniptp (nbwgblnubn GL hwitn 239400 2 478.8
33691160/569 phuhwljwy wgnwunipbp (nbwgblnubn) 9L hwin 490000 10 4900.0
33691160/570 phuhwlwl wgnwnietip (nbwgblwnubip) L hwiwn 75000 2 150.0
33691160/571 phihwlwl wgnwnebp (nbwgblwnubn) 9L huwin 75000 2 150.0
33691162/1274 |wpnpuwinnp wgnwjniehp (nEwgblinubn) qL hwwn 64320 60 3859.2
33691162/1275 |wpnpwinnp wgnwuniphp (nbwgblnubn) < huwin 46000 2 92.0
33691162/1276 jwpnpwwnnp warwbnyetip (nhwgblinubp) L huwwn 55200 60 3312.0
33691162/1277 {wpnpuwwnnp wgrpwinpbip (nbwgblnubn) 9< hwin 43600 2 B7.2
33691162/1278 {wpnpwinhp wgnwuniphlp (nbwgbunubn) 9< huwin 118800 60 7128.0
33691162/1279 jwpnpwinnp wgnwupniphp (nbwgblnutn) 9L huwin 121280 2 242.6
33691162/1280 jwpnpwnnn wanwngetp (nbwgblnubn) 9L huwn 92950 60 5577.0
33691162/1281 |wpnpwwnnp wanuwnipbp (nbwgbtnubip) QL huwtn 58240 2 116.5
33691162/1282 |wpnpuwinnp wgnutnipbp (nbwgbiintbin) 9L huwin 69800 12 837.6
33691162/1283 |wpnpuinnp wgnwniphp (nbwgbinbn) QL hwtn 24000 3 72.0
33691162/1284 |wpnpuwitnnp wgnwujnipbp (nEwgblnbn) < hwtn 98500 8 788.0
33691162/1285 {wpnpwnnp wgrwbyniebp (nbwgblintbip) QL hwwn 25600 2 51.2
33691162/1286 Jwpnpwwnnp wanwlynietp (nbwgblinbbp) QL huwwn 84000 3 252.0
33691162/1287 |\wpnpwinnp wgnwunpbp (nbwgblnubn) qL hwwn 56560 2 113.1
33691162/1288 |{wphpwitnhp wgnwujniphp (nbwgblnubn) S huwin 84000 3 252.0
33691162/1309 jwpnpwinnp wgnupniptip (nbwgbuwnubin QL huiwn 53040 2 106.1
33691162/1310 {wpnpwinnp wanwlynipbp (nhwgblntbp Q<L huwin 71680 40 2867.2
33691162/1311 {wpnpwinnp wgnwlynyatp (nhwgbunubip < hwn 24850 3 74.6
33691162/1312 |wpnpwinhp wgnwuniebp (nbwgblnubn) QL huwitn 49840 2 99.7
33691162/1313 |Jwphpwinnp wgnwumphp (nbwgbunubn) L hwun 24300 2 48.6
33691162/1314 {wpnpuwnnp wgrubnystin (nhwgblnubip) 9L hwin 70800 2 141.6
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33691162/1315 |wpnpuwinnp wgnwynyabp (nbwgblnlbp) < hwin 24300 2 48.6
336911621316 Jwpnpwinnp wgnwnyatip (nbwgbtnlbn) 9L hwwn 66880 3 200.6
33691162/1317 jwpnpwwnnp wanwunipbp (nbwgbtnlbn) 9L hwwn 23680 2 47.4
33691162/1318 |wpnpwinnp wgnwuniyatp (nbwgbunlbn) q< huwtn 46800 8 374.4
33691162/1319 Jwpnpwnnp wanwiymptn (nbwgbluntbin) 9L hwun 24600 2 49.2
33691162/1320 wpnpuwihnp wgnwumniptn (nbwgbunubp) QL hwun 54240 2 108.5
33691162/1321 Jwpnpuwinnp wgnwnyabin (nbwgbunubp) 9L huwn 24600 2 49.2
33691162/1322 jwpnpuinnp wanwnebn (nbwgbnubn) e huwin 14240 2 28.5
33691162/1323 Jwpnpuinnp wgnwnietn (nbwghlnubip) G huwtn 5400 15 81.0
33691162/1324 |wpnpwiinnp wgnwnystp (nbwgblnbbn) 9< hwiwn 225000 8 1800.0
33691162/1325 jwpnpwnnp wgnwlnebp (nbwgbinubn) QL huwn 26500 2 53.0
33691162/1326 jwpnpwnnp wgnwiynyetp (nbwgblunubn) 9 hwin 59760 2 119.5
33691162/1327 jwpnpwwnnp wgnwynipbp (nbwgbntbp) Q< hwin 349200 5 1746.0
33691162/1328 |wpnpuwitnnp wanwujnystp (nbwgblntbp) Q< hwn 36800 6 220.8
33691162/1329 {wpnpwwnnp wgnwiynyabp (nbwgbiuinuibip) QL huwin 81440 3 244.3
33691162/1330 |wpnpwinnp wgnwiynipbp (nbwgbuwntbp) Q<L hwtn 24800 2 49.6
33691162/1331 |wpnpwwnp wgnwinysbip (nbwgbwntbp) L huwin 25280 2 50.6
33691162/1332 jwpnpwitnnp wanwtynpbn (nbwgbuwnubin) GL huwtn 216554 20 4331.1
33691162/1333 |wpnpwnnp wanwinptn (nbwgblnubn) L huwitn 264410 20 5288.2
33691162/1334 jwpnpwwnnp wgnwlnietp (hbwagbklntibp) 9L huwin 357000 20 7140.0
33691162/1335 Jwpnpwinnp wgnwnpln (nbwgblnubn) 9L hwuwn 239198 20 4784.0
33691400/563 phipwlwl wgnwbnpbp (nhwqbunubn) puqiwlndwnttiin < [nwlwqu 96300 2 192.6
33691400/564 phuhwlywl wqruwtynetp (nbwgbunutp) puqiwyndynubun q< (nwluwqd 96300 2 192.6
33691400/565 phipwlwt warwiympbp (nbwgbunutp) pugdwlyndynubun Q< [nwlwqd 108000 2 216.0
33691400/566 phupwyw wanwiyniptp (nbwgblntibp) puquwyndynubun GL Nl 96300 2 192.6
33691400/567 phupwlwl worwmipbp (nbwgbunubn) puqdwndynubun Q< Inwlwqy 121500 2 243.0
33691400/568 phihwlwl wanwiynipbn (nbwgbuinubp) pugiwlndynubun q< (nwlwuqu 121500 2 243.0
33691400/569 phipwywt wgnwynipbp (nbwgbuntbp) puqdwlnduynubun qL (nwljuqu 106200 12 1274.4
33691400/570 phihwywt wanwiynpbp (nbwgblntibin) pugduyndynubun QL (nwljuwgd 45630 12 547.6
33691400/571 phuhwlwts wanwynipbn (nbwgbunubp) pwqiwlyndyntbtn G nwlugd 139500 26 3487.5
33691400/572 phupwlwy wanwnietp (nbwgbinubn) puquwyndynutitin q< Inwiljuga 50000 6 300.0
33691400/573 phihwlwl wanwiuniebn (nbwgbuntbn) pwqduwlyndunubun 9< (nwluqy 95400 25 2385.0
33691420/700 |wpnpwwnnp wqnwnyebin (nbwgblnubn) puquwlndwntibln < (nwluqu 26800 40 1072.0
33691420/701 |wpnpuwiinp wgnwnipbn (nbwgblnubn) puquwlndwnubln < (gl 26800 40 1072.0
33691420/702 |wpnpinnp warwbmipbp (nbwgbunubp) puquiwlndwnutiun Qg [Pl 17120 1 17.1
33691420/703 (wpnpunnp wqnwgnipbp (nbwgblnutbnp) puqduinduntbun Q< nwluqy 59760 2 119.5
33691420/704 [wpnpwnnp wanwnipbp (nbwgbktntubn) puquwlnduntibn q< nwljgd 174640 2 349.3
33691420/705 (wpnpwinnp wgnuynitip (nbwgbunubn) puqiwyndwnubt; < Inwijugd 119520 2 239.0
33141211/703 pdolwlut wy gnpdhpubn — wwipuiquibip L hwitn 80000 1 80.0
33141211/704 pdolwiljwits wy) gnpdhpubip — wwpwgwtibin L hwwn 1230000 1 1230.0
33141211/705 pdalwlwit wy gnpdhpubp — wwpugqubp GL hwin 215000 1 215.0
33141211/706 pdolywlwt wy gnpdhplbin — wWwpwgqulbp QL huiwn 215000 1 215.0
33141211707 pdoliulyuit wy| gnpdhpubin = wwpwguwbp 9L huwin 90000 1 90.0
33141211/708 pdolwljwt wy gnpdhplbip — wwpuwgulibp QL hwtn 69000 1 69.0
33141211/709 pdoljwljwl wy gnpdhptbp — wwpwgwlbp qZ hwn 13000 1 13.0
33141223/540 pdplwljw wy| gnpdhpubip — wwpwgwlbin pugqdwyndwnttin < [nwlwqd 960000 18 17280.0
33141223/541 pdolwljwl wy gnpdhplibin — wWwpwqwubp pwquwyndwnubun qc Inwlwuqy 103122 2 206.2
33141223/542 pdowlw wy gnpdhpubip — wwpwqwubn pugdwyndwnubtn g [nwiluigd 108528 2 2171
33141223/544 pdoluwljwt wy) gnpdhpubip - wWwpwgwbp pugiwynduntbun Q< (Puljwgd 60000 2 120.0
33691162/1336 Jwpnpwinnp wanwbnetip (nbwgbunubp 9L hwin 38000 3 114.0
33691162/1337 |wpnpwinnp wgnwlnyshp (nbwgbuwnubip) QL hwtn 87700 1 87.7
33691162/1338 |wpnpuwwnnp wghuwlnipbp (nbwgbntbp) L huwtn 24000 1 24.0
33691400/574 phuhwlwl wanwnebn (nhwgqbunubn) pwquwlndunutiun G< Inwlwqy 190000 3 570.0
33691400/575 phipwlwl wqnwyjniebn (nhwgbunttn) puqdwlndynbbtn 9L Inwlwqu 95000 3 285.0
9 0.0

33691400/576 phihwlwt wanuwiynplp (nbwgblntbin} puqiwlndwntibtn QL Inwluqu 17200 3 A
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9 0.0
33691400/577 phuhwlwl wqnwiynyebp (nbwgbwnbbn) puguwlndwnlun QL [nwlwqd 700 ; =
33691400/578 phihwlwl wanwlynyebip (nbwgblnubn) puqdwyndyntibin qc (nuwljwgd 8 0.0
33691400/579 phuhwlw wanwlynyetp (hhwgbunubp) puguwlyndyntbun G< (nwlwaqd 115000 4 460.0
33691400/580 phuhwlwl wgnwyniebn (nbwgblnubn) pwqiwlndyntbun G nwiljuqd 1 0.0
33691400/581 phdpwlwt wgrpwlnipbp (nbwgblnlibn) pugquwyndynubun q< nwluqu 2 20
53000 1 53.0
33691400/582 phupwljwu wanwunipln (nbwgklnlbn) pugquiwindynubun Qg Inwlwqd 1 0.0
33691400/583 phuhwlwl warunyetin (nhwabunubn) puqdulndwnutiun Q< Inwlqy 1 0.0
33691400/584 phuhwlwt warwiynyebin (nbwgbtinubin puquwlndwyntbun 9< nwljugd 10 0.0
33691400/585 phihwlwl wanwtjnyebip (nEwgbtnttn) pugqiwynduyntttn q< Inwlwau 446000 4 1784.0
33691400/586 phuhwlw wqrwynptin (nbwgbunttn) puqiwlyndynbbln q< Inwluqu 189000 1 189.0
33691400/587 phuhwljwl wqrwtynyabip (nbuwgbuntbn) puqdwlndwntibin ag [nwlwqd 145000 1 145.0
33691400/588 phupwyw wanwiynietp (nbwgbtntibp) puguwyndynubun < [nwlwqd 145000 1 145.0
33691400/589 phupwyw wonwnietp (nbwgbntbp) pugquwyndwnubln 9 (nwilpugd 1 0.0
33691400/590 phupwlwl warwniebp (nbwgbunubn) puquwyndynubun G< nwiljgd 141000 1 141.0
33691400/591 phupwlw wgnuynipbp (nbwgbunubp) puqiwlndwnttiun q< Inwiljwgd 150000 1 150.0
33691400/592 phupwlwl wgrubynetp (nhwqbnubp) puwqiwlndwnttiin L Inuwljwgd 205000 1 205.0
33691400/593 phuhwlwl wgnwunipbp (ntwgbunttbn) puqiwlndwnubun L Inwlwqu 180000 1 180.0
33691400/594 phupwywl wqnwtynyetp (nbwgblntbp) pugqluyndynubun QL [nwlywigd 341000 10 3410.0
33691400/595 phupwlwt wanwiyniepbp (nbwgblnttn) pugqdwyndynubun q< [nwljugd 290000 2 580.0
33691400/596 phuhwlwl wanwniptn (nbwqbunubp) pwquiwlndunutun 9L nwlywgqd 33800 50 1690.0
33691400/597 phupwlwl wgnuwynipbp (nhwqbunbn) puqiwyndynubitn < nwilyugy 32500 2 65.0
33691400/598 phuhwlwl wgnwyniebp (nbwgblnubp) pwqdwlndwnubun q< Inwlwqy 88000 2 176.0
33691400/599 phuhwlwl wgnwnebp (nbwgbuintbp) puqdwlnduntbun 9< Inwluqy 32500 2 65.0
33691423/502 (wpnpwwnnp wqnunipbn (hbwgbunubn) puquwlndwntibln Qg (Puljuqu 36852 14 515.9
33691423/503 (wpnpwnnp wgnwunebn (nbwgbntbn) pwquwyndynttton Q<L [nwluqy 40935 16 655.0
33691423/504 |wpnpwwnnp wqruniebn (nbwgbntibp) pwqdwyndynttiiz QL [nwiljug 71400 20 1428.0
33691423/505 |wpnpwwnnp wawnyebn (nbwgbntbp) pwqdwlnduntbtin Q<L [nuwjuwgud 91188 18 1641.4
33691423/506 {wpnpwinnp wqrwnyabin (nbwgblnutbn) puqdulnduntbun Q<L (nwlwiqd 76500 24 1836.0
33691423/507 [wpnpwnnp wqrwnabip (nbwgblntn) puqiwlnduntbbn < nwljwqd 121992 24 2927.8
33691423/508 (wpnpwwnnp warwiynipbp (nGwgbnutip) puquwyndynubun q< [nwlwqy 44000 2 88.0
33691423/509 (wpnpuwwnnp warpwnipbp (nbwgbuntbp) puquwyndynubun ac Inwlwuqd 30000 5 150.0
33691423/510 {wpnpwwnnp wanwynyetn (nbwgbintbp) puquwyndynutun QL [nwiljuqd 255000 7 1785.0
33691423/511 (wpnpwnnp wqrwgnyebn (nbwgblnttn) puqdwinduntbn Q<L [nwiljug 140000 7 980.0
33691423/512 (wpnpwnnp wqnubgnipbp (nbwgbunutn) puqdwinduntbn 9< Inwlqd 140000 5 700.0
33691423/513 [wpnpwwnnp wanwniebn (nbwgbtnubn) puqiwlnduntbtin 9L [nwlwgy 85000 3 255.0
33691423/514 wpnpuwinp wgnuniptn (nbwgbunubn) puquwlndwntbun G Inwljuqy 265000 3 795.0
33691423/515 (wpnpwwnnn wanwnipbn (nbwgbunubp) puquwlndunutiun QL g 260000 16 4160.0
33691423/516 [wpnpwnnn wanwnipbp (nhwgbunubp) puquiwlndwnttiun Q< [nwhwqd 189000 24 4536.0
33691423/517 |wpnpwinnp wanubgnyabip (nbwgblnbn) puqdwlnduntbtn < nwlwgd 345000 8 2760.0
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33691423/518 [WpnpwWnnp wanwtynyetn (nbwgblntibp) pwqdwlndynubn 9L nwywqd 85000 3 255.0
33691423/519 Lwpnpwiinnp warnwtyniebin (nbwgbtinubn) pugiwlndwnubun 9L nwlwqd 590000 5 2950.0
33691423/520 Lwpnpuwitinp wanwnpbn (hbwgblnubn) puquwyndwnubn q< [nwiljugqd 93000 3 279.0
33691423/521 [wpnpwinnp wgnwnietn (nbwgbnttin) pugiwyniyntbln G< nuluqgd 150000 4 600.0
33691423/522 (wpnpwitnnp wanuyniplp (nbwgblinubn) pugiwyndwynubun < Inwilugu 627000 20 12540.0
33691423/523 |wpnpwinnp wanwnieptp (nbwgbunlbp) puguwyndynubun q< [nuwljwgd 300000 4 1200.0
33691423/524 wpnpwinnp wanwnipbn (nbwgblnubn) puquwyndwntbto q< nwiljugu 258000 6 1548.0
33691423/525 |wpnpwnnp warpwnipbp (nbwgBunubn) puquwyndynubtn QL [nuljuqu 890000 4 3560.0
33691423/526 |wpnpuwinnp wanwnipbp (nbwgbuntbn) pwquwyndwynttbun G [nwijwqd 445000 5 2225.0
33691423/527 |wpnpwinnp wanwbynypbp (nhwgbunubp) puqiwlndwynttiun G (nulpuqd 225000 1 225.0
33691423/528 |wpnpwnnp warputyniebp (nbwgblntibp) puqiwlndynubun G (nwilyuga 215000 3 645.0
33691423/529 (wpnpwwnnp wqnwiynpbp (nbwgqblnttp) puqiwlndynubun Q< Inwywqd 122298 1 122.3
33691423/530 [wpnpwinnp wanwnyabip (nbwgbtntbn) pugqdwlndwnubtn q< gy 108528 2 271
33691423/531 |wpnpwwnnp wgrputniebp (nbwgbtnlbn) pugquwlyndynubun Q< Inwluqd 1800000 1 1800.0
24311129/501 quiiwquit wiopquitiwlu phuhwlwl Yniebip QL qpuwd 20 1000 20.0
24311129/502 quitiwquit wlopguitiuljwu phuhwlwl Wnyatip Q< gpwdd 90 160 14.4
24311129/503 quitiwquit wuopgquitiuljut phupwlwt Wniyetbp GL gpwy 15000 20 300.0
33691160/573 phupwlwt wanwnieztn (nbwgbuntbin) < hwiwn 45900 80 3672.0
33691160/574 phuhwlwl wqnwlynyatin (nowqblnltp) 9L huin 151200 20 3024.0
33691160/575 phihwlwl wqnwlynipbip (nbwgbtintbp) 9L huwwn 30240 20 604.8
33691160/576 phihwljwl wgnwlyniphp (nbwgbunlbn) < hwun 129600 20 2592.0
33691160/577 phupwljwu wqnuunipbp (nbwgbunubp) 9L hwn 45900 140 6426.0
33691160/578 phubwlwl wqnwljnyabn (nbwgblnltp) < hwin 22100 100 2210.0
33691160/579 phihwlwu wqnuwunpbp (nbwgblnlbp) 9L hwwn 22000 10 220.0
33691160/580 phupwywl wanwunphp (nbwgbinubn) 9L huwtn 21600 100 2160.0
33691160/583 phipwlul wgnwiynyabip (nbiwgblntbp) 4L hwn 12996 15 194.9
33691160/584 phuhwlwt wanutynielip (nbwgbtinttn) 9L hwwn 340 30 10.2
33691160/585 phipwlwt worpuwiynabp (nbwgqblwnttip) G< hwin 44700 40 1788.0
33691160/586 phuhwlwl wqrulynyatip (nbwgbtntbn QL huwn 76400 40 3056.0
33691160/587 phupwlwt wqnwtynyetip (nbwgbunubn) G huwn 44500 20 890.0
33691160/588 phuhwlwy wanwlyniphip (nbwgbtnlbn) 9 huwn 39200 10 392.0
33691160/589 phupwlwl wqnwiynyetp (nbwgbunlbin) G huwn 42480 1 42.5
33691160/590 phuhwlwl wanwlyniptp (nbwgbuntbp) QL hwwn 248400 2 496.8
33691160/591 phupwlwy wanwiynyatin (nbwgbtnlbp) q< huwin 25920 30 777.6
33691160/592 phihwlwl wqnwlynyebn (ntiwgbtinttp) 9L hwwn 51840 3 155.5
33691160/594 phupwlwl wgnwlniplp (nbwgblnubnp) 9< hwwn 70000 2 140.0
33691160/595 phihwlwl wqnuwiynyabip (nbiwgbntbip) q< hwin 762300 2 1524.6
33691160/596 phuhwljwl wgnwnpbp (nbwgbunubp) QL hwin 59200 1 59.2
33691160/598 phipwlywl wgruwinetp (nbwgblnttip) < hwin 93000 45 4185.0
33691160/599 phupwlw wanwiymptp (nbwgblntbng L hwwn 54000 8 432.0
33691160/600 phuhwlw wqnwlynyabip (nbiwgblntibp) qL huwiwn 27000 156 4212.0
33691160/601 Uhwlwb wanwtynipbp (nbwgblwntbip) G hwwn 642000 2 1284.0
33691160/602 phupwlwt wqnuwynyetp (niwgbunttn) 9L hwin 184800 5 924.0
33691160/603 phuhwlwl wqnwlynipbip (nbwgblnlbn) 9L hwn 184800 5 924.0
33691160/604 phihwlwl wgnwunipbp (nbwgbnubn) < hwn 47345 30 1420.4
33691160/605 phupwlwl wgnwlyniplp (nbwqblntn) q< hwin 51561 25 1289.0
33691160/606 phupwywl wqnuiyniplp (nbwgblubbn) q< huwtn 51561 10 515.6
33691160/607 phupwlwl wgnwlynpbp (nhwgbunubp) 9< hwin 212290 9 1910.6
33691160/608 phupwlwl wanwunyebp (ntwqbnubn) < huwn 12155 2 24.3
33691160/609 phupwlwl wanuwiyniplip (nbwgbunbibin) 9L hwwn 67150 2 134.3
33691400/600 phihwywu wanwiynetp (nbwgbntbp) puquwlyndynubun Q< Inuljuqud 162000 15 2430.0
33691400/601 phuhwlwl wanwynietn (hBwgtlnubn) puqiwlyndyntibun G (wljuugl 97200 15 1458.0
33691400/602 phuhwywl wanuiynipbn (nbwgbtintbn) puquwlnduyntbun q< (nwlwqy 486000 15 7290.0
33691400/603 phuhwlw wanwiynyebip (ntwgbtnubn puquwlndwntbtn < Inwluqy 270000 18 4860.0
33691400/604 phuhwlwu wanwiynetin (nbwgbtinubn) puquwlndwntibun q< Inwlwuqy 129600 12 1555.2
33691400/607 phthwlwl warnwtynyabin (nbwgbunttn) puqdulyndunttn q< (nwlugd 25000 1 25.0
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33691400/608 phupwlwt warwlynipbp (nbwgbinlbn) pugqdwlndynubn Q< Inwlwqd 53040 1 53.0

33691400/609 phupwlwt wgnuwtynipbp (nbwgbuntbp) puqiwyndyntbtin q< nwiljugy 53040 1 53.0

33691400/610 phipwlwl wonwynipbp (nbwgbunlbin) puqiwndynubtn Q< Inwlwqy 53040 1 53.0

33691400/611 phuhwlwl wanwiynyebn (nbwgbtnttp) puqiwlniyntbn 4 nwljwad 50000 4 200.0
33691400/612 phihwlwl wanwiynyebp (nbwgbuintbp) puqdwlnduntbun 9< Inwlwqu 36000 4 144.0
33691400/613 phipwlwl wanwiynebp (nbwgblntibp) puqiwynduyntbn qg Inwlwqu 387000 2 774.0
33691400/614 phuhwlwi wanwtynyetip (nbwgbtntbn) pugdwlndwntibtn gL [nuwlwqd 78000 4 312.0
33691400/615 phuhwlwt wanwtynyebp (nbwgblnubn) puqiwlyndyntbln G [nuwluqd 78000 4 312.0
33691400/616 phupwywl wanwynieptp (nbwgbtnbbp) pugquwyndynubun QL nwljwgd 114000 4 456.0
33691400/617 phuhwlw wanwlyniptn (nbwqbunubp) pwqdwlyndynutun RIS [nwlysqu 114000 4 456.0
33691400/618 phupww wanwmipbp (nbwgblnubp) pugquiwyndynubin QL nwjugd 240000 3 720.0
33691400/619 phihwlwl wanwinipbn (nbwgbunutn) puqdwlndyntbtn QL Inwljwgd 600000 1 600.0
33691400/620 phuhwlwl wqnuwiynyebp (nbwgblntibp) pugqduyndynubun G Inwljugu 270000 3 810.0
33691400/621 phuhwlwy wgnwunypbp (nhwgbtntbp) pugdulyndyntbun Q< (gl 210000 1 210.0
33691400/622 phipwywt wonwiynebp (nbwgbtinbibp) pugdwyndynubun Q<L (nwbjugu 16500 1 16.5

33691400/623 phupwlwt wanwynipbp (nbwgbuntbn) puquwyndynubtn 9< [nwlwgd 51000 1 51.0

33691400/624 phupwyw wanwnebn (nbwgbunbn) puquwyndynutin < Inwlqy 73920 3 221.8
33691400/625 phihwywl wqnwiyniebp (nbwgbunubp) puqdwlnduynubun q< \nwljuqy 85000 1 85.0

33691410/503 phupwlw wanwiynptp (nbwgblntbin) hnny 9L {hwnp 19900 7 139.3
33691410/504 phuhwywit wanuwitynyatip (nbwgbnubn) hanniy G {hinp 1780 10 17.8

33691410/505 phuhwlwl wanwlynyabip (nbwgbtintibp) hbnnwy Q< {hinp 2500 2 5.0

33691410/506 phihwluiu wqnulynipbip (nbwgbtinlin) htnnwy G< {hinp 3500 1 3.5

33691410/508 phuhwlwt wgnwlyniptip (nbwgbuwnubp) hinniy < hinp 1698 10 17.0

33691160/501 phihwlwl wqnwljniptip (nbwgblinlbn) QL hwin 170100 1 170.1

33691160/502 phuhwlwl wanwlynipbp (nbwqbtnlbn) QL hwin 105900 7 741.3
33691160/503 phupwlw wnwbynebp (nhwgbunubp) < hwn 708000 2 1416.0
33691160/504 phupwlwt wanulynipbp (nbwgblnutp) L hwwn 147800 2 295.6
33691160/610 phipwlwl wgnuiynpbp (nbwgbunubp) 9L hwwn 162000 5 810.0
33691160/611 phihwlwu wanwunyebp (nbwgbunubp) QL huwn 205400 3 616.2
33691160/612 phupwlwl wgnwnyebip (nbwgbiunubp) Q<L hwn 141000 3 423.0
33691160/613 phipwlwt wgnwiynyatip (nbiwgbuntbn) QL huwn 18000 4 72.0

33691160/614 phipwlwt wgnuwwynebp (nbwgbnttip) G huin 220000 12 2640.0
33691160/615 phuhwlwi wanwlynyetip (nbwgblnubn) <L hwn 39000 40 1560.0
33691160/616 phuhwljuit wqnwlniptip (nbwgbtnubp) Q<L huwin 225000 4 900.0
33691160/617 phibwlwl wqnwlyniphip (nbwgbtinlbn) < hwin 36000 20 720.0
33691160/618 phuhwlwl wqnwljnyptin (nbwgktinlbp) Q< hwin 137700 1 137.7
33691160/619 dhwlywl wqnuiynipbp (nbwgblnubp) GL hwwn 60000 S 180.0
33691160/620 phupwlwl wgnwbynipbp (nbwgblnubp) < hwin 60000 3 180.0
33691160/621 phdhwlwl wgnwuniebp (nbwgbunubp) < hwin 495000 3 1485.0
33691160/622 phipwlut wanutyniebp (nbwgblnbbn) qc huwin 480000 2 960.0
33691160/623 phupwlwt wgnuiymptp (nbwgblntbip) GL hwwn 415000 2 830.0
33691160/624 phupwyw wanpwiynebp (nbwgblnltip) < huwwn 414000 2 828.0
33691160/625 phupwyw wanwiynipbp (nbwgblnttip) q< hwn 414000 2 828.0
33691160/626 phuhwlw wgnwlynyetip (nbwgblnubp) G< hwn 415000 2 830.0
33691160/627 phubuwljwl wanwljnyetp {nbwgbluwnubp) L hwn 485000 2 970.0
33691160/628 phipwlwl wqnuyniplip (niwgblnlbn) 9L hwin 415000 2 830.0
33691160/629 phuhulwl wgnuilyniebp (nbwgblunltin) q< huwin 415000 2 830.0
33691160/630 Uhuiljul wanuijnyptp (nbwgbwnitin) < huwin 415000 2 830.0
33691160/631 phupwywt wgnuwynpbp (nbwgblnubip) a< hwwn 525000 2 1050.0
33691160/632 phuhwluwt wgnwlynyatip (nbughtinttin) qc huwtn 485000 2 970.0
33691160/633 phuhuilul wqnwlynipbn (nbwgblnlbn) q< hwtn 415000 2 830.0
33691160/634 phuhwlwl wqnwlynipbip (nbwgblnubn) <L hun 415000 2 830.0
33691160/635 phuhuiljuils wqnwlynipbn (nbwgbtunltn) a<l hwin 445000 2 890.0
33691160/636 phipwlwl wgnwlymptp (nbwgbunubin QL hwn 415000 2 830.0
33691160/637 phihuluts wgnuilynipbp (nbwgblunltin) q< hwn 54000 8 432.0
33691160/638 phuhwlwl wanwljnystp (nbwgblinlibn) L hwin 165600 2 331.2
33691160/639 phuhwlwl wgnubynpbp (nbwgblnubp) QL hwin 13000 8 104.0
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33691160/640 phupwlwl wgnwnplp (nbwgbunubp) < hwtn 66000 2 132.0
33691160/641 phupwlwt wgrwiynebp (nbwgblunutip) < hwin 22500 12 270.0
33691160/642 phupwywit wqnwynietip (nbwgtnutip) L hwin 55000 2 110.0
33691160/643 phihwlwl wqnwiynyebip (ntwgbtnbibip) Q< hwin 152200 7 1065.4
33691160/644 phihwlwl wgrnwtynyebip (nhwgbiintbin) 9L hwwn 490000 1 490.0
33691160/645 phuhwywl wanwyniplip (nbwgbuntibin) < hwwn 410000 1 410.0
33691160/646 phuhwlwl wnwiynyetip (nbwgbtntbin) g< hwn 410000 1 410.0
33691160/647 phuhwlwl wgnwiynyatip (nbiwgbtintibn 4L hwn 410000 1 410.0
33691160/648 phuhwlwl wanwunptp (ntiwgbunubn) G hwwn 410000 1 410.0
33691160/649 phuhwljwit wqnuwnyebp (nbwgbtintibpn) q< hwin 410000 1 410.0
33691160/650 phupwlwt wonwymptp (nbwgbinlbp) GL huwn 15000 12 180.0
33691160/651 phuhwlwl wqnwlynyatip (nbwgbuntibn) GL hwwn 15000 12 180.0
33691160/652 phuhwlwu wgnwnietip (nbwgblnubp) G< hwwn 120000 3 360.0
33691160/654 phuhwlwl wanwlyniptip (nbwgbuntbn) Q< hwin 18400 6 110.4
33691160/655 phdhwlw wgnwunebp (nbwgblnbn) 9 huwin 30000 3 90.0
33691160/663 phuhwlwl wqnwynyetip (nbwqbnlbn) G hwn 360000 6 2160.0
33691160/664 phuhwlwl wgnutynyetip (ntwgblnubn) G hwn 86600 1 86.6
33691160/665 phuipwlul wqnulynyetip (nbwgblnttin) QL hwin 90000 1 90.0
33691162/501 jwpnpwwnnp warwiymetp (nbwgbntibing < hwin 143100 3 429.3
33691162/502 |wpnpwwnnp wanwtnipbp (nbwgbbnlbn) < hwwn 114000 3 342.0
33691162/503 |wpnpuwwnnp worwbyngetp (nbwgbtntibp) < hwin 124200 3 372.6
33691162/504 (wpnpwnnp wgrwiyniphp (nbwgblntbip) < hwwn 435000 10 4350.0
33691162/505 |wpnpwinnp wgnwunehp (nbwgblnubn) QL hwwn 183600 10 1836.0
33691162/506 (wpnpwnnp warwyniptp (nbwgblntbp) < hwiwn 42600 3 127.8
33691162/507 {wpnpwinnp wgnwniphn (nbwgbuntbip) <L hwwn 39200 4 156.8
33691162/508 {wpnpwunnp warwbynipbp (nbwgbunlbp) Q< hwwn 684000 10 6840.0
33691162/509 (wpnpwinnp wanwlynipbp (nhwgbuwnlbp) QL hun 190400 4 761.6
33691162/510 {wpnpwinnp warpwbyniphbp (nbwgblnubp) GL hwwn 699000 3 2097.0
33691162/511 \wpnpwinnp wanwuniehp (nbwgbUnubp) < hwn 699000 3 2097.0
33691162/512 (wpnpwwnnp wgnwnipbp (nbwgbunubp) < huwin 300000 3 900.0
33691162/513 {wpnpwwnnp wgnwnebp (nbwgbinubn) <L huwin 199800 10 1998.0
33691162/514 |wpnpwnnp waruwuniehp (nbwgbnubng < hwin 197100 2 394.2
33691162/515 |wpnpwnnp wanutyniebp (nbwgbuntbp) 9L hwn 174800 1 174.8
33691162/516 |wipnpwnnp wgnutynysbip (nbwgbiintbn) < hwin 143100 6 858.6
33691162/517 |wpnpwwnnp wgnutnipbp (nbwgbunlbp) 9L hwn 206600 3 619.8
33691162/518 |wpnpwwnnp wgnwnysbp (nbwgbunlbn) < hwwn 108350 8 866.8
33691162/519 {wpnpwinnp wanwlniptp (nbwgbuntbin) 9L hwwn 180900 4 723.6
33691162/520 (wpnpuwnnp warwyniebp (nhwgblnlbp) L hwwn 52000 2 104.0
33691162/521 |wpnpwinnp wanwuniehp (nbwgbunubp) G hwwn 330000 2 660.0
33691162/522 {wpnpwinnp wgnuwbyniphp (nhwgbnubip) < huwn 190400 6 1142.4
33691162/523 ({wpnpwinnp wgnuwinplp (nbwgbiunubp) GL huwtn 126000 6 756.0
33691162/524 |wpnpwnnp wanuwiynigtp (nbwgblnltip) <L huwin 193800 8 1550.4
33691162/525 jwpnpwwnnp wqnuwiympebp (nbwgbUwnutip) 9L hwtn 206600 6 1239.6
33691162/526 (wpnpwwnp wqnwnipbp (nbwgblnubp) 9L hwtn 130900 6 785.4
33691162/527 (wpnpwwnp wonwiyngebn (nbwgqblntbipg < hwin 197100 5 985.5
33691162/528 |wpnpwwninp wanwiympebp (nbwgblintbp) 9< hwin 189000 3 567.0
33691162/529 |wpnpwwnp wanwiynyebp (nbwgbtntbip) < hwwn 143100 10 1431.0
33691162/530 |wpnpuwwnnp worwbympbp (nbwgblinlbip) < hwwn 128900 2 257.8
33691162/531 |wpnpwinnp wgnwunipbp (nbwgblnbn) L hwwn 345000 10 3450.0
33691162/532 {wpnpwwnnp wanwlyniphp (nbwgblntbp) QL hwin 136400 10 1364.0
33691162/533 {wpnpuwwnnp wgnuwniehp (nbwgbunubp) QL hwwn 124200 10 1242.0
33691162/534 |wpnpnnp wgrwbnipbp (nbwgbunlbp) QL hwin 155900 10 1559.0
33691162/535 {wphpwitnnp wqnwunyehp (nbwgblnubn) QL huwwn 138000 16 2208.0
33691162/536 jwpnpwinnp wnuwiyniphp (nbwgbunubip) QL hiuwn 39200 10 392.0
33691162/537 {wpnpwinnp wgnuynabp (nbwgbunubp) q< hwn 540000 2 1080.0
33691162/538 |{wpnpwinnp wanunipbip (nbwgbunbp) LS hun 141800 2 283.6
33691162/539 {wpnpwinnp wanwniphp (nbwgblnutin) L hwn 145000 8 1160.0
33691162/540 |wpnpuwinnp wqnwtynysbp (nbwgbiunubin} L hwwn 111400 8 891.2
33691162/541 jwpnpwwnnp wqnwiynpbp (nbwgblntitin) 9< hwin 187700 8 1501.6
33691162/542 wpnpuwwnnp wqrwiynebp (nbwgblntibip) < hwin 147200 8 1177.6
33691162/543 {wpnpwnnp wanwlyniphp (nbwgblntbin) qL hwiwn 144000 8 1152.0
33691162/544 jwpnpuwnnp worpwbyniphp (nbwgblnlbp) Q< hwun 168000 5 840.0
33691162/545 \wpnpwinnp wanwbynipbn (nbwgbtntbp) QL hwwn 157900 5 789.5
33691162/546 |wpnpwinnp wgnwnyebp (nbwgbunubp) < huwwn 126000 3 378.0
33691162/547 [wpnpwitnnp wqnwniabp (nbwgblnubn) QL huwn 111000 12 1332.0
33691162/573 jwpnpwnp wqrwiynpbp (nbwgblnttip) QL hwwn 178200 5 891.0
33691162/574 |wpnpwnnp wqrpuiynpbp (nbwgblunttip) 9L hwin 150000 8 1200.0
33691162/575 jwpnpuwwnnp wgruutymetbp (nbwgbtntibip) <L hwin 159900 2 319.8
33691162/590 |wpnpwnnp warwiynebp (nbwgblnttip) QL hwwn 58000 3 174.0
33691162/654 |wpnpwinnp warwtynietp (nbwgblnltip) L hwn 64000 3 192.0
33691162/666 |wpnpwinnp wanwiyniepbp (nbwgblntbp) < huwn 155900 3 467.7
33691162/713 (wpnpwinnp wanwiyniphp (nbwgblwntbp) < huwiwn 148500 3 445.5
33691400/501 phipwlwl wanunyebp (nhwgbunubn) puqiwlndwyntibiun g Inwlwgd 174000 4 696.0
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33691400/502 phuhwlwl wanwniplp (nbwgblntbn) pwqiwlnduntbtn 9< Inwlwqu 85000 3 255.0
33691400/503 phihwlwl warnuynebn (nbwgbntbn) puqduwlndynubin q< Inwlwqu 195000 2 390.0
33691420/501 |wpnpwitinp wgnwnyetn (nbwgbntbn) pugqdwindwnubn < Inwlwqd 525000 8 4200.0
33691420/502 (wpnpwnnp wanwnptn (nbwgblntbn) pwqdwyndwntbun q< (nwluqu 525000 4 2100.0
33691420/503 |wpnpwinnp warwbnptn (nbwgbunlbn) puquwyndynubn qc (Pwiljugd 148700 460 68402.0
33691420/504 |wpnpwnnp wanwbnebp (nbwgbtnubp) puquwndynubiin G (nuwljwgy 46080 400 18432.0
33691420/505 |Jwpenpwinnp warutnipbin (nbwgbunubp) puqiwndwntbiun Qg [Nl 240000 5 1200.0
33691420/506 [WRRWWNND wanwinpln (nEwgbuntibp) pugdwlndynubun G [nwlpugqd 100000 1 100.0
33691420/507 |wpnpwnnp wanwiyniesbp (nbwgbtntip) pugdwlndwynubun 9< nwlgy 114000 1 114.0
33691420/508 |wpnpwwnnp wanwiynebp (nbwgbtntbin) puquwyndynubun Q< Inwywqu 210000 8 1680.0
33691420/509 |wpnpwnnp wanwiynetn (nbwgbtntibp) pugquwyndynubun 9< Inwluqy 240000 7 1680.0
33691420/510 wpnpwwnnp wanwnipbp (nbwgblnlbn) puguwyndynubun q< nwiljugd 66000 1 66.0
33691420/511 |wpnpnnp wonwniptp (nbwgbunlbn) puquwlndwnubin G< Inuilyugd 416667 3 1250.0
33691420/512 (wpnpwinnp wanuwbynipbp (nlwgbunubin) puquiwnuwnttiun Q<L [nwluigd 416667 3 1250.0
33691420/513 (wpnpwnnp wanwyniezbp (nbwgbUntiip) puqiwlyndunubun gL (gl 288000 1 288.0
33691420/514 [wpnpwnp wqnwniebp (nbwgbtntbn) puquwlnduntbn 9< Inwlwqy 61200 5 306.0
33691420/515 (wpnpwwnp worwbynetip (nbwgbtnlbp) pugquwyndynubun < [nwlwqy 61200 5 306.0
33691420/516 (wpnpwwnnp worptympbp (nbwgblnlbn) pugquwlndwnubun 9L [nwlwqu 61200 5 306.0
33691420/517 {wpnpwinnp wanwynipbn (nbwgbunubn) puquwlndwnttiun Q< [nwljug 36800 5 184.0
33691420/518 |wpnpwwnnp wgnuwnyabn (nbwgbintbn) pwqdwlndyntbn Q<L nwlugd 540000 2 1080.0
33691420/520 |wpnpwnnp wanwyniepbip (nbwgbtntibip) pugqdulndynubun q< Inwlwuqy 26000 5 130.0
33691420/521 (wpnpwwnnp wanwtynebp (nbwgbtnbibip) puguwlndynubun < Inwywqy 397500 B 1590.0
33691420/522 (wpnpwiinp wanwnyatin (nkwgbtnubn) pugquwlndwnubun q< Inwlwqu 360000 1 360.0
33691420/706 wpnpiunnp warpwniepbp (nbwgblnlbn) pugquwyndynubun 9L [nwljuqu 330400 1 330.4
33141211/501 pdluljwt wy gnpdhpubip — wwpwawtbn q< huwin 582 12 7.0
33141223/506 pdaluluwl wy) gnpshpubin — Wwpwgwbp pugqdwlniuntbn G (nwluqd 51000 15 765.0
33141223/507 pdplwljwt wy gnpdhplibip - wwpwqubin puqwyndwnubtn Q<L gl 25999.5 4 103.998
33191310/503 thnp&wunpubp Q< hwn 116.667 12000 1400.0
33211140/501 Pphnniphu Bilirubin /Curthwtnip — ninhn phihnniphth npngdwt ac hutn 20.28 6000 1217
phup-hwywpwdnt
33211150/501 Uhquigjnie Urea-Col/Uhquityniph npnadwt phup-hwwidwpwdnt < huwwn 21.3 5000 106.5
33211160/501 Uptuinfiubl CREA-Col /Uptuanhubi npnzdusts plup- a< huwn 9.57 5000 47.9
hwiwpwdne
33211230/501 (EAIE-HNLE PR CARBOR AU ppvliol g 9¢ hutn 109.375 12480 1365.0
hwdwpwdny
Zhwywwnhin B Jhpnwh wnhgbith npuwluljwt hwpntwpbpdw
05 8.0
33211320/502 N M 9< hwn 1 9600 100
33211321/501 <usnfun € dhrimupy b BUR npulutils o rwpliells: | g hwin 97.88 9600 939.6
phiup-hwywpwdnt
33211321/502 Chwunhin C Uhpntuh WowhgBUh npwUuyw hujmnbwpbndwl ac huan 105.36 8000 842.9
bup-hwywpwdny
33691160/666 phupwywu wanwiynetp (nbwgblnttip) QL huitn 12.6 2000 25.2
33691160/667 phupwyw wanwiymptp (nbwgbnttip) q< hwwn 18.0 30000 540.0
33691160/668 phuhwlwi wanwlynystip (nbwgblinlbnp) QL hwn 178.2 1000 178.2
33691160/669 phuhwlwl wgnulynipbp (nbwgbunlbn) QL huwn 18.0 5000 90.0
33691160/670 phupwlwl wgnwlyniphp (nbwgblntbng 9< hwtn 26.4 1400 37.0
33691160/672 phihwlwu wgnwnipbp (nbwgbunubn) 9L hwin 7.536 3000 22.6
33691160/673 phupwlwy wgnwynipbp (nbwgblnubp) 9L hwn 8.76 2000 17.5
33691160/675 phupwljwt wanwlynipbip (nbwgbtintbn) QL hwwn 33 800 26.4
33691160/676 phipwlwl warwynipbp (nbwgblnubp) S< hwwn 26.4 1400 37.0
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33691160/677 phihwlwl wqnutynyabip (nbwgblnubp) < hwwn 26.4 1000 26.4
33691160/678 phupwlwl wqnwlynypbn (nbwgbtintbp) GL hwin 19.68 20000 393.6
33691160/679 phuhwlwt wgnwuniptp (nbwgblnbn) 9< huwtn 83.28 15000 1249.2
33691160/680 phihwlwl wanwlynyetip (nbwgbtinlibn) q< hwin 345 192 66.2
33691160/681 phupwlw wgnumiphp (nbwgbuwnubp) Q< hwin 345 192 66.2
33691160/682 phuhuwlwl wanwlynipbp (nbwgbtinltn) < hwiwn 393.75 960 378.0
33691160/683 phupwywb wqnwljnipbip (nbwgbunutp) 9L hwin 393.75 960 378.0
33691162/714 |wpnpwwnnp wonwniehbp (nbwgblnlbip) Q< hwin 155.13 9600 1489.2
33691162/715 (wpnpuwinnp warwniphp (nbwgbuwntbin) Q< hwwn 1120 1152 1290.2
33691162/716 {wpnpinnp wonwbnigebp (nbwgbtinlbp) < hwin 640 480 307.2
33691162/717 jwpnpwwnnp wanwnipbp (nbwgblntbn) 9L hwwn 640 480 307.2
33691162/718 {wpnpwinnp wonuwbynetbp (nbwgbunubp) S< hwin 640 480 307.2
33691162/719 ({wpnpwinnp wgnwnyebp (nbwgbiunbip) GL hwwn 153.75 5760 885.6
33691162/720 (wpnpwinnp wanwynipbp (nbwgbuinubp) < hwin 69.36 8000 554.9
33691162/721 |wpnpuwnnp wqnwiynyebp (nbwgbunubp) Q<L hwn 405.6 600 243.4
33691162/722 jwpnpwwnnp wgrutynatip (nBwgqbunubip) G huwn 118 600 70.8
33691162/723 jwpnpwnnp wanuwiynabp (nbwgbtinutip) 9L huwitn 33.84 1800 60.9
33691162/724 (wpnpwinnp wqnwbnipbip (nbwghbtintbn) 9L hwtn 1000 60 60.0
33691420/707 wpnpwinnp wanwiynyetip (nbwgbklnbibp) pugiwyndynubn q< nwiljugd 74000 25 1850.0
33691420/708 [wpnpwwninp wqnwnyatin (nEwgblntbn) pugquwyndwnubn < [nwlwgd 62000 15 930.0
33691420/709 (wpnpwunnp warwbgnipbp (nbwgblntbin) pugquwyndynubun 9L Inwljwgd 48000 150 7200.0
24311360/502 twwnppnwh pinphwun qL Yhingpud 2 0.0
24321650/501 qihgtinht 9l Uhngpud 0.1 0.0
33141211/524 pdolywljw wy gnpdhplbip — wwpwquibp Q< huitn 10 0.0
33141223/508 pdoluluwls wy) gnpdhputin — Wwpwqwbp puqdwlnduntibn Q< (g 2 0.0
33611430/501 Ywihnuih jnnhn r05¢a02, s01xa04, v03ab21 9L Ypngpwd 3 0.0
33691134/502 Luwihnwih pinppn al2ba01, b05xa01 L hingpud 0.3 0.0
33691160/686 phuhwljwt wgnwunipbp (nbwgblnubp) Q<L hwin 1 0.0
33691160/687 phupwljwt wgnuunipbp (nbwgblnubp) 9L hwtn 1 0.0
33691160/688 phupwlwl wgnwiynielip (nbwgtiintbn) <L hwwn 1 0.0
33691160/689 phupwywl wgpuunehp (nbwgbinubn) q< hwn 1 0.0
33691160/690 phupwlwl wgnuwynebp (nbwgbnttip) QL hwwn 1 0.0
33691162/725 {wpnpwinnp wgnwupniphp (nbwgbunubn) G< hwwn 1 0.0
33691162/726 (wpnpwnnp wgnuiyniabip (nbwgblntbp) QL huwwn 1 0.0
33691162/727 |wpnpwnnp wanutynipbp (nbwgbunubp) QL hwn 2 0.0
33691162/728 |wpnpwwnnp wanwtynyahp (nbwgbtntbp) L hwwn 1 0.0
33691162/729 |wpnpwwinp wanuwtympetp (nbwgbunltp) Q<L hwwn 2 0.0
33691162/730 jwpnpwinnp wanwtynatip (nbwgblnlibp) QL hwwn 1 0.0
33691162/731 |wpnpuinnp wgnwnipbp (nbwgbUntbn) < hwtn 1 0.0
33691162/732 jwpnpwwnnp wgnwlynietp (nbwgblnltin) < hwiwn 1 0.0
33691162/733 {wphpwinnp wanwuniphp (nBwgbtnbn) QL hwwn 2 0.0
33691162/734 wpnpwnnp wonwlynigebp (nbwgblnlbp) L hwwn 1 0.0
33691162/735 jwpnpuinnp wanwnipbp (nbwgblnubp) QL huwwn 4 0.0
33691162/736 {wpnpuwnnp warwyniebp (nbwgGlntbp) QL hwwn 1 0.0
33691162/737 jwpnpwnnp warwbnebp (nbwgbunubp) QL huwin 1 0.0
33691162/738 {wpnpwinnp wanwuniehp (nbwgblnbn) q<L hwwn 1 0.0
33691162/739 |Jwpnpwinnp wgnuwniplp (nbwgbunubip) < hiwn 1 0.0
33691162/740 |wpnpwinnp wgnuwiyniphp (nbwgbuwnubip) L huwitn 2 0.0
33691162/741 [wpnpwnnp wqnuwiynabp (nGwgblnutip) <L hwn 2 0.0
33691162/742 |wpnpwnnp wqrwympbp (nbwgblnbibip) G huin 1 0.0
33691162/743 jwpnpwnnp wgnwiymetp (nbwgblnbibing 9L hwwn 1 0.0
33691162/744 wpnpwinnp wanwiynetp (nbwgblntibip) < hwn 1 0.0
33691162/745 wpnpuwwnp wanwiyniptp (nbwgbuntibin) L hwn 1 0.0
33691162/746 jwpnpuwnnp wonwiyniebp (nhwgblntibin) L hww 1 0.0
33691162/747 jwpnpwnnp worwbniphbp (nbwgblntbp) QL hwn 3 0.0
33691162/748 (wpnpwwnnp wgnwbniphbp (nlwgBlntbp) L hwun 1 0.0
33691162/749 |wpnpwnnp wgnuyniebp (nbwgblnubn) QL hwuwn 1 0.0
33691162/750 jwpnpwinnp wgnwitynysbp (nbwgbuwnubp) QL huin 1 0.0
33691162/751 |wpnpwwnnp wgrpuiynyabp (nbwgbUnutip) G hwn 1 0.0
33691162/752 |wpnpwnnp wautynistip (nbwgblntitin) Q< huwwn 1 0.0
33691162/753 jwpnpwnnp wgrputynebp (nbwgbluntitip) < hwin 2 0.0
33691162/754 wpnpwinnp wanuwiyniptp (nbwgbtnttip) < hwwn 2 0.0
33691162/755 |wpnpwinnp wgnwiymetp (nbwgbunttip) <L hwin 2 0.0
33691162/756 jwpnpwinnp wanwtyniebp (nbwgbnlbin) QL hwiwn 1 0.0
33691162/759 |wpnpuinnp wanwuniphbp (nbwgbtntbp) <L hwwn 1 0.0
33691162/760 jwpnpwinnp wanwuniehp (nbwgblnbn) L hwn 1 0.0
33691162/761 |wpnpwinnp wgnwuniehbp (nbwgblnubn) < hwwn 1 0.0
33691162/762 jwpnpuitnnp wanwgnebp (nbwgbnlbp) < hwwn 1 0.0
33691162/763 Jwpnpwunnp wanwniphbp (nhwgbunubip) QL hwiwn 1 0.0
33691162/764 \wpnpwinnp wgnwuniphp (nbwgbunubn) 9< hwin 2 0.0
33691162/766 jwpnpwinnp wgnwnebp (nbwgbunubp) QL hwwn 1 0.0
33691162/767 {wpnpwinnp wgnwunebp (nbwgblnubn) L huwwn 1 0.0
33691162/768 wpnpwinnp wanwbynyebp (nbwgblnbn) 9< huwiwn 1 0.0
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33691162/769 |wpnpwwnnp wqnwitynyebp (nbwgbtintbp) QL huwwn 1 0.0
33691162/770 |wpnpwwnp wgnwynyshp (nbwgbunubp) < hwn 1 0.0
33691162/771 |wpnpwinp wanuwiynpbp (nbwgblntibin) QL huun 2 0.0
33691162/772 |wpnpwinnp wanwnpbp (nbwgbunubp) Q<L huwwn 3 0.0
33691162/773 Jwpnpuwnnp wgnwnyebp (nbwgbitntbp) QL hwtn 2 0.0
33691162/774 |wpnpwinnp wgrnwgnyahbip (nEwgbtiinubp) 9L hwtn 1 0.0
33691162/775 |wipnpuwiinnp wgnwlyniebp (nbwgbtnbbn) 9< hwtn 1 0.0
33691400/504 phuhwywl wanwuniptp (nbwagbunubn) pugiwyndynubun 9 [nwiljqd 1 0.0
33691410/509 phuhwlwy wonwyynipkp (nbwgblwntbp) hbnny < |htnp 0.5 0.0
33691410/510 phupwlwl wgnwlniebp (nbwgbunubn) hbnnly 9L thinp 0.1 0.0
33691410/51 phuhwlwl wgnuitynyebp (nbwgblintbp) hannly 4L lhinp 20 0.0
33691410/512 phihwlw wgnwiniphp (nbwgbtnubp) hbnniy 9L |htnp 20 0.0
33691410/513 phuhwlwt wgnwlynyetip (nbwqblntbp) hbnnly 9L {htnp 1 0.0
33691411/503 phdpwlwt wanwyniyebp (nbwgblnlbin) thngh Yud gputngubip 9< Ypingpwd 0.5 0.0
33691411/504 phupwljwu wonwinyebp (nbwgblnubn) thngh Ywd gpwunyubp 9< Yhingpuwd 0.5 0.0
33691411/505 phupwlwt wonwbnyetp (nbwgblnlbp) thngh Yuwd gpwtngubp 9 Yhingpwd 0.5 0.0
33691411/506 phupwlwt wanwbniebp (nbwgblnutbp) tngh Yud gputngubp 9 Yhngpwd 2 0.0
33691411/507 phihwlwl woanuwyniptip (nbwgbuntbip) tngh Yud gputngubp < Yhingpud 2 0.0
33691411/508 phipwlwu wqnwunipbp (nbwgbUnubp) tnzh Yud gpuunyubp Q< Uhingpwd 3 0.0
33691411/509 phdhwlwu wanwnipbn (nbwgbunubn) tngh Yud gpuunyubn < Uhingpwd 30 0.0
33691411/510 phupwlwl wgnwtynyebp (nbwgbunbip) tngh Yud gpungubp < bhingpwd 40 0.0
33691420/710 [wpnpwwnnp warwtynebn (nbwgbtiiubn) pugdwyndunubun q< nwljuqu 1 0.0
33691420/711 wpnpwwnnp warwiyngabn (nbwgbtiiubn) pwqdwyndynubun 9< Inwlwqy 1 0.0
33691420/712 (wpnpuwiwnnp wgrnwtynyebn (nbwgbtintibn) pwgdwiyndwnubun < [nwljwgd 1 0.0
33691420/713 Lwipnpwwnnp warwtynipbp (nbwgblnlibin) pugquwyndynubun < Inwljigu 1 0.0
33691420/714 |wpnpwitnnp wqnwuniebn (ntwgbnubn) puqiwyndwnubun L Inwlwgy 30 0.0
33691420/715 |wpnpwinnp wanwuniebn (nbwgbinubp) puqiwyndwnubun < Inwiljwigy 4 0.0
33691846/501 Yhuinpnuwppeny hdnuwpent < Yhngpuwd 0.5 0.0
33141211/534 pdolyuwljuit wy) gnpdhplbip ~ wwpwgwubp QL hww 5700 800 4560.0
33141211/535 pdalywlwt wy gnpéhpubn — wwpwquibp < hwwn 5700 800 4560.0
33141211/541 pcolwiljuit wy gnpdhpubip — wwpwquiutip 9L hwwn 5700 550 3135.0
33691160/692 phuhwlwl wqnwnyehip (nbwgblnutn) 9L huwin 600 120 72.0
33691160/693 phuhwlwl wgnwunebp (ntwgbtinttbn) QL hwwn 49800 5 249.0
33691160/694 phihwlwl wanwunysbp (nbwgbuwnutp) QL hww 3400 2 6.8
33691160/695 phupwlwl wgnuwnyehp (nbwgbnttn 9L huwtn 48000 2 96.0
33691160/696 phupwlwl wgnwunplp (nbwgblnutn S huwn 58000 2 116.0
33691162/776 |{wpnpwinnp wanwuniphbp (nbwgbunubpn) 9L hwun 16.8 1000 16.8
33691162/777 (wpnpwinnp wonwbynipbp (nbwgbnlbp) QL hwwn 16.8 1000 16.8
33691162/778 {wpnpwinhp wanwuniphp (nbwgblnubn) 9L hwin 16.8 1000 16.8
33691162/779 |{wpnpwitnnp wanwuniphp (nbwgbunubn) 9L huwtn 16.8 1000 16.8
33691162/780 |wpnpwinnp wanwuniphbp (nbwgbunubn) QL hwwn 16.8 1000 16.8
33691162/782 |{wpnpwinnp wgnwuniphp (nbwgblnubn) QL huwin 16.8 1000 16.8
33691162/784 jwpnpwinnp wgnwunyebp (nbwgblinubpn) 9L hwwn 16.8 1000 16.8
33691162/785 {wpnpwinnp wgnwpniphp (nbwgbUntbin) 9L hwn 16.8 1000 16.8
33691162/786 {wpnpwinnp wanwuniphp (nbwgbunubn) QL huwin 16.8 1000 16.8
33691162/787 {wpnpwinnp wagnwnebp (nbwgbunubp) a< huwin 16.8 1000 16.8
33691162/788 jwpnpwinnp wonwbnpbp (nbwgblnbp) Q< huwtn 16.8 1000 16.8
33691162/790 (wpnpwinnp wgnwuniphp (nbwgbunubn) Q<L hun 16.8 1000 16.8
33691162/791 {wpnpwinnp wgnwupnehp (nbwgblnubn) L huwwn 16.8 1000 16.8
33691162/792 |wpnpwinnp wgnwuniphp (nbwgbunubn) a< huitn 16.8 1000 16.8
33691162/793 {wpnpwinnp wgnwuniphp (nbwgbunubn) SL hwwn 16.8 1000 16.8
33691162/794 jwpnpwwnnp wgnwynepbp (nbwgbUnubn) Q< huwitn 16.8 1000 16.8
33691162/798 jwpnpwnnn wgrwiynyebp (nbwgbunubin) QL hun 16.8 1000 16.8
33691162/799 (wpnpwnnp wgrutynyabp (nbwgbunubp) Q< hun 16.8 1000 16.8
33691162/800 |wpnpwwnnp wgnutyniebp (nbwgbunubp) QL huwiwn 16.8 1000 16.8
33691162/801 jwpnpuwinnp wgnwiynyabip (nbwgbtintbp) QL huin 16.8 1000 16.8
33691162/802 |wpnpwwnnp wgnuwiynyskp (nbwgbiunubp) Q< hwn 16.8 1000 16.8
33691162/803 |wpnpwwnnp wgnuynpbp (nbwgbuntbp) QL huwn 16.8 1000 16.8
33691162/604 |wpnpwunnp wgnwinyetin (nbwgbnubp) L hwn 16.8 1000 16.8
33691162/807 |wipnpwinnp wqnutgnypbp (nbwgbtnutp) QL hwin 16.8 1000 16.8
33691162/810 |Lwpnpuwiinnp wgptynyabp (nbwgblintibp) L hwn 16.8 1000 16.8
33691162/811 |wpnpwwnnp wgrputynyatbip (nbwgbntbp) QL hwtn 16.8 1000 16.8
33691162/813 jwpnpwnnp warnutyniebp (nbwgblnubp) QL hwtn 16.8 1000 16.8
33691162/814 |Wpnpwwnnp wgrnwiygnipbp (nbwgblnubp) Q< hwin 16.8 1000 16.8
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33691162/815 Jwpnpwnnp wgnwniehp (nbwgbtnubng Q<L hwiwn 16.8 1000 16.8
33691162/816 |wpnpwnnp wgnuwunyebp (nbwgbunubp) QL hwn 16.8 1000 16.8
33691162/817 Jwpnpwnnp wgnwuniphp (nbwgblnutn) <L hwn 16.8 500 8.4

33691162/818 \wpnpwnnp wgnwnyebp (nbwgbunubp) G hwtn 16.8 1000 16.8
33691162/819 Jwpnpwinnp wgnwupniphp (nbwgblnutn) GL huwin 16.8 1000 16.8
33691162/820 Jwpnpwinnp wyrnwunypbp (nbwgblinubn) QL hwwn 16.8 1000 16.8
33691162/821 jwpnpwinnp wanwiyniyehp (nbwgbuwnubn) 9L hwn 16.8 200 3.4

33691162/901 (wpnpwinnp wgnwuniphp (nbwgblnubn) QL huitn 16.8 400 6.7

33691162/903 |wpnpwnnp wgnwunyebp (nbwgbunubnp) Q<L huwin 16.8 1000 16.8
33691162/904 \wpnpwwnnp wgnwuniebp (ntwgbunutn) QL huin 16.8 500 8.4

33691162/908 |{wpnpwwnnp wgnwnyebp (nbwgbunubp) < hwn 16.8 1000 16.8
33691400/505 phdhwlwt wgnwynipbn (nbwgbuntbn) pugdwlndynubln Q< [nwlwqd 40000 2 80.0
33691400/506 phipwlwt wonwyniepbp (nbwgbtnlbp) pugquuyndynubun 9L (il 24000 4 96.0
33691400/507 phuhwljwt wgnuwnyebp (nhwgbbnlbn) pugdwlyndynubun QL [nwijuq 28800 2 57.6
33691400/508 phupwlwt wanwiynetp (nbwgbtntbp) pugquwlyndynubun Q< (g 14400 2 28.8
33691400/510 phdhwlw wanwunietin (nBwgbuntbn) pugdwyndynubln QL [l 18000 3 54.0
33691400/511 phuhwljwt wgnuiynyetp (nbwgblnibn) pwgdwyndwnubun QL [nwljuqu 23000 3 69.0
33691400/512 phthwlwt wgnwtynipbn (nbwgbunubn) pugqiwyndynubun QL [nwiljuqu 16800 8 134.4
33691410/514 phihuljuwl wanwlynysbip (nbwgblintibp) hbnndy 9L [hnp 1500 3 45

33691410/516 phuhwlwt wanulyniptp (nbwgbtntbp) htnniy 9l {hinp 3000 30 90.0
33691411/511 phdhwlwt wgnwynipbn (nbwgbnubn) dingh Ywd gpulngubp Q<L Yhingpuwd 41800 25 104.5
33691411/512 phuhwljwu wgnwunyetp (nbwgbuwnubp) thngh Yud gputnyubnp Q< Yhingpwd 38800 1 38.8
33691411/513 phihwlyw wanwuniptn (nbwgbunubn) tngh Gud gpulngubn Q< Uhingpuwd 44000 3 132.0
33691411/514 phupwlwu wanuwunipbn (nbwgkUnubn) thnzh Yud gpuwunyubp q< Uhingpwd 40000 3 120.0
33691411/517 phupwljwl wanwunipbn (nBwgbUnbp) thnzh ud gpuunyutbn Qg Uhingpuwd 49600 0.5 24.8
33691411/518 phihwywy wgnwnipbp (nbwgbtnttn) tingh Ywd gputnyubp Qg Yhingpud 37000 4 148.0
33691411/519 phipwlwu wqnwunipbp (nbwgbunubp) thnzh Yud gpuwunyutn Q< Uhingpwd 42000 3 126.0
33691411/520 phupwlwl wanutynpbp (nbwgbunubp) tingh Yuwd gputingubinp < Yhingpuwd 80000 0.25 20.0
33691411/521 phipwlwu wqnwunebp (nbwgbunubn) tingh Ywd gnwunyubp Q< Yhingnwid 99200 0.25 24.8
33691411/522 phihwlwu wqnwujmptn (nbwgblnubp) thingh Yud gnwunyubn ac Yhingpwd 49600 0.5 24.8
33691411/523 phupwlwu waqnwunpbn (nbwgbunubn tinzh Yud gnwunyubn q< Yhingpuwd 4600 2 9.2

33691411/524 phihwlwu wqnwynipbp (ntwgbinutin tingh Yud gpwunyubp q< Yhingpuwd 28800 2.5 72.0
33691411/525 phuhwlwu wgrpwynyabp (nbwgbiinttin) tngh Yud gpuunyubp 9< Yhingpwid 44800 2 89.6
33691411/531 phuhwlwt wqnutyniebip (nhwqblntbp) tingh Ywd gnuitiniutn g Yhingpwd 34800 1 34.8
33691411/532 phdhwlwl wanwiynyetn (nbwqblntbin) tingh Ywd gnwinyubp q< Yhingpwd 34800 0.5 17.4

33691411/533 phuhwlwl wqnwunptip (nbwgbtnttbn) tingh Yud gputnygubp S Yhingpwd 40000 0.5 20.0
33691411/534 phuhwlwl wqnuwynipbp (ntwgbuwnuting tingh Yud gpuwtntutn Q< Yhingnwid 100000 0.25 25.0
33691411/535 phuhwljwt wqnuwumpbp (nbwgbktntbp) tingh Yud gputngubn QL Yhingpwd 47000 1.5 70.5
33691411/536 phupwyw wanwynyetn (nbwgbtntibp) tngh Yud gpuwtingubp QL Yhingpwd 4000 1 4.0

33691411/537 phupwlw wanwlnyetn (nbwgbunlbp) thngh Yud gputngubp 9 Yhngpwd 10000 2 20.0
33691411/538 phuhwlwt wanuityniebp (hbwgbtnubn) tnzh Yud gpwlingubp 9 Yhingpwd 3000 5 15.0
33691411/539 phupwyw wanwniebp (nbwgbtnlbp) tngh Yud gpulngubp 9< Yhingpwd 3000 5 15.0
33691420/718 (wpnpwinnp warwtynelbn (nbwgbiinubn) pugiwyndwnubiun QL nwlwgd 66000 2 132.0
33691420/719 (wpnpwnnp warputynystip (nBwgblnttin puqiwlndwynubun q< nwbwgd 30000 1 30.0
33691420720 |wpnpwwnnp wqnwynypbp (nbwgbunbng pugqdwyndwynubun < [nuwilyugu 168000 1 168.0
33691420/721 (wpnpwnnp wqrputymphp (nbwgbUnttip) puqiwlyndynubiun QL [nwlwqy 168000 1 168.0
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33691420/722 |\wpnpwinnp wgnwunipbp (ntwgbunutn) puquwyndwntibun L1 Inwiluqd 168000 1 168.0
33691420/723 |wpnpwinnp wgnwuniehp (nkwgbnutn) puqdwyndwynubUn QL Inwlwqd 90000 5 450.0
33691420/728 lwpnpwwnnp wqnwniehp (nbwgbuinubn) puquwyndwnubun < Ipwlwqud 40000 2 80.0
33691420/729 \wpnpwinnp warwniebn (nbwgbunubn) pugiwyndwnubtn G< [nwlwqd 40000 2 80.0
33691420/730 lwpnpwwnnp wgnuniebp (nbwgbunubn) pwqdwlndwnubun Q<L Inwlwgd 40000 2 80.0
33691420/731 \wpnpuwitnnp wyrwunyabn (nbwgbunubn) puguwyndwynubun QL Inwluqud 40000 2 80.0
33691420/735 {wpnpwwnp warwniptp (nbwgblnlbn) puquwyndwnubun Qg Inwlwqy 25000 1 25.0
QL 0.0
pd7yuljut uwppwinpnuitibp
33181110/506 htdnnhwihgh uwppbip 9L hwin 5692500 1 5692.5
33181110/507 htdnnhwihgh uwppbip 9L hwin 6355900 1 6355.9
33181110/508 hinnhwihgh uwpptip S< hwwn 717600 1 717.6
33161200/503 Funnulnwubip G hwin 13600000 1 13600.0
33111340/501 :‘5‘;‘;22”2‘”‘“ plmautagbl. G, Pl iuIb = s 9< husn 13700000 1 13700.0
33171700/501 wgqujgdwl uwppbp < hwwn 1 0.0
33191520/501 wjw thnfubpwpydwu uwppbp 9L huwwn 1 0.0
38511220/501 :Jhwl{bwjhtl [dnhnqmuum)h;!umﬂ Bpluljuwght (phtnfnigwn) ac hutn 1 0.0
38591200/501 phuhwlwl jwpnpunnphuygnid Yhpwndnn uwpptip L hwn 1 0.0
33121200/501 upunh wipluwinwtiph huljnnnupjul uwpptip 4L hwin 13 0.0
33121200/503 upwnh wotuwnwph hulnnnuzjw uwppbin 9L huwtn 1 0.0
funuwugywd pruwduh dwinwlwpuwpdwu uwppbp, npnup
33151270/501 9 0.0
V Lhpwnynid Bu prdwduwht phpwwhwnd - huwa d
42121310/501 pdoluljwit Uwwwnwlubpny Ghpwnynn wndubp 9 huwwn 9 0.0
42121310/502 pdoluilw bwwinwlutipny Ghpwnynn wnduwbp L hwin 18 0.0
42931100/501 {wpnpwinnphwlwu ghunph$nigubp - wwpwgwlbp < hwn 1 0.0
42931100/502 (wpnpwnnphwlwy ghinph$nigubp — wwpwgwbp L hwwn 1 0.0
0.0
Ufunwhwiihs tynipbp
24451140/502 wutnwhwlhs Uyniebn q< lg 39 0.4
2100 15 31.5
24451141/516 whunwhwuhs hbinniy Wnysbp Q< hup 2100 500 1050.0
24451141/518 whunwhwthy hbinniy Wynysbip < thup 1615 200 323.0
24451141/520 wihutnuwhwhs henniy Ynyabip < {hunp 2500 20 50.0
24451141/521 whnwhwuhg hbnniy nyebp < [hwp 1493 525 783.8
24451141/522 whunwhwthy hinniy Wnyetp < huip 6000 400 2400.0
50 0.0
2445
1141/523 whutnwhwuhy htinnty Wnuyebp q< lhwp 2950 5 2.9
24451141/524 wunwhwuhs hnnty Wnysbip < lhip 3400 200 680.0
24451141/525 wiunwhwiips henniy Ynyebip a< {hunp 7400 100 740.0
24451141/526 wunwhwups hbenniy Wnipbp < lhuinp 1700 100 170.0
33111500/507 dpwn unbiphlhqughwih < hwn 47 300 14.1
33111500/508 dpwip unbphihqughwih q< huwiwn 58 10000 580.0
33111500/509 Spwip unbiphjhqughwih <L hwwn 32 3000 96.0
33111500/511 dpwip unbphihqughush < hwin 156 500 78.0
33111500/512 Spwp unbiphihquighwih L hwin 26 3000 78.0
33111500/513 dpwp unbiphihquighwih 9< hwin 88 100 8.8
33111500/514 hunhywwnnp dwbpbwgbpdywéniyajwl < hwin 7.8 1000 7.8
33111500/516 hunhlwwnnp dwtpbwgbindywsdnysiwl < hwun 5.8 2000 11.6
7177.5
EjEwpwlwt wypwuptbp
31711620/501 Lnwwnhnnwyht (LED) jnwwinnt L hwun 1300 5 6.5
31711620/502 Lnwwnhnrwipt (LED) (nwuwiwnn QL huwun 1200 20 24.0
31711620/503 Lnwwrhnrwihu (LED) jnwwwnnt 4L hwiwn 1500 30 45.0
31711620/504 Lnwwnhnnuipt (LED) (nwuwwnnt L hwwn 3900 140 546.0
31711620/505 Lnwwnpnnuwiht (LED) jwidy 4L huwin 460 50 23.0
31711620/506 Lnwwnhnrwiht (LED) jniuwwnnt G hwun 1200 20 24.0
31711620/507 Lnwwnhnnwjht (LED) intuwinnt q< huin 7000 30 210.0
31512360/501 Lnwwpawl wpnwpht G huwin 9000 5 45.0
31512360/502 Pnnngh [nwwwunt G huwin 8544 10 85.4
31711620/508 Lnwwwnt 60*60, 96W 6500K L huin 7100 20 142.0
31711620/509 Lnwwwnt 60*60, 96W 6500K G< huwin 7820 20 156.4
31512360/503 Lnwwnhnnwihti (LED) jniuwwnnt qc huin 2700 20 54.0
31211180/501 Utigwinhs Ubly uinbinny GL huwin 1200 15 18.0
31211180/502 Utigwinhs dbily unbinting wpunwpht QL hwwn 1400 15 21.0
31211180/503 Uugwinhs bplyne uwnbinuny Q< huwin 1500 5 7.5
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31211180/504 Ubgwinhs Epynt uinbininy wpinwpht < hwiwn 1600 5 8.0
31684100/508 Jwpnwl hnnwugnidwihu dhwgnidng < hwn 1400 25 35.0
31684100/509 Hwpnuwly hnnwugnuwwjht dhwgnudnyg wpnwphl 9< hwn 1586 15 23.8
31684100/501 Cpgwliwl Ukl inbin 9L hwwn 300 25 7.5
31684100/502 Tpowlwly kplynt wkin < huwitn 600 15 9.0
31684100/503 Gpowuwl bipbip nbin QL huwin 900 5 4.5
31684100/504 hupnguy hnnuiuignuiny < hwin 280 30 8.4
31684100/505 Jwipnwly hnnuiignwing bplwpwgdwt jwph hwdwp s hwiwn 460 20 9.2
31231200/501 Mg snnupSp bl ragbnh huun iguaytnm ac hwn 350 60 2.0
duiuiliing
31231200/502 Utiluinnbwght balnpwdnunwdwht innuh K806 G805 dnntih G< hwwn 125 20 25
31231200/503 :::ﬁr}h[wlhh biEyunpwdntnwdwih ninwh K820-2 G-805 ac - 250 5 38
31231200/504 E::;j:\r}hlmjhh Flaywpwdnunwdwiht innuh K820-3 G-805 ac huin 400 10 4.0
31681700/503 Udtnnuwwn wugwinhstbiph wnnuh wpnwpht bwnwnbudws 2(+1) ac hustn 345 5 17
dnnnyubiph hwdwp
31211180/509 Udwinndwwn wgwwnhy QL hwn 4444 4 17.8
31211180/510 Udinniuin wligwinhs ac huwin 4244 4 17.0
31211180/511 Udjinniwin wgwinpy G hwn 3644 4 14.6
31211180/512 Udwnndwin wugwinhs G< hwwn 1244 12 14.9
31211180/513 Uyinndwin wupwinhy GL hwin 1144 12 13.7
31211180/514 Udwnndwin wlgwinhs < hwin 1044 12 12.5
44322200/501 Lnuwtiph dwiniu Q<L binp 178 100 17.8
44322200/502 <nuwlph dwiniju Q<L dbwnp 238 100 23.8
44322200/503 <nuwuph dwjniju 9L dbnp 348 100 34.8
44322200/504 Snuwlph dwiniju G dkinp 396 100 39.6
44322200/505 <nuwiuph duyniu QL Ubinp 525 100 52.5
44322200/506 Lnuwbph dwinifu QL Ubwnp 648 100 64.8
44322200/507 <nuwbph dwinifu 9L uknp 614 100 61.4
44322200/508 Snuwph dwinifu L Ubwnp 936 100 93.6
44322200/509 Snuwph dwinifu 9< Ubwnp 1198 100 119.8
44322200/510 Snuwliph dwinifu <L Ubunp 1980 100 198.0
44521230/501 wyjwuwndwub PA 66 wdpwl dwinifuh hwdwp < hwtn 440 3 1.3
44521230/504 wwundwub PA 66 wdpwl dwinifuph hwdwp < hwwn 560 3 1.7
44322550/501 Uwinifuh wump < hwin 3 300 0.9
44322550/502 Uwinifuh wunip < hwwn 5 500 25
44322550/503 Uwnihup wnip 9L hwwn b 500 25
31651400/502 k. dblnwihs dwuyuibl < huwitn 135 50 6.8
32442400/501 huptwubindynn nbpdhuwuht pll(knemmang)2+2 2,544 CH-2 9L hwwn 60 300 18.0
34711770/501 ::I.l.'l.lgmLiuJJhll-hnij wibphlywu fupngwlnd(nepexopnik TpoiiHMK) ac hwn 590 18 106
z
31681700/504 Uinndwwn Uugwiinhsubph Snuh 9L huwun 1200 5 6.0
2nndwt Gujwl (160-480°S) pdwjht Elpwu Br
32351120/501 220V¥/40 MaanbHan craHuma (160-480°C) undpposoit gucnneil G hwin 21144 2 42.3
220V/40 naanbHUK
32442400/502 Din nbubp din  peiika < hwn 425 5 21

150.0

30197620/504

[anl, A4 pnpduwinh huptwlwsniu phppbn

1430

32324900,’501 <bnnwinwgnyg QL hwn 150000 1
39711290/501 UhUpnwihpuyht wnwpwitbp 9L hwin 50000 3 150.0
32551170/503 Utpwp hbinwhunu < hwin 28571 7 200.0
Spwubtywlwiht wypwbplbp b ynphp
30197620/502 pninp, A4 npdwwnh q< wnnuft ?ggg 5.0

2145.0

30192800/501 husuwlwsniu whuwly / guwwhunwy 30%400y/ QL hwwn 1.2 10000 12.0
30192800/502 hugbwlusniu whunwl / guwwhunwl 20*30ud/ 9L hwwn 2.1 5000 10.5

600 0.0
30199420/501 pnuR udnubiph hwdwp, unutdywdpny QL huwn = 25 5.6
30197322/501 Yuphs, 20-50 phpeh hwdwp acl hwin 490 100 49.0
30197100/501 Lwphsh dbunwnuuphb Yuubn, dbd a< wnith 0 10 0.0
|'3.ﬂ1Q‘?1|'HRnI Tunmheh (Thimnnnomb lnnonbn ithakh ar wnnith 300 0.0
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R Ry A ] I A AP ARy, a1y = 55 )
30197111/501 Yuiphsh dtunwnuwpwnt Yutp, dhngp ac wnuh 20 0.0
44 100 4.4
30192710/501 unutidwidwnhin, gpwubljwlwiht 9 hwwn 1800 0.0
60 1000 60.0
30192231/501 ulgns wnihdbpuwh 9L hwwn 0 200 0.0
30 0.0
30197340/501
it wuwwlwphg gL hutn 5 5 6
39263600/501 gpswinnuth, gpuiubupwlwhu G hwn 145 200 29.0
30193200/501 thwunwpenebph hwdwp bwhiwnbudwsd, ubnuth ypw npdnn ac — 200 0.0
nwpwlwowpbp 1600 100 160.0
30192100/501 nbnhl hwuwpwl 9g huwin 400 0.9
69 200 13.8
150 0.0
3019213
3/501 uphg 9 huin 50 75 38
39263400/501 wiipwly /ulpty /, dhohl < wnih 2 0
PR 89 100 8.9
200 0.0
39263410/501 ] b /, <
/ wipwly fulypbi /, tinpp wnith B 100 25
360 0.0
39263530/501 bind , Ubid q<
it ubnuwy /Y huuby/ hwn 5 160 =3
200 0.0
39263520/501 ubndwy MYyhwub/, dheht 9L hwn T 100 1
200 0.0
39263510/501 b
/ ubindwly /Ythwuls/, thnpp q< hwwn 5 300 e
3 ;
0192231/502 ulyng qc huwin 7 300 535
800 0.0
30192160/501 124 <
i 2nnhg 1241 & o 110 400 240
800 0.0
30192160/504 74 a<
/ anphs 7, s 104 300
500 0.0
30192125/502 dwpyb h
; i < i 29 300
200 0.0
39241210/501 ' U
/ dypwin, gpuwubitjwlywiht < hwin 70 700
30 0.0
30141200/501 hwigyuuwpp, gpuubtywlwht 9L hwn 3760 =
500 0.0
30192 0 Ui u
130/501 wunhwubp 9L hwtn 3 300
3500 0.0
30192 u
121/501 qphs qunhlwdnp 9L hwwn T 3000 :
30197231/501 prpuwiywtiwl, wihdbnuht punwbe, $u) 9¢ hwun - fgggg g
5000 0.0
30199260/501 u4 q<
/ husunnly U4 dpuwp huwn 8 5000
30192114/501 Ywndhn puitiwg, uheh pupdhlih hudwn 9¢ hunn - ,23 0.0
30192114/502 Yuwynywn pwuwp, Yuhph pwpdhlyh hwdwnp q< huwin 160 153 CIr.D
30192111/502 pwlwph pwpshy 9< huwn 0 20 0.0
39263200/501 E‘;‘;:ﬁhiwuwhb ghpp, dwinjuiti, 70-200kg, nnnwith, uuhunul q< huitn 1350 50 67.5
22851200/501 RERWWwUwY 9< hwin 140 300 42.0
22851200/502 RRRWUwWbwlY 4L hwwn 430 300 129.0
22851200/503 ErRwwywlwy Q< hin 470 200 94.0
200 0.0
8 hi -
22851100/501 wpwaqulwpubp C4 wn 50 700
22851200/510 il 20 Suyng ac hun e L
e ! 330 150
22851200/512 pnpwwwlwlubn 60 Sy q< huwitn 580 200 116.0
30195700/502 gpwinwfunwltbph dwppdwl uujniug 9L huwin 0 100 0.0
30192350/501 hwauhs-npudwplnuiht dopbwbibph dwwwybuubp Q<L hutn 58 1920 111.4
Stunbuwlw b shtwpwpwljwt ywbwlnpwl wypwiptbp
32551170/503 wljwp hbnwfunulibp < huwin 8 - 0.0
31685000/501 Fiblunpuibjwt bplwpwgdwt jwp 9< hwn 10 0.0
30239150/501 wughs uwpp, puqiw$niulghntiug <L hwin 1 0.0
35121330/501 Suphfu Ynnbph ulwuwynpdwl uwpbp < huwtn 1 0.0
30232110/506 Lwgbpwiht wyhs QL hwn 6 0.0
18141100/503 wofuwinwtipuwh 8ntinglibip < qnug 124.25 240 29.8
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18421130/502 alinungubip QL qnyg 145 1500 217.5
18421140/502 dblwuquidjw ogunwgnpédwl denuingubip Gl qnyg 2.996 30000 89.9
18931160/501 [Ywgph wwjnwwlubp 9L hwin 5499 5 27.5
18931180/504 wiwypwiptiiph thwpbpwdnpiwl wnwpwlubp Q< hwn 12000 0.0
18931180/505 wiypwptibiph thwpbpwynpuwl tnwpwlubp QL hwin 12000 0.0
500 0.0
19641000/505 wnhkphituwght wwply, wnph hwdwp 9< hwtn 7002 500 300
19641000/506 wnihkphibuwht wwply, wnph hwdwp G hwn 243 2800 680.4
19641000/507 wnihkphbuwiht wwply, wnph hwdwp G< hwiwn 165 1600 264.0
19641000/508 wnihkphibuwght wwply, wnph hwdwp Q<L huwin 140 2000 280.0
24451141/514 wihunwhwths htinniy tyniatip q< [hwnp 264 500 132.0
31441000/503 dwpwlng, AAA wbuwlh 9L hwn 50 300 15.0
31442000/502 duwpwng, AA inbuwlh GL hwin 50 300 15.0
31442100/501 Ynunwlhs dwpinlngubip 9L hwin 184.92 100 18.5
31442100/503 Ynunwlhs dwpinyngubip L hwin 199.5 200 39.9
31685000/501 bibyinpulwl bplwpugdw jwp 9< hwin 1495 25 37.4
31685000/502 Eiblwnpulwt bplwpwgdwt jwp < hwin 1970.4 25 49.3
31685000/503 bilnpuilwt iplwpugdw jwp 9< hwtn 3990 10 39.9
33141118/501 whdbnnghlubp < hwn 370 50 18.5
33141201/502 Pwhipubp q< hwiwn 2.8 300000 840.0
33711210/502 dbljwlquidjw equwgnpduwl whdbnnghlubip < hwn 390 5000 1950.0
33711480/503 ofiwin < hwin 120 500 60.0
33751100/503 Ubljuwliguidjw ogunwgnpddwl wwlnhpubp < hwuwn 120 200 24.0
33751100/504 Uluiliquidjw ogunwgnpéiiul twlnhpubp 4L hwin 150 200 30.0
33761000/503 qnigupwuh pnine, nnynuny G hwwn 80 4000 320.0
33761000/504 gqniqupwh pnie, nnynuny < huwin 80 2000 160.0
33761300/503 dbinph pnpeb upphsubp G hwwn 148 1200 177.6
34331400/502 wywnindbipbwubph gnpgln G hwwn 1392 50 69.6
39221190/501 fudbiint oph nwpwubp GL hwin 18438 10 184.4
39221220/501 huwignwwnh snpwunglbip 9L hwn 10434 10 104.3
39221350/503 Ublwuguidjw oguiwgnpddwl pudwlubp G huwin 3.5 15000 52.5
39221410/502 wiajubp a< hwn 100 0.0
39221420/502 funquitiwliubip 9L hwwn 1269.6 50 63.5
39221430/502 funquitiwl-uwnitig wwwlh Jwppbint hwdwp, nbnhul < hwwn 2328 10 23.3
39221480/502 qniquipwiih funquitiwlubp q< hwwn 449 200 89.8
39221490/502 uwyniiglbp L hwwn 77.77 800 62.2
39224331/502 nny| ujwuwndwub 9L hwin 399 80 31.9
39224331/503 nny| wjwuwndwub < hwiwn 171 50 8.6
50 0.0
39224342/503 wrpwnyn, dbuwnjw < hwwn 5390 700 529.0
39224344/502 wnpwpln' phpbingw qL hwwn 50 0.0
1188 50 59.4
200 0.0
39511130/501 uwywutp QL hwwn 7549 7000 1549.0
39511130/502 uwwtitbp qL huin 150 200 30.0
39511130/503 uwwttbp QL hwn 100 200 20.0
39513200/502 el whisbinnghy, Bplsbipn < huwin 220 1000 220.0
1000 0.0
39522330/502 dwppnn Yunpubin Q<L huwn 335 3000 770.0
39713410/502 hwinwyh Jwppdwl uwppbp 9L huwin 1308 100 130.8
39713410/503 huiwlih dwppuwl uwppbip q< huwtn 450 250 112.5
39713410/504 hwnwyh dwppdwl uwppbp 9L huwin 4000 100 400.0
500 0.0
39831100/503 (Jwgnn unipbn Q< thwp 168 1000 168.0
39831100/504 Jwgnn Ynipbp 9 {hup 72 7000 504.0
39831210/502 uwywuph Ywglwl nhnbipgkntin q< hwwn 94.96 1000 95.0
39831243/504 (Jwaph thngh wywnndwwn <L Lhingpuwd 325.03 700 227.5
39831245/502 ofiwn, htinnily q< {hwp 168 1500 252.0
39831247/502 wfunwhwtnn hbqniy’ uwthwlgnygh hwdwp (lunwnye) < lhinp 336 1500 504.0
1000 0.0
39831278/502 uwjwuph [Yugduwt thngh qg hwwn 1596 500 79.8
39831278/503 uwjwuph |Jwgdwl thngh G hwin 290 50 14.5
39831280/502 wuywhh dwppbnt dheng G< {htnp 276 500 138.0
39831283/503 hwunwlh (Jwgdwl jwp G hwin 876.78 1000 876.8
39831283/504 hwinwlh Jwguwl (we QL hwin 349 300 104.7
200 0.0
39831283/505 hwwnwlh (Jwgdwl jwp L 14 huwtn 7000 1000 70000
39835000/502 hwinwl dwppbnt &nn, wjwundwub, hujnjw Q< huwn 1000 50 50.0
100 0.0
39836000/502 wifby, unynpuljwt hwtn 950 200 190.0
39837000/502 guifuwiby L hwin 350 50 176
42961300/502 hhghbuhl wwpwquiibph nhuwbuubputip < hwn 3996 20 79.9
44211280/502 dnnbip 9< hwn 292.8 100 29.3
44521120/504 nnwt hwlwtibp Q<L hwn 10 0.0
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44521120/508 nnwl thwlwubp 94 huwin 4428 44.3
44521120/509 nnwb thwlywubp < hwin 0.0
42414700/501 Ubpbulubp q< huwin 3300000 3300.0
44163280/1 funnnywljuyhts wwpwpttp uu hwin 46200 693.0
44221200/501 uwhnn nnubip 9c pu 139920 4197.6
16311400/501 funwnhudhy dbpbuwtbp Q< hwwn 130000 130.0
18441210/501 uwnwywpuntbp 9< hwn 10400 10.4
30194220/501 gdwgpulwu dwuwwybuubp G hwwn 1380 1.4
31171200/501 wpdwl thnfuwlbpuhsubip S hwwn 300000 300.0
31442100/505 Ununwlyhs dwpinlynglubip G hwin 9999 599.9
31681900/501 Eiayunpulwu winuhs (nnby) 9L hwiwn 18000 18.0
33191350/502 wtwuwyjwyubn G huwn 14444 14.4
33191350/503 wlgwuwyjwlubp < hwn 25000 25.0
39241141/501 nwuwy' gpwubtywlwihu 4L hww 744 7.4
39241141/502 nuitwly” gpuubljwluhl ac hwin 135 1.4
39241210/503 Uhpwin, gpuubtywlught < hwn 2250 2 4.5
39241250/501 Swnbiph dypwn (ubljwwnnp) 9L hwin 2400 2 4.8
39712300/501 Jwpuwhwprwphsubp 9L hwwn 11310 2 22.6
42121430/501 quiquiht dugwlbp (Yndwpbunpubp) 9L hwwn 68000 1 68.0
42121710/501 ququiht Yndwpbunpubiph dwubip < hwin 2300 1 2.3
42661300/501 bnwlgdwl uwppbp 9L hwn 18420 1 18.4
42671100/501 qnpdhpubiph pnupgttip qc huwin 1200 2 2.4
42671170/501 arEWjWYnn unng < huitn 109800 1 109.8
42921240/503 hbnnywghp wnpéwwlubnp qL hwwn 1500 3 4.5
42921240/504 hbnniywghp wnpéwlwyubp L hwwn 840 3 2.5
43121170/501 wintup Yuwd pwph hnpwwnpsutip < hwin 39000 1 39.0
43121170/502 wdnibuh Ywd pwph hnpwwnhsubip L hwwn 18500 1 18.5
43411300/501 ptnnbh Guid hwduugh fuwnthsubp a< huin 6300 1 6.3
43411500/501 hnlynn uwppbip < hwuwn 62400 1 62.4
43411500/503 hnlnn uwppbip < hww 19680 1 19.7
43411500/504 hnlynn uwpplip L hwn 15900 1 15.9
43611290/501 puwiph hnpwnhsubiph dwubp 9L hwwn 2790 2 5.6
43611290/502 puwph hnpwwnhsubinh dwubp QL huwwn 2000 2 4.0
43611290/503 pwph hnpwwnhsubiph dwubp 9L hwn 900 2 1.8
44112730/504 Ltnpnn ulwywnwy 9L hwwn 870 2 1.7
44411100/501 dnpwlubp 9< hwwn 8400 5 42.0
44511100/501 akinph gnpdhpubip <L hwin 2700 2 5.4
44511100/502 &hnph gnpdhplbin G< hwwn 4444 1 4.4
44511100/503 abinph gnpahplitip a< hwin 1200 1 1.2
44511100/504 atinph gnpdhplibip 9L hwin 1500 1 1.5
44511100/505 abinph gnpdhplitip Q< hwwn 790 3 2.4
44511100/506 akinph gnpdhpuibp 9L hwin 19200 1 19.2
44511100/507 &binph gnpéhpubip QL hwwn 1860 2 3.7
44511200/501 abinph unngiip G hwin 1944 2 3.9
44511200/502 akinph unngubip G hwin 1550 2 3.1
44511200/503 alinph unngutip q< huwin 1440 3 4.3
44511200/504 abnph unngubip 9L hwin 1144 2 2.3
44511240/501 wpguwiibp QL huitn 2880 2 5.8
44511240/502 wpguibip gL huwitn 7980 3 23.9
44511240/503 wpguubp G huwin 1344 3 4.0
44511270/502 UnipGlp GL huwin 7400 1 7.4
44511270/503 Unipiip QL hwn 1500 3 4.5
44511270/504 Unipébp q< hwin 1320 2 2.6
44511330/501 winnunwljwhwtiubp 9< hwtn 19700 3 59.1
44511330/502 wnnunwlwhwtitbp 9L hwtn 6500 3 19.5
44511330/503 winnuwnwljwhwutbp 9< hwn 690 2 1.4
44511340/501 quyjhinuh uwjpbp L hwin 4444 3 13.3
44511343/501 quihlynts L hwn 2700 2 5.4
44511343/502 quyihlynty < hwun 644 3 1.9
44511343/503 guihynt L huwin 530 2 1.1
44511343/504 gy hynt qL hwin 1200 1 1.2
44511343/505 quyihynu < huwin 1440 1 1.4
44511343/506 quihynu YL hwn 3200 1 3.2
44511343/507 quijhlynu 9L hwin 3880 2 7.8
44511343/508 quyihynt 9L hwtn 660 3 2.0
44511343/509 quyihynu 9L hwn 1080 3 3.2
44511343/510 quihlnt q< huwwn 740 3 2.2
44511350/501 wnnunwlpwhwtbph uwpbp q< hwin 2280 1 2.3
44511360/502 gnpdhpubiph wbnwiinfudwl dhenglbip Q<L hwn 4200 3 12.6
44511370/501 gnpdhpubiph hwywpwdniubp < hwin 850 5 4.3
44511370/502 gnhpdhpubiph hwdwpwsniubp QL hwuwn 7300 2 14.6
44511370/503 gnpdhpubiph hwywpwsniubip < hwin 10680 2 21.4
44511370/504 qnpdhpubiph hudwpwdniutip qc hwin 1620 3 4.9
03411120/501 thwjinwuniphg wwnpwunywd wpinwnputp < hwwn 100 0.0
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14211000/504 wiwg, shtwpwpwlwl Q<L fud 30 0.0
14211111/502 dwbpwlups 9L jud 24 0.0
14811300/501 hnlynn uwywnwljubp GL huwin 20 0.0
14811300/502 hnlnn ulwywnwlubp 9L hwn 20 0.0
14811300/503 hninn uwywnwlubip qc huwin 20 0.0
18421130/503 dhinungubip < qnyq 50 0.0
18931130/502 Swlpnguaph wwipytbp GL hwn 300 0.0
24911500/502 unuhtid (wkpngny) 9L hwn 20 0.0
24911900/503 uwihlyh unuptd 9< Uhingpwd 1500 0.0
30192230/501 uljns’ iplynnuwuh unutdywd QL hwn 10 0.0
30197323/501 Yuwnhg, 50-hg wybih phipph hwdwp < hwin 2 0.0
31211180/515 wnndwin wugwinhsubin q< huwin 2 0.0
31211180/516 witnndwin wugwunhsubip q< hwin 2 0.0
31211180/518 wtnndwin wugwinhsbip q< hwin 20 0.0
31211180/519 witnniwin wgwinhsubin L hwin 5 0.0
31211221/501 whigwnhsubp L hwwn 15 0.0
31221200/501 fupngibiph bnwhlubip - Juipnwljubp 9L hwwn 50 0.0
31221220/506 dhwgiwl ninuhbp S< hwwn 30 0.0
31221242/501 nynipki < hwwn 2000 0.0
31221242/502 nnipki < hwwn 50 0.0
31221242/503 nynipki 9L hwiwn 100 0.0
31331192/501 bwnpwlwl dugniu’ UddS a< b 200 0.0
31331192/502 Eblnpwlwt dugniu’ UddS q< ubtnp 400 0.0
31331192/503 bbwnpuywt Jwiniu' Ud4S < dtitnp 100 0.0
31331192/504 bwnpwlwt dwiniu' UdUS Q< dbnp 10 0.0
31531100/501 Eaywnpulwi jwdwbp GL hwwn 40 0.0
31641216/501 hwinniy wnnunwy 9 hwin 1000 0.0
31641216/502 hwunniy wnnunwly QL hwn 1000 0.0
31641216/503 hwwntly wnnunwly Q< hwn 1000 0.0
31641216/504 hwwnntly winnunwly 9L hwwn 1000 0.0
31641216/505 hwwnnily wnnunwly L hwin 500 0.0
31641216/506 hwwnnty wnnunwy gL hwn 1000 0.0
31641216/507 hwwnniy wunnunwly < hwin 6000 0.0
31651400/503 Ublyniuhs dwwywybubp <L hwin 50 0.0
31651400/504 dblyniuhy dwwwbuubp G< hwin 30 0.0
31651400/505 Ublyniuhy dwwwybubp < hwin 20 0.0
31651400/506 dblyniupy dwwywbuubp L hwwn 20 0.0
31681700/507 pwdwuwnwp nnih 9L hwuwn 15 0.0
31681700/508 pwdwuwpwp wnth < huwin 1 0.0
35111300/501 wwiginuuiuhy — wiynwlgnipywl hwgnwin 3L huwin 20 0.0
39132220/502 Yuibupsubp GL huwiwn 60 0.0
39132220/503 uwhupsubp G hwwn 200 0.0
39221460/501 Unéht' ubpluipuwpwlul 4L huwin 20 0.0
39221460/502 Upaht' ubplwpwpubwu G huwin 10 0.0
39221460/507 Undht' ubplwpwpwjwl GL huwin 20 0.0
39221460/508 Undhu' ubplwpwpwiwl < hwin 20 0.0
39224331/504 nny| wjuunduwab QL hwin 15 0.0
39812600/501 dwpnnn dwaniubip — thnghtibip Q< huwtn 5 0.0
42921240/505 hnnijughp wnpéwtwlubp < hwiwn 3 0.0
42921240/506 hbinniywghp wnpSwwlubn G< hwwn 10 0.0
42921240/507 htinniyughp wnpéwbwyutp Q< hwn 3 0.0
42951300/501 hwppbigunn dbpbuwutph dwubip < hwwn 3 0.0
44111200/504 glidbitin < Yhingpwid 2500 0.0
44111400/503 Yuwunyh wnwutnwn <L pu 54 0.0
44111400/504 Yufunuh wnwunwn < pd 100 0.0
44111412/502 ubiply, shtiwpwpuliwl QL Yhingpwd 800 0.0
44111413/505 Jntquitibiply G Lhingnwd 10 0.0
44111413/506 Jninwtbply L Yhingpwd 15 0.0
44111417/501 uwhwbbiply QL Yhingpuwd 100 0.0
44111419/501 gnuuy qc huwitn 15 0.0
44111446/502 Utymuhsttip L huwn 30 0.0
44111448/501 obipdwjht dalyniupg Wnipbp 9< huwwn 60 0.0
44111448/505 ghipduwhl dalnwhs Wynipbn Q<L huwin 30 0.0
44111710/502 uwhly, Yepwdhbwlwl, hwunwlh hwdwp q< pu 200 0.0
44112210/501 inwiihp q< o 50 0.0
44112730/505 Lunpnn uuywnwly L hwin 3 0.0
44112730/506 Ltnpnn ujwywnwly QL hwwn 100 0.0
44112730/507 Ywnpnn ulwywnuly q< huwin 5 0.0
44141200/501 onowliwyubp L huiwn 50 0.0
44163400/506 Japwlinpnguwt wunipubip — wwpgniuwlubp Q<L hwiwn 400 0.0
44163400/507 Ybpwnpngdwl wunipubin = wwpgniiwljubp < hwwn 150 0.0
44171100/508 uwhbubp (zhuwnpwpniejwi) s pd 288 0.0
44171100/509 uwihljubp (Phtiwpwpniewu) < pd 288 0.0
44171110/503 uwhubiph fuwsniy < hwn 30 0.0
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44191700/502 wy)| quibiuguit shtiwpwpwlwl Uniyelp 9L Uhingpwd 13 0.0
44191700/507 wj| quitiwgquit shtiwpwpwlwt nuyebp 9L Uhingpwd 15 0.0
44211610/501 wulyniuubin L hwn 300 0.0
44211610/505 wulyniuubp 4L hwn 300 0.0
44211610/506 wlynduubp 9L huwtn 100 0.0
44211610/507 whilynuubp 9L hwwn 100 0.0
44211610/508 wlilyniutip 9L hwn 100 0.0
44311120/501 thawywpkip < Yhingpuwd 5 0.0
44311170/503 bnwlgdwl wwpwgwbp 9< hwin 500 0.0
44322550/504 Uwnifuh wunipbp < hwin 5 0.0
44322550/505 dwynifup wuniplbp g hwin 5 0.0
44322550/506 Uwiniuh wunipubp < hwwn 3 0.0
44331410/506 Yuunyh wnwuinwnh ghtiwywin wpndhy < gdwdbitnp 60 0.0
44331410/507 Ywfundh wnwunwnh ghjwwwwn wpnbhy QL gdwdbwnp 6 0.0
44331410/508 Yufunyh wnwuwnwnh ghtlwwjwin wpnbh| < gdwdtinp 15 0.0
44331410/509 Ywfundh wnwunwnh ghuljwujwn wpnhy G qdwdbnp 100 0.0
44331410/510 Ywiunyh wnwunwnh ghuluwwwn wpnh) G< gdwdbinp 80 0.0
44423480/501 dwlbpbup wnuhbip 9L hwwn 10 0.0
44423480/502 twlybpbup wnnuhbip < hwin 10 0.0
44423480/503 dwybpbiup winwhbp <L huwin 5 0.0
44423600/504 Luysnits dwwywybiiubp L huwin 20 0.0
44511260/501 hnlwpeninp < pd 1 0.0
44511260/503 hnljwpnine < pu 1 0.0
44511260/504 hnlywpnine < pu 1 0.0
44521120/510 nnwit huwlwutibtip < hwtn 150 0.0
44521120/511 nhwt thwlwlbn G hwtn 60 0.0
44521230/505 wdpwlubp < hwwn 3 0.0
44531191/502 biplwt funnnwlubp 9L dbnp 400 0.0
44531191/503 bpYwpeh funnndwlubp < dbwnp 100 0.0
44531200/501 ns wwpnipwluynp wdpwgdwl nbnwtbp < hwin 110 0.0
44531200/502 ng wwpnipislwynp wipwgdwl nbunwiubp < hwn 220 0.0
44531260/501 wwpnipwlwynp wipwgdwy nbnwiubp 4L [nwlywuqu 50 0.0
44831500/502 (nwdhsutin QL Yhingpwd 3 0.0
44921500/501 shthwiwshly' ghwjuuwhl G< Yhingpuud 150 0.0
44921500/502 Shithwdwahly' ghwuwhu 9L Yhingpud 5100 0.0
44921500/509 Shithwdwshly' ghwjuwhu Q< Yhingpwd 1050 0.0
44921500/510 shhwdwdhy' ghuuwhu GL pngpwd 150 0.0
09211631/501 huwlwlnnnghnt jninbp L lihingpwd 3 0.0
38621300/501 huwijbih' nhuinnuljw G< hwin 30 0.0
39351100/501 nyninhtbiph Jwppdwl uwppbip <L hwwn 1 0.0
39722400/505 wy) Yabgunuipt wbputhyugh dwubp < hwin 50 0.0
39722400/517 w)| Yhugwnuwiht wnkpuuhluwh dwuabp Q< huwin 100 0.0
39722400/518 wy| Ytugunuiht wbfithlugh dwubp q< hwin 100 0.0
39812500/501 gnwudblynwps Unuyabin < hwwn 10 0.0
42131490/501 uhbnl < hwwn 200 0.0
44131100/501 Ynyninnt jughip < hwwn 5 0.0
44131100/502 Ynyninnt hughip a< hwwn 5 0.0
44161230/512 funnnywlubph wwpwquwubp GL hwwn 40 0.0
44161230/513 funnnywlubph wwpwgqutbp 4L hwn 40 0.0
44161230/514 funnnyulubiph wwpwguwubip G hwiun 50 0.0
44161230/515 funnnywljbph wwpwguwbp 9L hww 15 0.0
44161230/516 tunnnywlubiph wwpwgwubp 9L huwitn 40 0.0
44161230/517 funpnywyubiph wwpwguwubp Q<L huwn 50 0.0
44161230/518 funmnywljubph wwpwgquubp Q< hiwn 40 0.0
44161230/519 funnnywlubph wwpwgwubn < hwin 15 0.0
44161230/520 funnniwltbph wwpwgqwbp < hwtn 15 0.0
44161230/521 funnnywliibiph wWwpwgwbn q< hwin 15 0.0
44161230/522 funnnyuwljubph wwpwgwubp L hwwn 5 0.0
44161230/523 junnnywlubph wwpwgwtp < hwiwn 20 0.0
44161230/524 funnniwlibph wwpwquibp QL hwwn 20 0.0
44161230/525 funnniulibph wwpwgqubnp G hwin 50 0.0
44161230/526 funnnywijtbph wwpwqubp QL hiuwn 20 0.0
44161230/527 funnnywitibph wwpwgulbp < huwwn 20 0.0
44161230/528 funmywlubph wwpwguubp 9L hun 15 0.0
44161230/529 funnnuwlbph wwpwgubp 9< hwwn 15 0.0
44161230/530 funnnyuwlubiph Wwpwgwbp G< hwin 50 0.0
44161230/531 funnnuwlibph wwpwgwbp q< hwtn 50 0.0
44161230/532 funnniwlubph wwpwqwubp < hwwn 50 0.0
44161230/533 funnnwljubph wwpwqubp < hwin 50 0.0
44163140/502 oph — gninpant funnnywlyubin < dbiinp 80 0.0
44163140/503 oph — gninpgnt funnnyulyubp L dbiinp 80 0.0
44163140/504 9nh — gninpgnt funnnyuwljbin Q< bip 8 0.0
44163140/505 oph — gninpgnt funnnywlubip < dbunp 8 0.0
44163140/506 oph — gninpznt funnnywlubp < dbiinp 16 0.0
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44163200/503 funnnyuwlubph dhwgdwl dwubp L hwwn 20 0.0
44163200/511 funnnywlubiph dhwguwu dwubp G hwin 20 0.0
44163200/512 funnnywlubph dhwgdwl dwubp QL hwun 30 0.0
44163200/513 funmnywlubph dhwgdwl dwubp QL huwin 30 0.0
44163200/514 funnnywyubiph dhwgdw dwubp QL huwin 20 0.0
44163200/515 unnnywlubiph dhwgdwl dwubp G< hwin 15 0.0
44163200/516 funnnuwlubiph dhwgdwu dwubp < hwn 15 0.0
44163200/517 funnnyuwljubph dhwgdwt dwubp 9L hwwn 15 0.0
44163200/518 funnnywubph dhwiguwl dwubp qc huwin 15 0.0
44163200/519 funnnyuljubph dhwgdwl dwubp 9L hwiwn 20 0.0
44163200/520 funnndwlubph dhwgdwl dwubip 9L huwtn 20 0.0
44163200/521 funnnywlubiph dhwgdwt dwubp 9L huwin 20 0.0
44163200/522 funnnywlubiph dhwgdwl dwubin q< hwtn 20 0.0
44163200/523 funnnywlubph dhwguwl dwubp < hwin ] 20 0.0
44163200/524 funnnywlubph dhwguwl dwubip 9L hwtn 20 0.0
44163200/525 funnnuwlubph dhwgiwt dwubip q< hwin 10 0.0
44163200/526 funnnywiubph dpwguwu dwubip S< hwin 10 0.0
44163200/527 funnnuwliubph dhwgdwt dwubp < hwwn 10 0.0
44163200/528 funnnwubph dpwgdwl dwubp L hwin 10 - 0.0
44163200/529 funnnywlubph dhwguwl dwubp L hwwn 10 0.0
44163200/530 funnnywlubiph dhwgudwl duwubn QL huwn 10 0.0
44163200/531 funnnjwiubph dhwgdwl dwubp 9L huwin 10 0.0
44163200/532 funnnywlubph dhwgdwl dwubip G< hwuwn 10 0.0
44163200/533 funnnywljubinh dhwgdwl dwubp 4L hwwn 10 0.0
44163200/534 funnnywlubph dhwguwu dwubp G hwn 20 0.0
44163200/535 funnnuwlubinh Uhwguwl duwubp 9 hwwn 20 0.0
44211610/509 whilyniutbp L hwn 10 0.0
44211610/510 whilyniubp <L hwin 10 0.0
44211610/511 wilyniuubp L hwn 10 0.0
44211610/512 wilyniuubp QL hwn 10 0.0
44211610/513 wlilyniuutp < hwin 10 0.0
44411100/502 dnpwljubp 9L hwwn 30 0.0
44411100/503 dnpuljubip q< hwtn 30 0.0
44411100/512 dnpwlubp Q< hwwn 100 0.0
44411300/501 Ywgwpwlubp a< huwin 25 0.0
44411300/505 Ywgwpwlubp < hwin 20 0.0
44411500/507 (i’ qurpwa- a< hwn 20 0.0
44411500/508 thwlwt' glinws-— 9L huwiwn 20 0.0
44411500/509 thwlwl' qunué— G< huwwn 20 0.0
44411500/510 i’ gunwé— G< huwn 20 0.0
44411500/511 thwluws’ qunwa- q< huwtn 20 0.0
44411500/512 thwlwt' qlinws— 9L hwwn 20 0.0
44411500/513 thwlwy' gunwdé- S< hwn 20 0.0
44411500/542 thwljwy’ qunwé— 9L hwn 80 0.0
44411740/501 qnigupwbiuynup 9< hwwn 25 0.0
44411742/501 gniqupwlwynuph dbfuwthqu L hwwn 50 0.0
0.0
Uktgwnuwjht inkuthiw b ywpwqubp
30211200/503 rynipwlbp hwidwlwpghsubp Q< hwn 10 0.0
30211300/501 hwiwluwpgswihtl uwppwynpnuibp < huwin 3 0.0
31221230/501 Uhwgtwl dwintfuubp < hwn 3 0.0
31681700/509 pwdwuwpwp wnith < hwwn 5 0.0
31681700/510 pwdwuwpwp wnwh < hwwn 10 0.0
31681700/511 pudwlwpuwp nnith G hwiwn 20 0.0
31684400/501 Juiprwy 9L hwu 30 0.0
31684400/502 Yuiprpul 4L hwin 15 0.0
38311100/502 Elblunpntwght Yotinpubip — wwipwquiubp < huwin 1 0.0
38311100/503 Eiywnpntiwhl Yobinplbip — wwpwguwbin QL hwwn 5 0.0
39711140/502 biguinuyht uwntiuwpwitibp q<L hwin 20 0.0
39714210/501 onnpwyhs, 9000 BTU 9L hwwn 8 0.0
39714220/501 onnpuilyhs, 12000 BTU G< hwin 8 0.0
39714220/502 onnpwlyhs,12000 BTU QL hwin 10 0.0
39717100/501 hnyhwphgubip G< hwn 10 0.0
0.0
Cwdwlwingsujhts uwppwynpnud : !
30211280/502 Zwdwlwpghs wdpnnep dblnud QL huitn 325000 35 11375.0
30239110/501 Swhs pwgdwdniuyghntiw) QL hun 185000 3 555.0
30239110/502 Sujhs 3-p Ublnud qc hwtn 125000 20 2500.0
30239110/503 Suyhs thnpp Q< hwun 67000 .10 670.0
30237411/501 Ulyhuply 9< hwwn 1600 20 32.0
30211170/501 Uhlpninhl q< hwwn 32000 2 64.0
32561600/501 Unwuwnbip QL hwn 13000 50 650.0
32421300/501 Uyhy/8 port 9L hwtn 5000 10 50.0
32421300/506 Uyhs/5 port 9L hwn 4000 10 40.0
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[32421300/507 Udhg/24 port q< huwin 40000 3 120.0
30231100/501 WIFI uwipp gL hwtn 7560 10 75.6
30232231/501 Cundwlwpgsughu Ynown uhwygwnwly QL huwn 27000 2 54.0
32421100/502 Swiguiht dwinifu q< hwin 25000.2 2 50.0
16235.6
Ubynnuwht wwpwqubp
39518100/502 Uughunwlytnbuh hwjwpwant 9L hwin 389 0.0
39141200/501 ubippuwlh bpbu 9L hwwn 128 0.0
39511100/501 Twdlyng (wnbiwy, hwuwn) < hwin 65 0.0
38511100/502 owdlyng (wnbwy, pwpwl) < huwtn 54 0.0
39516122/501 Pwpda QL hwwn 100 0.0
39511100/506 Ybpdwl (pwpuwl) q< hwin 70 0.0
39511100/507 Ubpdwy (Jhopu) 9L hwwn 20 0.0
39511150/502 Luwdwinpuuthly 9L hwwn 173 0.0
39511130/511 Uwwl nh whnuihnfubnt hwdwp < hwin 70 0.0
39511130/514 Uwijwiu 9L hwtn 25 0.0
39514100/501 Upphs guddpngwiht < hwn 36 0.0
39514200/501 Upphs plh QL hwn 6 0.0
39514500/501 bpbuupphs < hwin 36 0.0
39514100/502 Upphs pudpulyw 9L hwwn 10 0.0
Utiniin
3200 0.0
15321200/504
i hABIBHA iR w e 675 1600 1080.0
5280 0.0
15321200/505 2] <
: inuigHus hini i tpup 745 2640 1966.8
1600 0.0
15821500/504 ls]
: Rindpigunie *< i 1430 800 1144.0
1600 0.0
15842110/505
é lpiihtan, ol piompun i ba 2110 800 1688.0
8000 0.0
41111100/501 Juyls
- iufh gnip ¥ thuan 175.2 500 87.6
wpwhuynpuwihts wypwiptbp b wnipbp
09132200/3 phiughu, nbhgnywp EUS thuinp 490 3000 1470.0
09132200/1 phiught, ntignuywp Uu thinp 480 300 144.0
09135200/3 htinnty quiq EUs {hwp 150 1000 150.0
ounusnh@3nrLLEN
70311200/503 inwpwdptbiph Jupdwljw)nipjut dwnwinyajntu Q< npwd 17952000 1 17952.0
50311120/501 huiuungsuiht uwinpBnh wwhwubiul — fEnpwnpngdut ac npwd 1644300 1 1644.3
dwnwinys|nitibin
7921115011 wnuhinnpulwl dwnwnyajniuGn Q<L npuwid 1884000 1 1884.0
71631110/1 uwnpbiph unniguwl dwnwjniniulitip uu npwd 426000 1 426.0
98111121/501 wiwnwignipput wuywhnydwl dwnwnieyniuubip 9L npwd 2816666 1 2816.7
50421100/503 POlpuYan it Al nrwigaiRl = UUh Y a< i 1572000 1 1572.0
Swnunyziniitin
48221400/1 huifuguitiguyfit teh fudpwgndws huduluingguht spwapugt |-y npuit 990000 1 990.0
hwebipttin
98111121/2 wbinwgnpiwt wwwhnydwl dwnwjnygniuubp uu npwd 480000 1 480.0
501111801 wywnndbpbiwlbiph Jwgdwl — biwtwinhy dwnwjnipniittp uu nnwyd 558000 1 558.0
50531230/501 qhbnunnnpbnh dapulinpngduts — uwhuutidul a< npuwd 408000 1 408.0
Swinwjnuajniutibp
7135154011 inbfuthywlwl hulnnnpjwt dwnwjnyesniiubin uu npwd 300000 1 300.0
98111140/1 hanhtiwlwjht hulinnnueywl dwnwjniejniulbin uu it 100000 1 100.0
70311200/502 nwpwdptiiph dwpdwlwinipgul dwnugnypjniutbp q< npud 1 0.0
Ywhnyph YEpwnpnguwl Swnwynipynitibp
50851100/501 Ywhnyph Ybpwunpngdwis — wwhujwbidwt dwnugnyzjniutbn < hwin 3 0.0
50851100/502 Yuwhnyph Ybipwunpnguiwl — wwhwwldwl dwnwjniejniutbin Q< hwn 3 0.0
50851100/503 Guhnyph dapwtnpngdwt — wwhywbidwt Swnuwmpniuibn Q< huwin 1 0.0
50851100/504 Ywhnyph Yapwnpnguw — wwhuwudwl dwnugnipniitip 9< huin 5 0.0
50851100/505 Ywhnyph Ybpwnpnguwt — wwhuwidwl Swnwnyzjnititibip 9L hwn 39 0.0
50851100/506 Guhnyph Japwlnpnguwt — wwhywbdwl dwnwnyaniutiap B hun 5 0.0
50851100/507 Guhnyph Japwtinpngiwt — wwhywldw dwnwnipnitin q< hwn 15 0.0
50851100/508 Yuhnyph Japwtinpnguwt — wwhywbdwt dwnwynipniittp Q<L hwitn 1 0.0
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Swwqgpwljwt wnuynipinil 1

79821180/950 wnywgpuljut = pwgtudw dwnwjnipyniibp < npwd 39600 1 39.6
79821180/951 unywgpulw — pwstudwl Swnwjnipniitbp 9L npwd 12600 1 12.6
79821180/952 wnwyuigpulwl — pughudwl Swnwjnuyejniulion 9L npuwd 164000 1 164.0
79821180/954 inuwgpuilwt — pugfudwt dwnwinipiniitiip 9L npwd 164000 1 164.0
79821180/955 inwwgpuilw — pugfudw dwnwjnipiniilibp 9L npwd 10200 1 10.2
79821180/956 inywgpwljwl - pusudwt Swnwjnysniiubp 4< npwd 24750 1 24.8
79821180/957 nwwgnuiljw — pughudwl dwnwinyejniiibp S< npwu 19800 1 19.8
79821180/958 nwwgpwiwl — pwahudwb dwnwjnyeniuubp 9L npwd 33000 1 33.0
79821180/959 nwwignuiljw — puwphudwits wnwinipniilip 9L npwd 19560 1 19.6
79821180/960 unwywgpuwy - pugudwy dwnwjnipyniitbp < npwud 29340 1 20.3
79821180/961 nwwgpulwt — puzhudwt Swnwjnysjniubin G< npwd 39600 1 39.6
79821180/962 inwwagpubwt — pwzpudwl dwnwjnipniibp 9< npwd 39600 1 39.6
79821180/963 nwwgpwlwl = pwzfudwl Swnwjnysniiubp 9< npwu 19800 1 19.8
79821180/964 nwwgpulwi — puzfudwt dwnwjnipjniuitbp QL npwd 41000 1 41.0
79821180/965 nwwgpubwl — pwshudwt Swnwjnyajniubip < npwid 19800 1 19.8
79821180/966 nwwgpulwt = pugiudwu dwnwjnipiniutbin < npwd 39600 1 39.6
79821180/967 unwwgpwlwl — pwziudwt dwnwjnyagniuibp QL npwd 19800 1 19.8
79821180/968 nwwgpuiljuw — pugfudwl dwnwjnieyniibp < npusd 42000 1 42.0
79821180/969 nwwgpulwl — pwzhudwl Swnwjnipjniuubip < npwyd 39600 1 39.6
79821180/970 nwwgnuiliut — pwzhudwt dwnwjnyaniubp < npwd 79200 1 79.2
79821180/971 nywgpulwt — pwofudwt dwnwnuzniuubp L npwd 13120 1 13.1
79821180/972 nwwgpulwl - pwghudwl Swnwjnysjniuitibp &L npwd 8200 1 8.2
79821180/973 nuwgpulw — pwstudut Swnwnieiniutbp < npwd 63360 1 63.4
79821180/974 inuyugplw — pwohudw dwnwiniziniuubp GL g 1140 1 1.1
79821180/975 wwywgpwlwl — pwziudwl Swnwjnyejniilbp G< npwd 2550 1 2.6
79821180/976 wnwywgpwljwl — pughudwl dwnwjnipniiubn G< npwd 1700 1 1.7
79821180/977 wwwgpwljwl — pufudwl Swnwjniypniiubn 9L npwd 1500 1 1.5
79821180/978 nyugpulw — pwotudwl dwnwjnipniiubip Q<L npwd 57400 1 57.4
79821180/979 nywgpwlwl — pusbudwl dwnwinuyeniulbn q< npwyd 3400 1 3.4
79821180/980 nwwgnpuwl — pwotudwl dwnwjnyzniiibin 9< npwd 5040 1 5.0
79821180/981 inyjuwgpuiul — puzfudwl dwnwjnyniilibp < npwd 2550 1 2.6
79821180/982 nwwignpulw — puhudwt dwnwinipyniiubn 9L npwu 99000 1 99.0
79821180/983 nwwgpwljwl — pusfudwl dwnwjnysjniubp 9L npud 19560 1 19.6
79821180/984 inujwgpuilwt — pwohudwl dwnwjnyzjniutbip < npwd 9840 1 9.8
79821180/985 nwwgpwlwl — pwshudwt dwnwnysjniulbp Q<L npwd 39600 1 39.6
79821180/987 nuwgpuliwl — pwzpudw dwnwynyegniuliip < nnwyd 358800 1 358.8
79821180/988 nwwgnwljwl — pwohudwl dwnwjnysjniuubn G< g 3800 1 3.8
79821180/989 nwwapwljwl — pwshudwl dwnwjnyejniiubp G< npwd 198000 1 198.0
79821180/990 nwwgpulwl — pwzudwl Swnwnyejniutbip Q<L npwd 198000 1 198.0
79821180/991 nwwgpwlwl — pwaudwl Swnwjnyzjniitibp G npwyd 99000 1 99.0
79821180/994 nwwgnuiljuts — pushudwl dwnwjniyagniutibp < npwd 1296 1 1.3
79821180/998 nwwgpwiljwl — pusfudwl dwnwynyeniiubn 9 npwd 39600 1 39.6
79821180/999 wwwigpwlwl — pugudwl dwnwjnyzjniutibin G npwd 39600 1 39.6
Sywgpwlwt Dwnwjniejnit 2

79821180/1000 wnwwignpwljwl — pwshudwl Swnwjnipnilbn G npwyd 43020 1 43.0
798211801001 nwwgpwlw — pwzudwl dwnwjnieniutibp G npwd 28,800 1 28.8
79821180/1002 uywgnwljwy — pwgfuldw Swnwjnipiniiubip QL npwid 6,300 1 6.3
79821180/1003 nwwgnuywy — pugfudwl Swnwnyzjniubip q< npwd 1200000 1 1200.0
79821180/1004 unywgpuilw — pugfudw dwnwjnipniutbin 9L npwd 35940 1 35.9
79821180/1005 nywapwiwy — puzfudwt dwnwnysjniuubip q< nnwd 35940 1 35.9
79821180/1006 inwwigpuijw — pushudwt dwnwinipniitibp QL npwd 4,200 1 4.2
79821180/1007 nwwgpulw — pugfudwt Swnwjniyniuibp q< npwd 4,400 1 4.4
79821180/1008 nwgpwlwy — puzfudwt Swnwjnipiniiubip < npwd 8,700 1 8.7
79821180/1009 nwwgpulwy — puzhudwl dwnwjnipgniubp L npwd 4,350 1 4.4
79821180/1010 nwwgpulwl — puzhudwt Swnwjnipjniulbp Q< nnwd 116,000 1 116.0
79821180/1011 nwwgpwlwl — pwziudwt dwnwjnijniuubp L npwd 15,000 1 15.0
79821180/1012 nwwgpwljwl — pwshudwl Swnwnyzniitbp Q<L npwd 13,200 1 13.2
79821180/1013 nwwapuljut — pwaudwl Swnwnypiniulbp QL nnwd 80280 1 80.3
79821180/1014 wnwywgpwlwt — pwtudwl dwnwnigniiibp QL npwd 15,400 1 15.4
79821180/1015 wwwgpwljwl — pugludwl Swawjnyzjniitbp QL npwyd 29,000 1 29.0
79821180/1016 wwwgpuiljwl - pugiudwl dwnwjnipjniutbn QL npwd 14,900 1 14.9
79821180/1017 wnwywigpuljwl — pughudwl dwnwjnipnditibp 9< npwud 88,000 1 88.0
78621180/1018 inwywgpuwljwl — pugfudwl dwnwnyeiniiubp 9L npwd 282960 1 283.0
79821180/1019 unwagpuywu — pusfudw Swnwjnipgniubip <L fpwd 300000 1 300.0
79821180/1020 nwyuwigpulwl — puzfudwl Swnwnysniiubn < npwd 300000 1 300.0
79821180/1021 inwugpuibjwt — pwofudwt dwnwjnyeiniubn 9L npwd 1,900 1 1.9
79821180/1022 nwwgpulwl — pwzhudwy dwnwjnyzjniutbip QL npwd 9,600 1 9.6
79821180/1023 nwwgpwlwl — pwzhudwl Swnwjnysjniutbp QL npuwd 300000 1 300.0
79821180/1024 nwwgpulut — pwudwl Swnwnyeiniilbn L npwd 4,800 1 4.8
79821180/1025 nwuigpljut — pwudwl Swnwjnipjniutibp L nnud 44160 1 44.2
79821180/1026 wnwwgpuwljwl — pugfudwl dwnwjnyzjniitibp G npwd 22,800 1 22.8
79821180/1027 wnwjwigpwiljwl — puziudwl dwnwjnysniutbp <L npwyd 300000 1 300.0
79821180/1028 wnwywigpwljwl — pwgiudwl Swawjnyejniutbip < npwd 1 0.0
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79821180/1029 inwwigpuwljwl — pushudwl dwnwjnyagniitibp q< npwd 323400 1 323.4
79821180/1030 nwywgnwlwl — pwstudwl dwnwjnysjniiubn L npwd 1 0.0
79821180/1031 nwwgpiljwt — pwaudwl Swnwnpniitbp QL npwd 1 0.0
79821180/1032 wnwwgpwljwl — pwstudwl Swnwjnipniiubp 9< npwd 1 0.0
7982118011033 nwwgpwlw — pwaudwl dwnuwynigjniitbp GL npwd 1 0.0
79821180/1034 wnwwigpwljwl — pugudwl dwnwjnizniilbp < npwd 1 0.0
79821180/1035 wnywgpulwl — pupfudwt dwnwjnyziniiin 4< npwd 1 0.0
78821180/1036 wnwywgpwljwl — pustudwl dwnwjnientiibp QL npwd 1 0.0
798211801037 wnwywgpwilwl - pugiudwl dwnwjnysniibn QL rpuwd 1 0.0
79821180/1038 nwwgnpwljwl — pustudwl dwnwynieniiubp 9L npwd 1 0.0
79821180/1039 gl — pwsudwl dwnwniyeniutbp Q<L npwd 1 0.0
79821180/1040 wnwwgnuwljwt — pushudwl dwnwjniysgnititibp gL g 1 0.0
79821180/1041 nwwanwlwl — pwatudwl Swnwynysniitbp 9L npwd 1 0.0
79821180/1042 nwywgnwljwl — pwshudwl Swnwjnysjniiubn L npwd 1200000 1 1200.0
79821180/1043 nuwgplwt — pwaudwl dwnwnygjniutbp G<L npwd 1200000 1 1200.0
79821180/1044 wnwywgnuljwl — pugfudwl dwnwjnipjniibn 9L npwd 22200 1 22.2
79821180/1045 nwywgpulwl — pusfudwl dSwnwinyeniutibn QL npwd 67080 1 67.1
79821180/1046 nywgpwlw - punfudwt dwnwynipniuibp gL npwyd 22200 1 22.2
79821180/1047 uywgpulwl — puzfudwt dwnwnipniubp < npwyd 114,000 1 114.0
79821180/1048 unwgpulw — pwstudwl Swnwjnipniiubp 9L npwd 132,000 1 132.0
79821180/1049 nyuwgpuywl — pugfudwt dwnwnyeniiubn QL npwd 33,000 1 33.0
Sywqpwlwl wwypwupubip 3
22451240/501 pluuly < huwitn 2.33 50000 116.4
22451240/502 pjuitily q< huwin 2.45 10000 245
22451240/504 pluly L hwn 6.78 15000 101.7
22451240/505 pluuly 9L hwwn 2.44 12000 29.2
22451240/506 pruitly q< hwwn 250 2000 5.0
22451240/507 pjwly a< hwtn 2.50 2000 5.0
22451240/508 pjutly q< hwin 2.33 20000 46.6
22451240/509 Pl QL hwn 2.20 5000 11.0

22451240/512 pluitil o< huwn 2.40 2000 4.8
22451240/513 ppustily 9< huwun 2.47 8000 19.8
22451240/514 Pty 9< hwun 2.30 5000 1.5
22451240/515 pluily 9< hwun 2.30 4000 9.2
22451240/516 puilly 9< hwun 2.30 5000 1.5
22451240/517 w G< hwwn 2.30 2000 4.6
22451240/520 Py G< huwtn 2.48 8000 19.8

22451240/521

2451240/524

69.4

g huwn 3.47 20000
22451240/525 pluuly q< hwn 1.04 40000 41.5
22451240/526 plutily < huwn 2.39 13000 31.0
22451240/527 Py a< huwin 2.20 5000 11.0
22451240/528 < huwin 2.38 20000 47.5
22451240/530 plutly q< hwin 210 10000 21.0
22451240/531 it 9L huin 1.90 20000 38.0
22451240/533 plutily 9L hwin 2.04 50000 102.0
22451240/534 prutly < huin 1.50 15000 25
22451240/535 Pty 9L hwin 1.55 50000 77.4
23451240/536 pluduly 9< huwn 155 40000 61.9
22451240/537 pluby QL hwiwn 1.91 25000 47.7

9c hwn 85.0 1000 85.0

22451240/538

22451240/542

1000
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< hwin 2.50 2.5
22451240/543 pluil 9L huwn 2.30 4000 9.2
22451240/544 pluuly 9L huwin 2.30 2000 4.6
22451240/545 plLuy < hwn 2.30 2000 4.6
22451240/546 pputil q< hwtn 1.90 38000 722
22451240/547 plutly QL hwwn 1.90 20000 38.0
22451240/548 plutly 9L hwwn 2.50 1000 2.5
22451240/549 L hwin 4.18 5000 20.9




22451240/554 wu 9L hwin 2.20 2000 4.4
22451240/556 wl qL huwin 2.20 2500 5.5
22451240/558 pluuly 9L huwin 2.46 10000 24.6
22451240/359 pluily < hwwn 220.0 600 132.0
22451240/560 wul Q<L huwn 2.10 5000 10.5
22451240/567 iUty 9L hwin 2.46 11000 27.1
22451240/568 prustly L hwwn 2.38 20000 47.5
Suywgpwlwt wwypwpubp 4
22111200/501 nwwapdwd w)| gppbp L hwiwn 3 0.0
22111200/502 unwwagndwd wy gppbip 9L hwin 3 0.0
22111200/503 nwywgnywd wy gppbip &< hwwn 10 0.0
22111200/504 nwwgnywd w)) gpphip q< hwn 1 0.0
22111200/505 unujwgpywsd wy gppbp 9< hwin 50 0.0
22111200/506 nwwgnywé wy gppbp Q< huwiwn 10 0.0
22111200/507 wnywgpywd wy gppbip 9 hwtn 5 0.0
22111200/508 inuwignywd wy| gppbip 9L hwin 20 0.0
22111200/509 tnyugnywd wyl gppbip 9L huin 10 0.0
22111200/510 inwwgpwéd wy gpphp 9L huwin 15 0.0
22111200/511 wnywgnywsd wy| gppbp 9L huwin 8 0.0
22111200/512 nwwigpyws w)| gppbip 9L huwin 2 0.0
22111200/513 wnywgnyuwsd wy gppbip 9L huwin 10 0.0
22111200/514 tnujugpywd wy) appbip 9L hwn 100 0.0
22111200/515 nwwgpluws wy gpphp qL hwin 100 0.0
22111200/516 inwjwgpwd wy gppbip 9L hwin 20 0.0
22111200/517 nwwgpduwd wy gppbp 9L hwwn 10 0.0
22111200/518 nwwgnpyud wy| gppbip QL hwwn 60 0.0
22111200/519 nwwgnywd wy appbip QL hwin 120 0.0
22111200/520 nwwgpywd wy gpphip QL hwin 12 0.0
22111200/521 nwwgpywd w)) gppbip < hwwn 5 0.0
22111200/522 wnwwgnywd wy gppbip G hwwn 10 0.0
22111200/523 unwugpywd wy gppbip q< hwin 7 0.0
22111200/524 wnwywapywéd wy gppbip 9L hwwn 2 0.0
22111200/525 uywgnyws wy gppbip G hwwn 2 0.0
22111200/526 wnuuigpywd wyl gppbip 9L hwwn 3 0.0
22111200/527 unujugnyusd wy) gnppbip Q< hwin 4 0.0
22111200/528 unywgpyws wy gppbip 9< huwin 4 0.0
22111200/529 wnywgnyuwd wy| gppbip q< huwwn 4 0.0
22111200/530 inwywgpywd wy gnpbip q< hwin 2 0.0
22111200/531 wnwwgnuwd wy| gppbp 9< huwin 2 0.0
22111200/532 nwugpywd wy gppbp < hwn 14 0.0
22111200/533 unwywgnyuwsd wy gpphip < hwin 60 0.0
22111200/534 nwwagpywé wy| gppbip q< hwn 180 0.0
22111200/535 unwugnywd wy gppbip L hwwn 120 0.0
22111200/536 nwywgnuwd wy gppbp < hwin 120 0.0
22111200/537 nujwgpywé wyp gppbip 9L hwin 40 0.0
22111200/538 wnywigpywé wy gppbip L hwin 35 0.0
22111200/539 nwjwgnyuwd wy| gppbp 3L hwuwn 20 0.0
22111200/540 nwwgpywd wy gpphip Q<L hwwn 150 0.0
22111200/541 nwwgnyuwd wy gppbip < hwun 40 0.0
22111200/542 nwjwigpydwd w)) gpphbp L huwin 10 0.0
2N11200/543 nwwgpywd wy gpphbp <L huwin 15 0.0
22111200/544 unywgnywd wy gpplip G< huwin 15 0.0
22111200/545 nwwgpywsd wy gppbp QL hwwn 10 0.0
22111200/546 unwjugnyuwd wy gppbip 9L hwtn 5 0.0
22111200/547 nwjwigpywd wy) gppbip < hwiwn 10 0.0
30197236/501 pnpwwwuwl’ wwindnghp < hwwn 2000 0.0
22451240/570 prutiliubp hwdwdéwjuwghp Q< hwwn 2000 0.0
22451240/571 prutlubn nEnuwnndu G< huwin 5000 0.0
30192151/501 Yuhp, wynndwin, ninnuulyniu G hwwn 9 0.0
Upluwinwpubp
45461100/501 otuptiph, shuniginiuubph pupwghy Unpnguwl waluwwnwuputin QL i 11830140 1 11830.1
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[ uu

npwd

990000

990.0
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